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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer sheet.

61- Staying in a job you don’t like, because you’re afraid of failing is an example of how fear of a/an ...
future can stop us from doing great things.
1) proud 2) incomplete 3) uncertain 4) special

62- It was a strange match in many ways, but we were both... serious people and I was interested in the
theatre, which was his life.
1) quietly 2) quite 3) cruelly 4) quickly

63- The quiet and serious atmosphere in the changing room ... the sadness of the team after their bad
game in the final.

1) introduced 2) followed 3) decorated 4) reflected
64- In this day and age, there is no real need to take ... quantities of cash or even traveler’s cheques with you.
1) valuable 2) vast 3) unique 4) touching

65- Passing through an entrance to a room, you’ve probably heard “You first!” and “Never, you first”.
It’s an example of Taarof, a typical example of Persian ... in everyday life.
1) customs 2) artworks 3) souvenirs 4) handicrafts

PART B: Conversation

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on

your answer sheet.

A: Are there any hobbies you do?

: When I have time, I sometimes draw and ...(66)... .
: Oh, you ...(67)...do that?

: Every so often, I do.

: Did you always know how to do it?

: I was taught in high school.

: Did you have an art class?

: Exactly, it was my favorite class.

: Well, it's good that you're so ...(68)... .
:1...(69)...that.

: Talent is a great thing; I wish I had one.

B: Everyone has a talent. It is ...(70)... for everyone to find it.

PE>E>F>F>E

66-1) sleep 2) buy 3) know 4) paint

67- 1) especially 2) actually 3) perfectly 4) likely

68- 1) famous 2) interesting 3) skillful 4) sociable
69- 1) thank 2) depend 3) recognize 4) appreciate
70- 1) necessary 2) artistic 3) tilework 4) ugly

a
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PART C: Grammar and Vocabulary Ol S5 cobe
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct ODlgw ) 232)5p
choice on your answer sheet. PURTIpEN

. 3,y wls

71- A: “Would you like some more coffee?” (ingns 25 95

B: “No, thanks. I ... three cups.”

1) never had 2) haven’t had yet 3) have already had

4) have ever had
72- A: What’s the matter? Why do you want to see me?

B: Sorry. I don’t mean to make you worried. There ... things I’d like to discuss.

1) is much of 2) are much more 3) is a few of

4) are a few more
73- A: “Where ... that nice T-shirt?”

B: “In that new clothes shop on Parkville Street.”

1) have you bought 2) do you buy 3) you have bought  4) you bought
74- Muscular exercising together with a light music is believed to have a good effect on both your mental

and ... health.

1) popular 2) social 3) physical 4) favorite
75- A: “The location of the meeting is preferred to be at the center of the city.”
B: “..., I think the chairs should be comfortable.”
1) You’re welcome 2) You win 3) Above all 4) Come on
76- Finally, the house has been made ready to host our dear guests by several old ... objects that seem to
be very costly.
1) decorative 2) creative 3) appropriate 4) cultural
PART D: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

A person suffering from diabetes is one whose blood sugar levels are very high. Recently a large
study has found that eating fresh fruit may reduce the risk for developing diabetes, and the risk for
its complications. Fresh fruit has well-known health benefits. But some experts and some people

with diabetes question whether its high sugar content could pose risks.

The study, in PLOS Medicine, tracked diet and health in 512,891 Chinese men and women aged

between 30 to 79 for an average of seven years, controlling for smoking, blood pressure and other
factors.
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Among those without diabetes at the start, eating fresh fruit daily was associated with a 12
percent lower risk of developing the disease compared with those who ate none. The more frequently
they ate fruit, the lower their risk.

In people who were already diabetic, those who ate fruit three times a week had a 17 percent
lower risk of all-cause mortality, and a lower risk for diabetic complications like heart and Kkidney
disease, than those who didn’t eat fruit.

The study was observational and the reason for the effect remains unclear. But the lead author,
Dr. Huaidong Du, a research fellow at the University of Oxford, said the sugar in fruit is not the
same as the sugar in manufactured foods and may be metabolized differently. And there are other

nutrients in fruit that may benefit in other ways.

77- What aspect of fresh fruit does the passage mainly discuss?
1) A function it serves 2) Ways to make use of it
3) Parts of which it consists 4) A way to use it to design medical research
78- It can be understood from the passage that the reason for the effect of fresh fruit on diabetes is ... .
1) yet to be discovered
2) fully understood now
3) definitely related to the sugar type it contains
4) probably because of its being specially rich in nutrients
79- In the study reported in the passage, who ran a 12 percent lower risk of developing diabetes?
1) Those who used to eat no fresh fruit at the start
2) Those who had the problem of diabetes at the beginning of the study
3) Those who were not diabetic and had a daily consumption of fresh fruit
4) Those diabetic people who were put on a diet including the use of fruit at least three times a day
80- Which of the following can be understood from the passage about those people who were included in
the study?
1) They had a family record of diabetes.
2) They did not eat the same amount of fresh fruit daily.
3) They included Chinese men and women of all age ranges.

4) They were a number of people who had a good chance of falling victim to diabetes.
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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.

61- In international relations, it is ... for politicians to know how to win the talks with their foreign
partners by diplomacy. Nothing could be gained by force.
1) excellent 2) hopeful 3) uncertain 4) necessary
62- In order to inspire the students to think ..., teachers should be able to apply new technology and
innovative methods to their teaching processes. In this way they can make them learn the subjects
by heart.
1) conditionally 2) fortunately 3) creatively 4) traditionally
63- Those who are addicted to either drugs or online games are said not to be ... persons, because they
usually avoid spending time with others.
1) sociable 2) cheerful 3) careful 4) skillful
64- What you see and what you hear is determined by where you are standing. It also ... on what sort
of person you are.
1) seems 2) introduces 3) includes 4) depends
65- Mr. Patrick, the most successful fashion designer, is going to leave us next month. He claims that
his skill is not fully ... in this company.
1) existed 2) appreciated 3) touched 4) experienced

PART B: Cloze Test

answer sheet.

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your

Today is the anniversary of the Boy Scouts. Established in 1907, this organization for young
boys is active in over 100 countries around the globe. The group enjoys ...(66)... them to become
good citizens who contribute to the ...(67)... . When a boy is seven years of age, he may become a
Cub Scout. As he grows ...(68)..., he can move up through the ranks and become a Boy Scout.
The main emphasis of the Boy Scouts is to teach ...(69)... skills. By rewarding various
achievements, the young men are encouraged to continue to educate themselves and ...(70)...
social activities. This afternoon at Lakeview Mall, there will be a celebration to commemorate the
anniversary.

66- 1) to teach 2) teach 3) taught 4) teaching

67- 1) belief 2) economy 3) knowledge 4) world

68- 1) larger 2) older 3) longer 4) younger
a
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69- 1) fluent 2) valuable 3) honest 4) famous
70- 1) get bored with 2) get away from 3) take part in 4) look after
PART C: Vocabulary ogee 3y WS
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer QG5 Js
on your answer sheet. (053 oo Y fiw)

71- Itisalways ... to hear other people’s point of view. It increases our general information.
1) native 2) regional 3) interesting 4) various

72- 1 haven’t been to Canada ..., but I have read many books about its culture and people.
1) simply 2) suddenly 3) nationally 4) personally

PART D: Reading Comprehension

your answer sheet.

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on

Passage (1)

Roald Dahl was one of the most successful writers of children’s books who ever lived. He sold
millions of books all over the world. He is so famous, there is even a Roald Dahl Museum you can
visit. Many of his books have been made into films and videos.

Roald Dahl was born in 1916 in Wales. His father was rich but he died when Roald was very
young. Roald’s mother brought him up. He hated school and left school as soon as he could.
Roald went to Africa to seek his fortune, and he spent two years working for an oil company.

In 1939 Roald joined the Air Force as a pilot, but he had a bad crash in the desert. His injuries
made him limp for the rest of his life. After this, Roald went to America where he wrote a story
about his adventures as a pilot. It was so good it was published in a magazine.

Roald met and married Patricia Neal. They bought a house in England and had five children.
Between 1960 and 1965 three terrible things happened. Theo, one of his children, was hit by a taxi
in New York and was badly hurt. Luckily, he recovered. However, Olivia, one of Roald’s
daughters, died of a rare illness. Soon after this, his wife also had a serious illness. It took her two
years to get completely better. After these two difficult years, his days of success finally arrived.

73- Which of the following best suits the topic of the paragraph immediately following this passage?
1) A new chapter in Roald’s life
2) The success that Roald’s daughter had
3) How Roald helped his wife feel healthy again
4) The reason why Roald turned to story writing
74- According to the passage, Roald thought he would be able to make much money when he ... .
1) started a museum 2) left Wales for Africa
3) began writing stories for children 4) went to a country in Africa to discover oil
75- Which of the following is TRUE about Roald?
1) Sad events happened in his life in the first half of the 1960s.
2) The airplane accident he had did not physically damage him.
3) He did not have any formal schooling because he disliked schools.
4) His stories somehow reflect the events that in fact happened in his lifetime.
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76- The passage provides enough information to answer which of the following questions?
1) How old was Olivia when she died?
2) How long did Roald serve the Air Force as a pilot?
3) Why were Roald’s books used as a source for filmmaking?
4) Where did Roald write a story about his adventures as a pilot?
Passage (2)

One of the most important decisions at the time when people grow up and become adults is
what job or career to choose. However, with so many possibilities to choose from, this decision is
often a difficult one to make. In addition, there are many factors that may influence an individual
in the choice of a career and some of these may be conflicting. For example, family pressure, the
potential for earning money, and one’s own personal interest may all be factors that pull an
individual in three different directions when trying to decide what career path to follow.

Although it is often stated that by the time a person is a young adult they will know what they
want to “do with their life”, in fact, the process of finding a career may take a long time. It is not
uncommon for an individual to try more than one career before finding the one that leads to job
satisfaction.

Clearly young adulthood is a period of stress. It is a time for raising a family, finding and
maintaining the “right” job, and keeping a balance among self, family, job, and society at large. It
is a period of life that requires great energy. Fortunately, in terms of physical development, we
are at something of a peak during our 20s and 30s.

As Levinson (1986) has stated, “early adulthood is the era of greatest energy and abundance
and of greatest contradiction and stress.”

77- Why does the author mention “family pressure, the potential for earning money, and one's own
personal interest,” in paragraph 1?
1) To give examples of adult responsibilities
2) To explain why adults need to choose a career
3) To introduce some of the factors that influence an adult’s choice of a career
4) To discuss the positive and negative effects of every career choice
78- The word “one” in paragraph 1 refersto ... .
1) factor 2) career 3) decision 4) possibility
79- Which of the following is NOT true, according to the passage?
1) Early adulthood is a period in which adults undergo stress.
2) Individual young adults do not all exactly know what they want to do with their life.
3) Keeping a balance among self, family, job, and society can be a source of stress for young adults.
4) It is highly unlikely for a young adult to change jobs before he/she starts the one he/she really
comes to love.
80- The passage is primarily intended to ... .
1) inform 2) make a suggestion
3) introduce a finding 4) provide advice
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer sheet.

61- Staying in a job you don’t like, because you’re afraid of failing is an example of how fear of a/an ...
future can stop us from doing great things.
1) proud 2) incomplete 3) uncertain 4) special

62- It was a strange match in many ways, but we were both... serious people and I was interested in the
theatre, which was his life.
1) quietly 2) quite 3) cruelly 4) quickly

63- The quiet and serious atmosphere in the changing room ... the sadness of the team after their bad
game in the final.

1) introduced 2) followed 3) decorated 4) reflected
64- In this day and age, there is no real need to take ... quantities of cash or even traveler’s cheques with you.
1) valuable 2) vast 3) unique 4) touching

65- Passing through an entrance to a room, you’ve probably heard “You first!” and “Never, you first”.
It’s an example of Taarof, a typical example of Persian ... in everyday life.
1) customs 2) artworks 3) souvenirs 4) handicrafts
PART B: Conversation

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on
your answer sheet.

: Are there any hobbies you do?
: When I have time, I sometimes draw and ...(66)... .
: Oh, you ...(67)...do that?
: Every so often, I do.
: Did you always know how to do it?
: I was taught in high school.
: Did you have an art class?
: Exactly, it was my favorite class.
: Well, it's good that you're so ...(68)... .
: 1...(69)...that.
: Talent is a great thing; I wish I had one.
B: Everyone has a talent. It is ...(70)... for everyone to find it.
66-1) dleep 2) buy 3) know 4) paint
67-1) especialy 2) actually 3) perfectly 4) likely
68- 1) famous 2) interesting 3) skillful 4) sociable
69- 1) thank 2) depend 3) recognize 4) appreciate
70- 1) necessary 2) artistic 3) tilework 4) ugly
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PART C: Grammar and Vocabulary ol biole
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct ODlgw 1 830)5p
choice on your answer sheet. o0sil ghd
. 3,)ls
71- A: “Would you like some more coffee?” (irges 335 215)

B: “No, thanks. I ... three cups.”

1) never had 2) haven't had yet 3) have already had

4) have ever had
72- A: What’s the matter? Why do you want to see me?

B: Sorry. I don’t mean to make you worried. There ... things I’d like to discuss.

1) ismuch of 2) are much more 3) isafew of 4) are afew more
73- A: “Where ... that nice T-shirt?”
B: “In that new clothes shop on Parkyville Street.”
1) have you bought 2) do you buy 3) you have bought

4) you bought
74- Muscular exercising together with a light music is believed to have a good effect on both your mental
and ... health.

1) popular 2) socia 3) physical 4) favorite
75- A: “The location of the meeting is preferred to be at the center of the city.”
B: “..., I think the chairs should be comfortable.”
1) You're welcome 2) Youwin 3) Above al 4) Come on
76- Finally, the house has been made ready to host our dear guests by several old ... objects that seem to
be very costly.
1) decorative 2) creative 3) appropriate 4) cultural
PART D: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

A person suffering from diabetes is one whose blood sugar levels are very high. Recently a large
study has found that eating fresh fruit may reduce the risk for developing diabetes, and the risk for
its complications. Fresh fruit has well-known health benefits. But some experts and some people

with diabetes question whether its high sugar content could pose risks.

The study, in PLOS Medicine, tracked diet and health in 512,891 Chinese men and women aged

between 30 to 79 for an average of seven years, controlling for smoking, blood pressure and other
factors.



@physicsjeiroodi

Tl 15 i Sl 233198 Sog0s A 390565 10 Og03T — ksl 839

Among those without diabetes at the start, eating fresh fruit daily was associated with a 12
percent lower risk of developing the disease compared with those who ate none. The more frequently
they ate fruit, the lower their risk.

In people who were already diabetic, those who ate fruit three times a week had a 17 percent
lower risk of all-cause mortality, and a lower risk for diabetic complications like heart and kidney
disease, than those who didn’t eat fruit.

The study was observational and the reason for the effect remains unclear. But the lead author,
Dr. Huaidong Du, a research fellow at the University of Oxford, said the sugar in fruit is not the
same as the sugar in manufactured foods and may be metabolized differently. And there are other

nutrients in fruit that may benefit in other ways.

77- What aspect of fresh fruit does the passage mainly discuss?
1) A function it serves 2) Waysto make use of it
3) Parts of which it consists 4) A way to useit to design medical research
78- It can be understood from the passage that the reason for the effect of fresh fruit on diabetes is ... .
1) yet to be discovered
2) fully understood now
3) definitely related to the sugar type it contains
4) probably because of its being specially rich in nutrients
79- In the study reported in the passage, who ran a 12 percent lower risk of developing diabetes?
1) Those who used to eat no fresh fruit at the start
2) Those who had the problem of diabetes at the beginning of the study
3) Those who were not diabetic and had a daily consumption of fresh fruit
4) Those diabetic people who were put on a diet including the use of fruit at least three times a day
80- Which of the following can be understood from the passage about those people who were included in
the study?
1) They had afamily record of diabetes.
2) They did not eat the same amount of fresh fruit daily.
3) They included Chinese men and women of all age ranges.

4) They were a number of people who had a good chance of falling victim to diabetes.



@physicsjeiroodi

=

2=

=]

2=

=l

=l

22

]
(5]
(G
(G
(5]
(G
(G
(5]
(5]
(5]
(G
(G
(5]
(G
(G
(G
(5]
(5]
(G
(G
(5]
(5]
(G

& E =55

Axo2> Tuvo
A/#/18

810 s ol 9oy E9. ylo)y
11 oo s olaist (903 bk gloy

olaa! 90}7

Sl 3198 (ialo 3T 09 5

09037 E55 31 BB 15 Canmd (! o Vo 31 JMgw > 43 5315 509 1 39 3l 39aT 1o Y gono
S g MBI 0 Gl .
a1 3 31 Jlw > 9 o ool
L fyo. Odee Y0 Yooo
$315 adlgs> Zwily

\ Y 3 § ool
Y \d [} v sbais)
v v o v ) 0838 g @ole
v f 0 \ oS ob) e
v 1y s A cwlidazals
Y ) 14 N abnld g Fhis
v 7 M A culidioly

ALBS \YO 108 el e

10+ il sloss

(g5l ko 3 I 0lads 5 SN (o5l ol ialoT 03 et 350 fgic

S wl Sae _
@.}(f :: *:)) oyl G oolad 3l | Ul Slass Sl slge Sy Cumdy |y,
\o 40 A \ (¥) LT 5 oo, b= \
Voo a3 \ (¥) sl 5 5L,
0 - sl Y
e Vel ) (V) LT 5 ook,
Ve Yo "m \ Ll b= ¥
Yo 14) \ (Y) @3l 05 5 pole
Yo b= ¥
\¥fo " \ (6155) 32l 0ga3T = (¥) (23] 0196 9 pole
Voo 14 \ (¥) 231 O3 5 pole
0 sl )
\Fo 10) Ve (V) 23l 09 5 pole
Yo 14 \ () 0T 3 05 o 0e
0 e #
VAo WA \ (V) OT 8 0b) (e pe
V4o A \ (¥) owbiddnal> ol v
Yo
Yoo L\ \ (V) wliddals 6ol= A
Ve Yie Yo) \ 225 Al b= ]
\e YYo Y1 \ hi b= Ve
\e Yo 144} \ wliboly, b= 1

===




@physicsjeiroodi

Sl 23 199 olais W 990 569 10 Uge3T -l 839 5
& o1 deh o6 <l Y081 01T 2515 2o (51 o3 2l SoUlgw 4 0313 by ' () 56T g o2l '
(es/b) slopazli) Jo)
Y G FD sloteio
Scusl plas’ (F+0)x0 bzl g={(v.0).(*.Y).(%.V)} 5 F={(r.0).(£.Y).(5.A)} S1-A
{(r.¥0), (2.1 ¥o)} (¥ {(x09),(P000)} O
{(v.£0),(¥,¥8),(FVF), (P ¥0)} (F {OANE), (VY. va)} (v
f, +1, R Y _
Sl plas” X=Y il 4 Ty =7 &b i wasly f(X)=vx+v 5 fi(X) =X =V SI-AY
y X Ty
W o AL A& Y
Y Yy X X
8l plaS (%)(x) b Jfoges ity g(X) =SigN(X) 5 F(X) == ,51-A¥
y g Y 4
] .
——— X e X (Y ——— X
N «—0-)\ I
-Yop——>
$esl plaS (FXQ)(=1) Joolo el (%)(X)=X+\° 5 FX)=X—F ,SI-A¥
Vo (f Ao (¥ §o (¥ 80 ()
?b)b 039 fﬁ,l.:s Qi IR J:-A‘S:JLMA Yoo a8 4 YY¥ ﬁ‘ﬁ S9 (($ 8345) BMI el a5 (60,8 -AD
A (F Vo (¥ g (Y AY ()
?..L\’)L) )‘)5 wfal.:.a uas [ Y] }35 L ﬁ))fb X o) de’ G)LAT :\.xol:- B -A?
Jols clael olass | (Glosi ,130) oolgils &ilabe el A O
Y fo oo IA) (Y
¥ Yoo gy
f ;ooo \ (f
\ Ydoo

Obegi I Ve pln caiia A% Jlo o cbsS g zin Coed STl ond JSi5 S g @i Y 90 5 Jlo ) )lgls Aja s -AY
s 5 gin yae polie a1 (555 L g 093 Glagi Sl Ao g Glogi 158 YO ey acard WA Lo o 5wl logi Jlsa o
el phas Ly a5 A4 Jlos ;0 YIS 50 cnl sleg pasls 0 ol 50 cdly shS B0 g Voo o5 5y ai¥l
Yiv/s (f \Vels (¥ Yvele (¥ YA /Y ()

Sl JELs Jlad ooz 5l 05 iz Bl 9o )3 VY 50 50 ()00 E5 5 Bl i e Vo pped SO Jld Cunex ST-AA
VAS oo (f VWgoo (Y VYoo (¥ VAYeo ()

A Jlo 0 oSane Caasd pasld po S a5 aly Jlo 1, 4 Jlo 31 .ol 00 a0 y0 Fo ulpn AF LAY Jlo 5l e cansd p,95 -AQ
el duo s axz L ya AF Jloo ) s QA JLo 55 e Ceoud g5 ol YY 0

oV

~

¥ Y (¥ Yy (Y Ao ()
Sl AlaS LS ol i390] Bl aslis oiid Jlgds SlalS duojo VY g el AadS A (gl Lawgio job 4y alax 2 (Y SIS K jo -0
W (F Vo (¥ Y AQ
Ol plo! Joxo




@physicsjeiroodi

Sl g3 319 olais WA 592585 10 O903T — Okl 839 5

Juz) i/({ S i = (F) ;6T g 0l ' (F) sbT 5 ok, '
JaTodl’ g s pikawid) pu) Sl 35155 g0 (D290 Gl pat 23 3ud3 Gy Ul |+ opl 4 oS o dallbie ) o3 T 4 0S5 s S|
cd«w&pmag-rwp

(oo ol ol 304
FAG) sloceiuo

w33 ey (1) LT 9 by poss 11 5 1) sladlzm 40T

s D gt A g il lgige Gosbo iz 4 Sye ol 3 )b sgzg eslz wiz D 5 C B LA i F i a5 JK ithae -4
oSS 908 B el 5l g oS joee C o 5l Lai> o5 55k @ oS

B ¥ O
¢ q(r
Y (f

fodsl Olgicee pB LSS Gode g YV 00 5l 55,5 g5 (o03) Lo ue wiz LV, Y,0,7,Y plB)l L -4V
AY (f VY (v VoY (Y YA ()
il o o €@> By (Jg il o 0 €0 By &5 Clgi Glsien (B T AalS iz €l gl LalS B9 L -9
Yfoo (f 5o (¥ ¥YFe (¥ fAe ()
9 unsl IS 12l B guae Jolth oy dan 4S5 pboas A={),Y,,F,0,8} degorme (souiae T (sloacgaray olaai -4F
Y5 (f YE (¥ Vo (Y YO
bl JSzsS l by 0ud g, 008 3l 508 Wl o el due Sl Jlaiod uiS go iy o b1y (ol ol Sy g 50,8 U S -0
Sl plas”
2
fasiun Jol sae ¥ jo Jlazo az b oniS oo bl Bolias 4y sae aw {£,0,7,+, Yo} olacl degazme o 3 -4F

Do R Do B
vy \# VY e
sl degazmay ool j0 ¥ gae o)l Jlaxo! iz 0niS Bl A Sl ggae ¥ degermeyn; o padlys e (A ={1Y,Y,F,0} 5,5 L -AY
q \
— (f — (¥ A T
Yo O [ [

Fansl SIS igd ol LSy o 9 25T AT Jlazol S n Sy 00 b 1) o5 ds =34

A ., L v
vs Ys vs vs
Sl oo Jiluo o 50 Sl 43 2 10 (5 ,uSdzmili g Lammy plS ladsLi ) 5 s 35l50 5l Syplas™ -4
SSoslul (KgSs (F alis o8 (¥ ools 30,5 i (Y e 9 ()

Sail oo Hlol 45 2> slapls | SyplaS 4y bogsye i fa 1o )las g 0olidlygs slaosls Bi> gz (slaonsl )b~V oo
lools (55l 5 (5351055 - oSzt 5 Comm aya0lin 5 2, ()
il g gob - ools Jolowi - (5 S ams g oy (F
Woosls Jolows - alias ()l = (52,800 5 5 25k (¥

eools Judow — nosls (65LuSl g 5,910,5 = (6 uSams § o (F
Sl pld! Jowo




@physicsjeiroodi

Sl o2 3199 olais! WA 592585 10 O903T — Okl 839 5
( o )
& s ; (1) 5bT g o
e o0 (1 T 5
3(’"”“‘30‘9’?&‘(:"?{("”‘“) & ilgTge e3al3lss ey () LT 5 by Guss 1o+ B A1 (sladlpan 4 S
(&3 236 Jlogad > 2 gy (1) ST 9 g8l Gwss 11+ B 1) sladise
(5/(4;1 oo G Vit
(697X 7] Ju',{ ste s dosdl> (/575,3) ¢
e ° fund a+vb Judsaslali f=(v,a+1),(%,-Y),(%,-Y),(v,0),(£,b 1)} dkf, 51-Vo
WP O 58 cooeni J s Ya+ b Jadeash ot f={(v,a+1),(F,—¥),(5,—¥),(¥,0), (5,0 —1)} &), 51-10)
=¥ 5 (O
—F (¥ A
s £ 410) f:N>R
Sl plas F(£)+F(1) laie G s VoY
f J f(X):XY—\/; &
Yo (f VE (Y Vo (¥ VY ()

Sl plaS” @ lade (S abad =V Jsb 45 glalais jo I; b Job jeme T(X) ==X+ fax+) s oL S1-1oY

Y (f

=\ (¥

\
Y

v
—
f

Sods Y 12 8,8 ol ST el godgi SV olaws X 5T 45 a5 alyge C(X) =Vooo+Yox" byl 8,8 & Ay ol -1 oF

J.>19\°°° (\C

le)dﬁ%‘:‘sr:,g’%‘bygu{p*s&ﬁ’)m d"’foo ‘)

alg Boo (¥ Kes)

s VYoo (Y

J.>|5 Aoo (\

iz 0S8 Lasl ailg o K 4 (5 0lie ggeme uwl @8ly Y =X+ Aslro 4y Lo (g9, y=x" —fkx+1 Uslas 4y o ol =00

AR
Y

—
Y

AN
Y

v
—
Y

3 -0 codlog sl g, 5l SoplaS b pys (bl Gloviel slosg, 5o dwyie S C)‘}Pium“’ S ) bl R S 0=\ ef

Ol GreSeslacl liio g yiie £o5 (ommsyt (ol (POl yeiio aty g0 dusjite 4 (sagare Jiig oo g (pased rdle «CdSusgige

s = (oS = oy 5Lk bl Lo (Y

ool o (BS —djae el g, (F

o Bols (F

ouline (Y

Glalols - 55 e 5 bl bl les (O

P = S - Ayl & ol b, (7

€S oo o0lits] e VY B Vo Ceelos jo 0 5l ablis G jo lgn s 51 a5 o ple Sload oy (sl Wools (5,500,8 (Jhg, plas -V oY

a>lao (¥

Sl (L3 Silo o1y iz dpaz sloosls uSile ousS aBlS] asols 4y 1, ¥ g £ Y (slaools 51 .canl ¥ 15 g)lol 80l & uKilo =V oA

o AY (f

A (F

oo (F

\VASAS

VARG

Vo ()

Sl fof YO,£0,Y0,Y0,7F,Y7, 80,0 slacols &lo 9 wg-'L:-‘ E9o0 -YoQ

Qo (¥

W (Y

Yoo ()

Sl AlaS AYAY,ANYAYNZ,A0A, Yo, N E cloools 4o o g dile Lolas 5 a8 -1\o
P S J 9 V& )

VIO (Y

Y (Y

V(O

Slilono ploit Joro



@physicsjeiroodi

au‘ pbé)“sé olais A g 50010 g,»ﬂ—al:..gls 8399
( (et N3 55 Jlo oolgS - ( - ]
:-3: :-wu.‘ ..):,) Il S ;(.,.:. ol ()08 OligoT 231> Ao (8102 o> (2] Sl 4 031 Fwl Slaid!
«C8 gy, 9 g’ >ury) (65Uai3) dawg>
(T3 8255 9 438
dﬁw)an{a)-/i).n 60@‘ sz_m‘ A".A;.hbj @ |) ‘5),.&'5 a5 ol ‘5.‘.1'“;}.’.3 05; 3..\3;‘6).3)0 4.2%; eL\S Q‘)L..C -1
(9> Jo s90) 9 22393 2UaB) 9 E9>) 9&565 hi},é)-’
(g U Yol s S B || ) i e Sty (6558 o m iS wald 51 o |y Lol S el lSel ()
IV G 5F sl

5585 alols JgamonSs Eiindsg = iS ol |, ol (oWIS Wlsii - bl ALEI (g9 4 solazdl Kiuly (¥
s oleingils sLaily sl 5 ple - S pal§ 515 5 |, sl 1 i (el ISl 23,050 alold a5 iy (1
0]y el fas - 0, Alols JpamacSs ilndg 5l S gaite |y LY bg 8 oyl b ol jolo cla¥IS el solis (F
asles el b U5l

Sl Cnyols az0gs b bL3 )l jo 438 plaS’ ©)le -1V
Sile oo paseine |y ax09 @IS 4 olliws ail pas b g sainly g Blaal 4y oliws w@og & 585 di ()
015 525 Slgn 1, 4 5 wlFlaz 5 ol y A oyt 5 oaly Bole pogdle az0g duY o (¥
g on dngg 9o Lang 1928 JS AVl A9 pmll g pgo g oy Jeol cge 4 Gl (Ol (59002 50 (F
Dgdiss grlae pulme (e Al 0 (s 99505 (00 S8 (w2 9590 e d209 (ygmnsS 50 Il 4209 dou Y (F

funs o Oldle by bls )l jo 435 plas” o)le -1VY
el i ple] 51 S e 0 Sllle lsie o 5l s g 45 gz coles ()
Canlacdgs (slp aeljs a8 5o slajfl 5 (o ez 1,98 ity 5 0395l 5 005 lacdgs sl wlie (e 3l Sllle gl Jobo o (Y
S i il o gy ) Lasiis |, soges o 5 YIS 5| 5 slyy o (¥

ol tloizl - golaiBl slas I b &8 1o 5o oIl 51 (SO Ol ( Sl cdlae (138 5 )18 ax g5 0,50 &g o (F

s Ay dars Candg L 5l dawg Jl> j0 g aidlidswss gl ,eiS om0 Solds 5 5 Jeaz ,o saddil)] Cledlbl 4y az>g5 L -V F
A (Grdene Cladg Sl dawg Jl> 50 g aBlidnwgs sla)9lS G S92 g0 OoliS 9 5 Joo 5 2 azgi
Sl pj Jgazr JB slalr Jal5 g s gwly ¥ g ) ciad; 50 cuipidy any 38 plas (Wl
Sl 039 (ae 4z €logud 1985 50 5 € pudgud ;9aS 3 il (JSS AL Bdgi a5y Do VN B JLs jo (0

& gt
YiwS lgwls & 55 daw 2 el Lasis S | 1
. oo > . j - &l s 2ol yo
[®) IR &elgwh T Cand )'Lé|).>‘;d3)' rR9SON e dely Lm)9.’.‘5o5)f i3
(%2 &) 2 obhg [ (Y a) aldls
(JW) Jg
(&,} Yooo
P dnngi b HoaS FY
0¥ € AS/¥ e X ol \ s,
Covnnn » gj:.mb‘sﬂuaﬂ
L a5 F4
4 2 )9S
Aoy € » 4y Siop Aeld 4 Sl &g Y @y,
€. »
oly;

SO YAY sga— Yo FY, V86 5l i (Ao - YO0 _Fo _ VYoo (WI(Y
Yo YT sga— Yo Ao, PYO 5l i (Voo _Fe000 _Fo/d_VFoo (Ll (Y
Yo YV sga— Yo Ao #YO 5l i (o Vo _Y¥B,e0e B0 _ VYoo (I (Y
YO YAY sga - Yo PV, Yo 5l is (o Yoo _Fo000 _Fo/d_\Foo (Ll (F

Slilono ploit Joro



@physicsjeiroodi

Sl p23 3199 olais WA 592585 10 Oge3T — ksl 8395

o 6&)&3.& YolA JLA 3 )YA Ao, Foo ‘}ami)éaja.?o,*l.:.n AD E:h:ml-j A ‘5.5)3)5.25 A.J)é Fa31 Ca.:.héj)iiL:.gﬁ} de’—\\a

\
Egoe ; Pgus &AW‘M)onmsf)%éh&méwdm|dgd%

Do VoA Jlo 0 A 1925 Sal 3 0365 Cunis . \f
ST o PP 25 M2 235 S8 |l 1 atl nin S s o2 SB3 s 5 02 5 2)le7 (1SR g
oy ¥ Jol S20 s
KW P30 SBS g ol e gl o
Towl oy diz W80 g pidd op)lez P SLLSBS i (A
¢ Py SB s
¢ e S ?w‘:ﬁoxlw&%-r’wwﬁ oJol slesas JS Conex (@
o s S e ) Towl Yo iz 9l il sho Sl yo 3l P:gc.i”»fu LS i e (z
Y ih Sa o Selyd el Cumdg adl V/0 (B o548 4548 j0 del o aje5 sl asliz (o
) yowbn jgiS slas
doyd VY paR SO o »= 2955 plaS o
. s b ot L adl ausyo wiz Jol Soo g il ial38) asly ¥ o ASAQ'W axil> (»
wops WA S 00,5 yomslio A jolS 10 doly0 &385 Comdy
YIFO (@ A (0 YOYF oYYV (2 YO (o Yo VO F -0 (&)
¢ RS SBS g
YIv B (G IYOF_Fe¥o (z ANO (& MY NPV ¥ (I (Y
VW RVAPTIN REVY SONYSS A P VB ¢ (z AT (< (il (

YO (@ A (5 YYOF_Fo¥o (7 YO (0 Yo o VO _F_ 0 (&I (Y

YIFO (2B (5 YOYF_YYYF (z ANVD (0 VY VPV o F (Wl (F
Sl 2 Sty Ceyd Grasly il a8 plaS Ol jle VP

i a0 83y b L5l )0 438 plas” & jle (1

Sl sy Sy i (gloclas by bl l 45 4238 oS & le (oo

49 glive S8 ]y 095 gtz b (5085 Bilo w0l oo (SSL alox 5l) (B b (hudo ased aiz b 99> (oodlwl wie plaS” Gl (2

€50l 0,0 29 Sl jsliie

$anl plaS” Jlolay gl s90 G2 31 (Jo (el osllae slosaly alex ) (o

Sl plas” ols plonil Wb oy 10 (5,18 Ake yo (slp a5 (5,15 gl (

a2l anel> )3 1) 6538 abe yus @2 Wilgs oo Ceallad plaS” G2yl 51 asle s 150 G

(@ «cdss (od Sleil 3l )l g Cilel Joid (0 0900 IS5 (T 53 emsl (e (sl 552 Sy 45 Sl (e (1 O

SLedbl 3lwdlads 5 oy (5 5 5l 3 conlss 0 855 Lol (o (g IS ke s (sl po 0 85501 (2381 (5 (Bodo o5 i

e @l s plems (55185 Cad g Lo 10 Jle

b ol 5l oy 3o sy oy 5 (5 nn 5 990 n 5005 51 50 (Vb Loy ke (sl 5 ne Jip &5 ] ol (1 (Y

OB aS Lol 5 (FauSad e oo bl 65185 (3 ((Soe &S Lt (g cabgr o &) j8e 3k (b yite (gl ISy (g3l planil (@0l

Ml Gl g pleew (65185 C0cd 5 Lo 18 (Jle Dbl (g5ludlads 5 (w2 (5 I 5l a3 Cuslys )0 85 5 GLAE (2 welo poo

(@ 0g-b oy salysy ol 45 (6,500 WS o b gl 4wl S alllas (g i 4kl a4 oyl (39290 45 el ol (A1 (Y

(2 s T ale s sl 050 8550 I G 25l (@ ol Sle @ )l 5 Gl e plows S5 5 s3biw] Slllas il o

35T glaaslojus (i3Il )54y 5 Qi (5 ¢ Dlols dulis (285

OB ALl 5 Basad e oo bLS)I 65185 (0 (B o8 )law (z ) (2958 9 %)% (ool )l 83 s el 51 (So (I (F

35T, glaasl o 53l 54y 5 i (5 ¢ Dlolas Aslids 23,5 (o cylo oo

Slilono ploit Joro




@physicsjeiroodi

Sl p3 3198 Solaist A 592 56810 090 3T — Ol 859 9

il 25 Slogiun p Cons s Gy e 4y 35 oIS Ol cuiias -1V
Sl BALSBpa0 gl Mol < jls il gloosld 5l (S Kby an 35 plas” & le (A
Sl €l andls loysdS 6l stz s BB 55 welyo ol Slhole g 58 51 sendigry <Y game adgi nusl slalo o0 & jle (o
2 @by 4 (2 )1 IS Ale s 32945 b Slexr slo)lil 4 3585 jelaie 4y s [0S 0le 32945 ST 0l9en adgs (o
FuS oo ooliiwl (g5l lacanlw plas 51 Jolo
§5,91 Comody (golaidl Cujo WilgT co o5 CuhsS g 0bj oS dnje b Jommme 45eK (&
L@ gyl 4 (Sl gials 5 L3l ol 5l coles (@ wpaz golaidl glacy o G5 (0 o5l 5 g YIS 5l oolazul (&I ()
b (e LS'L") 83995t 3 g PK O ﬁb‘ lacoles a0l 4 .Iajf.wo Qlf.\....Sd).Ac L C,J5.> Colo>
295 5 ple Lose 3 ot & i (soladl lacyze Bl 5 sl slacyie sl L (O )5 4 (Fidy 2lS 5 51 adys 5l cules
.\.wl) e ‘SvLo) 3«)5.\7;4 BEN) f'f L ﬁlf LﬁwLo} dS.el L -Iajj.w.o ulfud)m b C»Jj.) wLo.‘> Lt (o s@}.ﬂ} 9 6&@‘
So9l8 5 ple doye ;5 ohg 4 wax galaBl slacy e Gl 5 0gdll slacaje Lol L (& o SBois 5 golaidl

W20 o LaS €O ¢ €A 4ol 40 0 1) iy g paiS SV 90 5l BlS o agi dyje 4 5 Jguz 40 oad ool Sledlbl 4y azgs L -V VA

YIS
TR shS oy dnge | puiS oS o oy duje .
o S
olegi YV0e olegi Yo «al»
olegs VYoo Olegs Boo «o»

S o o 1) YIS g0 so «all [0S cllae Coje Juol ullys ()
WS oo ddg | i €l (08 g paiS €O j5iS (3l Cu e Jeol bl (F
S oo ddgi 1) g KOP (0iS g puiS €D (0iS (3l o e Juol bl (V
.\..Sgc .\.Jy ‘) s 90 ;o P )B.WS sd,Ua.o o J..a‘ wLw‘f (f
\
ke salys (B 59 san e nle sl Glogs sekes Y7 dlie wlad 255 )l ke sl 1) 095 VL (alls SuiLe v o8 S1-11
Al aoye Vo cul 5 wlaly 0,8 ol (2510 Slb az L
Sl logi cyoadan iz 0,8 cl AVl 3oy Sllle l5ue (I
fslaion 7,5 SIS ale j (sl 1) 095 &Y Lalls buils 51 l3ae a2 0,8 (&
Sl logi (yguben diz 0,8 LYl del o (
VY (z « by gl YA (& A (I (Y YY (z ooy ogees OF (& A (IO
Fo (z pbogs oeden OF (o & (I (F Fo (z ology Hako VA (o & (I (¥

@FREE_PDF1 @FREE._POF1 (e T R

-1

$3555S Sl s JiblS‘ sy 2l o ol
ol



https://t.me/pdf_jozve

@physicsjeiroodi

Sl p23 3199 olais WA 592585 10 Oge3T — ksl 8395

Sl o) OYI5s rses Fruly (e 4y 35 plas VYo
$3g 00 slobas cdgo Glarwss lacaulow alax 51 158 lae 51 Syplas™ (Ll
C A8 sl Cawyd clgs goladl cots Glaculuw ogas o lban 38 des (o
ils )5 Sk |y @9, lgion (53550 SOk g S Jangs Wby plaS s s (golall 555, adlge 4o (2
fans go 2ol slaidl coSIle g Co e (3 1) 395 puline jgua> digSe g e j0lS (o 3l ol o (o
b oo Ol slaayso dad GRaliHl izen 9 3181 50 (215 ©)lod 8550 (38, G 5l 4 mie Jelge pAS ey 42B3S ) (2
- sl oo g et (Sl 59588 31 nl5 5985 - wilige Jas @ Il BB (S algpacl Condy po LSisn ojle e G
e S5l 4 cdas o091 85y Jolse 31 SaphiS 4y €lasily cass o9 Slelyl 4 golate gl Jl b 4idldrasgs (sloygtS
£o,ls o Ll
5 o5 e Jlinsl asile golazil IS slo peicte lilogs (1alS (sl cgo a5 _lacaslos 4 (o oobadl Cuiol 5 55050 Lial3l (G O
5 edss lpee s sl e 5o Ll (bl o sl (g 09 co 4235 € golazdl Cosis (slacuslonsd iS co Jlas] o,
(2 (ogas Gt dy ;oS olaill 51700 (5350 (0 (S Lie Glygl w3 i) (LALET (g Sl - (UL slag 5 50 pals
ObSs - adg Jelse g alin (03508 OLaSs (5 scenlin slaol, 5 JBgfom hlug 09— 355 (raejpm p CoeSl )0 laldgs cand 5 (b
Doliie (codlll Condg - (5)skd A (g iwd SaS 5l L jeiST (053
1 sbatsl 5 slolis (solamdl Conti glaculon (© ing $las,sld 65,54 Suz )3 sy2elin 9 ) 5 S Lanzma Sgae (A (Y
- (GUIb slag = 5o alidl g cdgs Slies b )l gbe (2als) (ol (Jlo Canlow (g 005 (oo malai 9 Co e SaolisS 5o
2 ot slaisn 4 slasl doje 53 395 ot lad I (cots i (55135l (0 (25 Lie Gl (29,8 aiile) (olasl (Jgy canslow
Sole Baa b (o (oSl (g5m 5l (Mellinn golatdl Luls) (27508 8lal pas (o oulol B FY ol 2 slacinlon Co2 )l
g8 (5390 Gy - Dglitie (ooelll Condg - a5 Jalge g qlio 095 LSt (g dagran)po 53 (ormnd Saial 0925 - (Jlo olis S
Sy9bd & (o s a3
Lo 90 4 golatdl Cnli latanlow (0 «Dhiolo Bigid g Sy SV &gy 0 Sras RalS (55900 e Sl jly Shals (A1 (Y
2 oRelS g edgs (Slee b )la glsee 5o (il (blassl Jlo coslow (7 09000 ol (Jlo sloienliw 9 Jg loianslon
L) (S bilal pae (o (gl (o 4 928 Ll IV (03 5o (0 (&S Lo Blygl 255 wiile) (g Sl - (SLLe slag 5
olse 5 @lie (53908 Gl (9 oy p 3 (oo Sl 9905 = (2o wlio 5l Solex Bua b (dowe LS (59 I (Ml (soladl
Oglie (oaldl Condg - (55l (g fwd JI 1 12 )9dS (035 HLuSG - wdsS
Sy el iie Sllgs 50 0m e 51 elos g0 45 olbcaslis 4 (0 epgyme 3blio ) (g a8 asle p 5 il &) azgs (il (F
Saeaddy o ly il J57 Lol as 05 b e i (golatdl ot Glacanliw S oo Jlosl o555 510 0 Jole pae aiile (golacdl
I Slbow = (G slag 5 y0 1al5 5 Sgs Slree b )l gl 0 (RlBED (bluwsl (Jbe Conliw (g 085 (o0 sl 5 S0 ke
ezl )0 et sla it 4 slatdl do e 10 095 lacadled 5l cage (idu (6,135 T5 (0 (S )l (35l 0y 5 aiile) (bl
somlio slaol) 5 JaigJoo Bl 095 - 395 (rae) e p CeSle o latdgs cand 5 (Sl (o oulal 058 FF ol 6l slaceulon
G334 (g ptws I 51 Lo y9aS (095 (LSt - wdgs else 5 ailie (59925 LSy - Dglite sonlBl Cinds (s

Slilono ploit Joro




@physicsjeiroodi

Gl
TE w0 i Sl p23 3198 polais W 59 588 10 0903 -l 839 5
(s /(2 oouw Jucd ol e T sl . . . . Y | e
ool YD 90T 215 2ot (sl 0 s> o2l SBUIGw 4 0313 Fely I ( (V) 291 ogé g pole
D 3o 5038 culilbcTan) e Jud c
(s 2de Spuw)
AY G Y) (glotceiuo Sl o joli asy 38 plas -1 Y

dls ey (gy8 Slasl jo (5o (m205l90 ),8 Laulsl U pasil ;8 Lilsl 5l sase S ()

A (i S0 ool St ISl il o ol et swle aele g Slete jo ooy a6l 5 (Y

ey god 5 4 Ll g ol ooz o395l cgain S i 5 (F

Cowl g 08 0 iz gl 1O G A4S 2 AT [ Wils 0,35 jpaie 00w 4 ST ()
8 wlgiise aid (nl 5l S5y 92 9 [ 49 (o0 97e G (S5 4 e (1
O,l5 oM 50 iy fg2 5ue a5 gy [ 0l ol ol 5l Gl g2 oS 1 (Y
WS plie) & o Sl gz (55 | 05) (G ped 4 0 led B9z i) b (F

sl Sgpubin (G S (5,58 (S5 -r AT oa Olol e o -AYY

Gl (Kid Gl g dly a5 0y o | o SUgm o 4 petis] JBeS ()
395 Sl BlyeSad o a5 ssloasliss Jolis 5 sl s (¥

s vas ol g Jles) 5 Gezen | ST 2L IS 95 st 25 S (F
28 15 e olle S iy | JS 51, U (s30 95,5 ¥z e (F

B0 Gliuas .. s e 3T den 050 4 pj o le —VYF

€l gaid S 25 gl Sy 5l (Jote 5 (55 Sl Jlgl,»

oS eyt g e 1) 59y )T 03508 5 a5 Wiy (wlalg8 S WS 50 4 09 O

WSS pg e 5 usmle (limed B e glra widged (S iy 5 (sl sleaiul a5 iz e (¥
2003 Gus g plla b e g Ll 495 0,05 Zdgo 2o 38lge |, DLV ol Slage (T

s 25 o il sp0 y9ele il i 85 Doz b e b 5 5l o 18K Y ghe 830 (F

el 4> pae S)M.u.dg A ls 3.3")1 9 }‘ ‘55-}' KY ) 4.2.3’}? f‘df&ﬁ—\vé

aslledge o ot 8ol Ol 3 [ oozl o Cane w8 5 @M (A

silla Bl o1 5 coedize o | 3 a3 e JS o] 5 on &5 (Y
0,5 Ui oo $9l leS olo amd )5/ F 4 de Sgu g 5l aS 0l 5 5ol (F
L5 ol Gl pols 90 5l sloazmus 11 55 (g5, )l ) atslds it (F

Bl gn Sl KA puan 8l L Coy 32 LiCy dan jo -VYF

WS o 8 4 LT b kel e gl | s L sl 255 S 5l Lo s ()
s B3 5 970 98 g | il Jis 5 98 5 ] 5 oz (Y

aileyd &y 3l T sl wo a5 T sile 98 g s iz (2l 5 (F

Or9n e medr 503k 8/ (p e s ol e wl b g2 (F

sl € ansetd &),T a8l asy3S plas” Coy -1 YY

et Sl Jg s 355 4z 5 [ 0l lg3 oo (Blo (10 45 CiS iS5 ()

w2300 ol il o1 b g g o w00 0] Be 5950 3l ez |y B S & (50 (¥
waps oo Syt 69)00 ol iz (pyled ST B, 50 (oS 395 el sl 05 (F

P (S50 5 S0 150,55 ogl S g2 [ ol o) 0 S (68,55 0aiS gad g2 (F

Sl a)L*.:...,I a8ls S flds -\YA

WSz on F i 5l S g5 e 3 &S ] e @ i X2 095 3 1 0995 el ()
pod a5 an 45 Gloj lal 5l sl [ g gm0 ()T 0 SBgpe 4 45 G 2 0 (T
S |y ugeli il g 28,5 S| (o gm0l iy Cawd 4y Jo a5 WS ja (F

§un] A 0340 €a> pan blaih 5 b S g €A to» )L g0 yeld coy plas” jo -1YQ

Sl Cule 4 b ¢ Glae i /o) BY by 4 plaas I ol 8T e (A
Cesls 2l 5 (B)le Gl (5)lolsm ] g 5 JS LS5 55l 0l ez o (Y
Gl e da2 5 el 59, 45 el 3Ll L 22 5 A G L (Y
LS gy slite e 0151 U215k Sz e 955 52 0355 (F

?ﬁ (P IR0 C,u|)§ AW J.‘l'LuJ Lew fldg—\\"“

ol gy po BB (e A slao SIS plails o o jle o al 097 S ()
W&H@lmﬁiwﬁu/?q)uygéjug@ua

05w ldl o 5 a5 jlaz e a4 el LU Slses, oo le ol (Y
Sedes Olian S0 po b Joow ([ ke (Swd Bglr 109,05 5y (61 (F



@physicsjeiroodi

Tl Y8 s Sl p23 3138 Solais! W 392585 10 09037 ~ Ol 8385

N 3)e 508 ulidictum) ofeg Juod

(s/aianl) wgav Jasd ( olgs — (Y) 231 03 g pole )

Ai(g:.;:;i%‘;)im & [P RCTINY Lg)lﬂ e g gy o0 S Al 0 Egan i yghe B0 O O)le -IYY
?03&‘56 J.alf 4...1; fL\S L «asloads axalss 0 Q,ﬂ
aalid 5 - ls e - 35 s (¥ G s - il - laplasd 5 Sl (O
usl;dlusw - d.abuulf.c - Lmolgj.é 9 KRR (f MLSQ»L‘J - MLJ)M - u~5 :\->L»J~> Y

Sl o0t 428 T 6y (Goid S 0 3,15 slaayl T 5 asy i plas” o 1YY
Iy seteas 992 995 plii 51 sl 055 1 3938 505 4 295 il sy 0 (O
Sloslss 2l alaz (ST | i s 0l ol slsp as5 (¥
1 el 5loT 2,8 58 Ol amid 532 51 P05 )0 WISy S o8 o2 b 5L 5 L (Y
w‘ul.d‘,...a.aawl OL.-A;‘ F)?)/ Muy)w.fmoo)if CP;(\C
sl Sggein (gaid S (Sbj (Fhg -0 74 ey F den o -\YY
ly i B 0 8l 55 e 55 4 i b 032 S 28 8, oo 1 Y
ool i (ogals Gz ol Comnd 55588 w3 Sgs ol g e Jom (F
Lo oz Ailgso ol oS JBle Ly (gl poldivns iy oy jo algys Jo U (F
5,10 0529 € et &)1 cog plas 0 -1YF
2SS9 S |y g5 Sl o 05 5 Ol | 8 Glag 5 Crl o G e 5O
Lo a2 53 092 Q3 e 51053 [ e s (reaxll )3 (92 il Sy (Y
adeSh 67:.&1513).7;.»6.\.:..2)55- Ol Lady @ lecwll ie o 6‘65%)15)5 oelas (Y
bz aded 5l ol ailee (o SL U jw a5 03,5 358 (laizr ol jgadee (155 00 5 (F
Sogd 0 iy Can plaS ;0 €At § ausedd pué b laiul (st slady|,T-1Y0
s lsre 5 6)ls I D5l sz Tk Ol 5l alsre 5 S5l (e o iz 99 ()
Suwgd | Cewgd oS 029, (gl 9B oS [ 9l (LSS a1 5l 595 e (F
b ope o5olS 4S5 5l aST aS [ oo ] i 65 o (S 53 90 51 o0 (¥
Lo sl o555 a0 s | B oly 4y i Jis iy 4y o35 (F
Sl aid, Sy € auseldd g (Laasedd juf) o laiwh ay3F plas” jo -VYF
Ar 5 Sae b oo,S i 5wl 0 50 sz a0l sl ()
as Cyo o 4y gl 33 g [T e a5 e &5 208 e Cawd )0 daisy ST(Y
sl e o5 S & BLT oS o5, o8 ALT 5 psensSiz o sles o (F
oS 18 cpals j0 a8 Jae b 4/ pyp Jhe el j0 a5 o cows 4 (F
Sl st S plaS 50 o latual &1 1YY
Ot 595 Az S5 agb Sgl [ 0t (e g culd 5 e LS 2 ()
2 oleyS 5l ol yo pie g2 e [ cpals (S5 S 43 0e5 Sl eais 4 (Y
O Ol 9 w8 LS8 Jad 5o f e 5 Lo o (oot 55 9z 4 (F
Sleye S5 5 gl aitu oz | Ja) > 5l 05 Glidy (255 ez (F
§59 o0 0430 €o laiul g €apzi» &1)T 95 y0 ay;F plas ;0 -1YA
aiile 4o wiileyd yuas jo a5 BT S8 57 5 lan Jows 65 (oS 1y Gile 050 (slgs ()
Alics Wi g 92 bl 50 o Jls / Wips i g2 bo b el SO e 4 (V
il gt 92 J3 518 Oy p [ aslin wanetss 92 08 )Le Gligairems (¥
algS oo s 97 Sl 5 ey 1 W)liss waiS o0 92 Sb) JH ety 5 (F
?o)lo GA}Q,&.A wLJCA.:.g‘G‘Aslg;«LhJLg" 50).;’ PO [XW) ul.@.‘:‘ LbM/LﬁJl},Ja}CAm)@ ‘)530...0)250 6[» Cawo -1V
w2 55 0l 500 ol b Jb ) e 5 52 o w55 s 4201 O
P o3 (e 5 loasid 5558 | (e & Suallys 108 45 o puul )0 (Y
Sl Gl ey Hhas o8 3l pe S aS ] Sl Gles 58 o e AT 89y asd ax (Y
o) U a4y 8L SG 5 A5 59/ ot SIS 4 axd) SO 55 e SI(Y
.J.;)Lb wL}S -G Lsm»‘& &:!L‘a'.j‘ FON w.:.BLM -\fo
1 e JLel o) S oo 4/ b LS5 5 il sz a5 o Ligs ()
el 05 iz a5 Ble /oo Oz b 5 ©pe i 4 S0 (F
ol ol 90,5 j90 ol 5l Jlo az b/ o K0 ol pad (o 1> ol e i (¥
25 Spe g Jial 030 590 ] g2l 0k 95 ez (e S e e (F



@physicsjeiroodi

YY o Sl p2d 3190 (wolais WA 399 569 10 05'°5T—CJL7~4,3 8395
( 1 %) @2 ,8 Slodla G.\
aw2izm s 00309 5008 Sl S i m (F) 280 398 9 pole ((‘.)dé“”&”’h )
IS .60:?»0 <.e..'.sl sbal )30 i o 33 33 gy Sgaw |+ (42 0338 gn dalllan Ly 03T 0 0185 s S
0 ’ 2 3 o ™ - _—
s . - . a3 gl (1) 231 098 9 pole yui3 15+ 5101 sladliew 4 0T sl 2uilys g0
@5uw 9 @2319> 58 il g
2 ° o
(“;‘z;“cd;:‘“'zw‘.’.‘?:) fuin (SluS az ol )5 Gdioju 9 Sz )0 gallay (£9,5 1 -1 FY
N z J uﬁ.‘)‘&tﬂ‘q‘)ﬁw—@bwo.\fas O

Slolyr S plyels o ol pwoanad (¥
Sloe S plels - a3 (F
Sl S el e (F

oo piiiie (JluS 4z Cawd 4y ol ity o5 Sl 5 -1 FY
Gl e Jedl sl j50 laegs soasasloy
OB 55l 13500 sl lpmtdlSho ¢ ool lochusgyl; oo o solatel (B hogyls oo O
OB Sler 1y e« solatel (il oo e (sl mtllShe lay gl I SLe (¥
obatel QB cigls e (B Sl 1 e sl Sle « gelatiel (B hwgal; oo (F
ebaiel (B gl e (5 Sl 1o ¢l latdlSle ol gl allSLe (F

9..\..2’:[.‘ ).cL‘.‘; U?J 5.)3)..: ..\3‘53"563 54.2.3‘; f‘.\f S 5‘52.3‘5)5 d)Lc ].lr.a:: QS""‘ LSLB‘;}” 4 d>of Lt—\f\“

el Gigp 4 glo 4z (gl (55 o5 e [ 59031 oy plasged S S50

Olrl 53 9 s 40 Sy 4y W3 ] Gl Al S g Sy wisly> (¥

Gl 850 4565 50 5l S S o1 e Ao ail ) Canl 00 s 5l e AU gae s I (Y

Olay el 00,0 050 Jo a5 3525 o] 50 | Cond Sy g il e (5 45 (sl T o (F
fouwl Sglita Sl ol b Ca plaS” (gl yae (b5 b Shag 4 4z g3 L -V FF

IS i B pdye po e 51T L laaly g e (o 52 ()

(o9l Sl b 0B S5 a5 Splebas 55 5l 09 45 ilys a5 (Y

979z 0ad 93y laBl [ g8 5 5 e 5 S glo S5y (F

Collans (o 9700 (xembo [ Sl gy o g Sho LS (F
Tadly (g lom jae ol yeld Bag s Wilg cod Con plos -V FO

WS g 1 e (3 B Glyped | QLN p 0 sed Ol 1) Gy (O S ()

A5 593, 58 e gl A |l ) Galy G (1S s 0 2z (¥

1) o 0,00 a5 00gmwlS Wby | ol ygds ulome (65 dod Sal 590l (F

gl 60,5 sy 0083 S5 ] S5 wilosgs blyias g b ST (F

Sl Glgtean ()] (S 5lo Fhug b Com plaS 8l oo ol o 20l 9 Sl Lo Sy ol 2 -V F7

Gl syl o) of o Lo 8,55 aily o5 5/ o) caill 5 28 cppoy oS 353 ol ()
(38 B)le) Slsko all 5 sama ] Sloxi ol s ol Sypily (¥

(LT Calld pslar) a5 g aild ol &y Lim oo dlIS ) 6T/ globi 51 S 55 o g LT iy &y (¥

(Sl Slaall cush) Pl Jle 5l e pols 3 S | Dl BT L i o >l (F
8o s |, «-UUFU-U--UU» s 8245 oy plas -1 FY

wlo |y o aéls A/ o, a8 ol Els 5l s (O

3k g G Sl spfle ] ST azi g2 s eSS (Y

P9z 99958 F 2 Ok 93] poe oy 3L o e (T

Comgl Cood a8 &y oS 52 S5 5k Zald g Lo g 5k g 5 (F
el sael Cuwyol ol lie SSleS™ )5 .. G 324 bl don (59 -V FA

(WgM;MJM)w!QAJS&WJW@stus/wdl)psﬁl@ugjowiféum(\

(ola el (Sleld) Sl 55 podh o diine | a5 Jo 45 3 o Bike (¥

(helis Jprio ploslio Jpnin |, plae Jlog s golo x| 5505 252 28 59 52 359 o3 5 (7
(8 lelas oMb ylelin) colail ls jo wile Jo aS 2 553 5/ del L 0 a5 > j2 §5 s Eou (F

Sl Carali> &1,T 03l oy plas -1 F4
Cedl gy Lo g ddon ol o wislas aS [ K6 00,5 laSe e g anly 6l g ()
8y wle Gz @ B oS 2d) wlo (o ole o 51V
Coslibas Sz 5 Lo Wl alili / L LIS ol ools Lo Ll olsz o (F
A3 ole B ey i 155 55 | S S5500m 3 & e ol olap 52 (F
Tl o jol o plos” blae )5 ;9530 &l)l -V
(428) Sloges 0 QL3I ! 51 31 3 S o2 g ol ol 51 e O
(e Jlasdlsd 5 yoe o JaalgS 5 gzman | o g 51 4088 g5 092 ,ladlld 51 (Y
(rob) 6,5 @ F 097 w295 & WSS Sl (651 Sl 4 b wogy 5 5 095 395 (V
el Slelye) conl (g3l ik Fg, Lo ,525 501 ey, j03 5l Jord plebis o Lo (F




@physicsjeiroodi

YA o Sl p2d 3198 (ol A 392 580 10 00T — Ol 839 5
( 8 w h §
e PN i (1) 19 3 3 ([(stosssese |
s eceitfB padd N335 435 Jalge 9 (on)lu) 3213135 goawly () o231 O3 5 pole s3> 10+ B 1) ol 4 51
(/B il &35 300 gy (1) 231 098 9 pole w3 172 5101 sladliw 4 34155 0
(B g239) ulibea S - oL
(&“ls ’d;’,cs...xd'/"‘ﬂ/‘" ‘cd.'/T@)’) . ?Q)LD ‘}ZALA.Q O‘ 6‘92.7:.4 L) S f‘df 30 0l \.’M‘ OJ9 -\00
WY G FA slocain Sewgd $95 ) Jood Sz Boyb (SIS 098 el ps Sewgd (535 5 oo ()
\ J ol b e ST Glewl 28,8 090/ 8,5 50 Jo &5 s cas a5 o] (Y
b 2ln g 5 5 st oo sl 5 iz 8 sl 5wl gy (¥
bl led n s (i Gy Sl et 90 4T/ 03 o Caslaply dx ez 5 e iz 90 @ (F
Sl ).3‘).3 ¥ ANy lg 4\.\.3_}? rﬁ‘JS Slels @l’;ﬁ 6[&’4&55 -\oY
€ Slgly8 ¢ luslys «SLsyo woll o
elfLALoJ_)lf)s)_LuLu_ﬁLm‘uP (f 6)&)&&*&—&9—»3‘—5})5}—)[5&L’ (Y‘

Fimnss (Cunlo + Sigaan) aiy 55 plaS™ j0 4,88 Bg ) VOV

Gz 0L 13 5 Kb dad cpl ol 5/ Gz olag cansls $ e [S1()
el g setads (sl o0 | Gl b g (o 5l e (Y
ezl T o055 ay atis | s Jo g a4 b asl SG (¥
Sy piz slo b ais o /)b et Cals g asl iz (F
P e @ 0108 55 by 108 98 e ) (s e (O
oS S 1y oo @y sleadl> l5 1 S waly pise 5 00l Ly Ll (Y
O phdlyls g2 dums e e [ (S pled gz g 00l Lo Ll (F
v 324 Sl S ol Lm&l,afmsbafb—\ab
(%0 QS:}}J“’ RV u—’L" R0y 2 039y 5 de el ez be o 51O
(ol LiE G ez 13 L8 ced) ol ool (sLESAL gz 5o L3 s (¥
(Candlid ol ol 358 Sl Canl oolis byl b 35 ¢ xS (T
(b o il l clid o i 5 oS o oy i s 5l T80 (F
D g Sl Kazmd L. jdy bbas 5§ den 0 -10F
Olgy ex poye nl piy 41y Lead puilesl b clig, 9 Gk e (F
Jeaacwlspa (Sinedba s cwl o a6l (F
Sl a0, aijlge L)1 51 Hold asy 38 plas” ,s -0V
Oled 0 Sypai |y gl x5 oS la [ o 0g cdgo Iy gl iz a5 el (
) Jooalss Joog 55 5 Iedle gume | 5 5 o3 |, ol 55 5 locdls I, 5 (¥
Pl 00l 8,25 e el ol 8,05 [ e el ol die el s Bus (¥
@5 LSS plias j98lnd oo (255 jomps 3L (255 9, (B (F
Tl glise &yl plaS” azew -10A
w197 S5 55990 5 s Of b 2 6O
SHNSS Jlre Jo Slg> 0 1) D g B> g aalS ol 955 4 cuts (V

odpder 55y 05m g )5 5 ploailu; T4 jee Sl yo (e a5 (F

(| T JS..I: e‘..\: a «@‘)15‘5 o s&}‘}a s}l’:a» 6L64.3'|)T OO Ub Ll aQ s“.sLa“.g‘ ‘;‘53 [t -\04

C-g_;ﬂ‘_é(f

Ot 1y Sloyedy il Joo oy | e 1) Slid e ity Juudoce W (I
Lodo o2 folen ol g Laih oz oy S p / Lo o Iolin loyo oz o 1y Lo 050 (&

Ohslons Aol dod o)l (y0 45 (plorus | Ghigihe Jibl den pasd (10 &S 03, 6 (g
Slagp g sl 5l o Bl LS (Slo Bao [ 5,58 9,58 5l osd £, LS STl B)le (o
J‘-é_g_c(v C-J‘_Q_J(Y ‘?‘J“‘J_C(\

?op‘sn b €a s - @‘jcb - )|)S3 - 45}‘5.&) ‘_ng\;“l)T Cao ﬁ‘JS O -\Fe
‘_gL».t Lg‘d.la?;! Lg.\.m .bb 4.\)‘ C.‘,Jj.) 65/5).3 ‘_,’.J-Lm Lg.\.u: °554")‘ML§‘ (Y
o i 5 5 015 05 ol | s sl 13 S ol il g (F

105 8aile )0 (e 3l dwlgs az 208 Card 8ylny (e 5l Gwlg 4z 90 S (F



@physicsjeiroodi

Y9 i Sl p23 3198 olais A 392 580 10 00T — Ol 839 5
(£ ske pledl! ] gl 21 o0 SR i (F) 0T b3 st 8 ((") RIERITET )
oSl dgiiunll gyl w3 (5o 900 2l e 93 303 ey Ulfes |+ (ol 43 2iS s0 adllio 1) 03T 4 085 Sy ST
omill ALty a0 gy (1) 018 0bj e goa3 YA+ BIV) sladlw 4 0T sz sslyi go
ool
WL sbaxio

(VPP -17Y) rdan Al il gl A G 9 ) e HIE

secde U A8 Y L Wlaad Y g Wiy _ys)
lode )18 Lo oSS ¢ )ls u**")’ S5 g 1 azol s, ()
oS CelSS oS’ Joods oilss o 5 1y (g5 Ll (¥
o Joazsi Lo 2 eyl ol S5 e 1y a2 )50 (T
S5 oo Lo emalaslas 1) (ilgs 55,0 a5y (5 Llas (F

rlCrgtea 31 a) agd) 1558 53 Y 5 agd aas) 93 G Ggalag Galdll Eudy ypy
IS g8 olaeyd wiilos a5 Wil cad s ol BT 553 45 (lius s 45wl e o350 L3S ()

I oS gloe > 45 5l oo 5 Celagy] 355 5o Lo s (glgs 45wl olT a5 po 4yl (¥

WSz sS aloe 2 QBT a8 wilai il 5 ol GUT 029 55 (Lt lo a5 wiilay po e SIS (Y

loiztud (S8 slop,> T a5 05 lasn wls 5 cal BT 02y 50 lisles,s a5 asilay oyles] lS ol (F
sl (AW dis 5 el O3 LA A (A I3 s Jilal (e s 8 AT SLBIAY Gy sy

10,I5 oo ails 0 jole oS ol gl jdy dmei cdij o oo S065 31 S5 5l g pm a5 (SLENS! Lles ()

ol a23l8 il o 1y o1 jole a5 sl gl 4y G lod peiesso <S55 5 Al 5l 2yl a5 e ks, (Y

sl 2318 @l 5 b oudsl el oo 45 ol loyds los STl s 5l 25 45 Soss sla s, (F

ol 22305 S50 5o yobe a5 cal _olp iy Amsi Tedad w9 so simlive &l 5| g 1o S35 51 48 Lo @Ml Llan (F
igaall cpe ¥

1ol Gl ologllan 5l £las Luts &alsg Llon Hlallal) (e sllae e plaall oSl &) (4

DT (653 b 5Ke 595 o 3l 5955 (sl o ) Tl il W) Sl )543 (e g &3 (¥

o35 S Sy 0 o (5 ke b g 028, (oo 3pir THe s Slanal) el QN ) Sl

1S osalie | T b po,S s ) 4 cilis 5blio a 1Mlgiaali 5 ARl ol ) Bhlie L) & il (¥
tasdall culiadl & e (ls A e gial) Gha Cpuun P PRYIN

G50 (& gloold Cans F 595 by oolid vg0 (605 ()
o wad (et |y 55 Al e oo DBl (gels g (Y
Syloice LB n ol g aim p ) oS Gl g (6,155 55 plese ol glos (¥
Ty Olie wgx K> 5 T o 9ac 2alys mlo , S1(F

Wl i Ry A sk gn 1 hudall Jadl g eyl A madall s ysp
Sy aleld 5 Jad [/ (S50 2 jne -ilall ¢ jliae J2é 1 & ()
Ll g e 5 deld / (alo) 4 pea -deld aul - 800 5y 1 ST (Y
e Alaal) 5 il JladY) (e Jub [yl ge alSiall - jale Jad &€ (Y
Jadlly B8R (il s /3555 -yme = K3 3 jhe -andd (Ll i (¢
:Uadl) che sy
el eSS i 5l pall @it juaie Jlasall (¥ lavsadl A8l eliac ) cand lia guine alaall ()
Iond) 4 (5 pmy pnenl 8 (aid Lt Calaall (€ JAGBSAD 5 3eaY) 4be whaad 43 gliasS) jualiad) aa (uladl) (¥
b Lo Alay Jasd ) Zalsdl o 150

Q) (oah 4 () Y sl Sy (Y «Cystind 8321 Ty se UIA olilas Gly ()

16 S slact 55 5l Caalial 3805 el ol sliaal allall (€ a5 S Canll o 2yl ) e 5l Gl (¥
W« Jas A) Wadd) oo 159

s (8 Lelmny Caliag o S8 8 50 Cullad &) (Y I e CSangd Galdh (Gaa S &) ()

laah oSy allan 5 udl o alhl Euada ) ol L (€ Lopanl Dl ool s 5 Laa V) Ji ¥ Sl ) (¥
owindl 48Ul Yy dSa) quua) maal) (e _yve

1dalall J1 sl e ot L Y (Y 1oSlusall Baclise (3o Jiadl Slac Y ()

Il ga sleallS sleall Y (€ lidle L) dladl sy (7



@physicsjeiroodi

Yo rimin Sl p2d 3198 (ol A 392 580 10 00T — Ol 839 5
¥) g 50t 50 i)t (o T ; 5 .-
N el dalentante S k= (1) T B ol 08 ((\)cﬁﬁa% W )
(0wl g dodedll ddoll) bl 31> 30 4 3395 g0 e3alo31 gl () OT)8 0L egipe puad 1V G151 ladlzw 4 S
(i o e 52 ) S0 303 gl (1) 015 0 e o3 1A= 1Y) sl

Vo b YD gloaxin

(YVF-VY) rdaa Al Gl gl A GAY) g ) i T
il 08,5 Uil o & 1,5 recdsiand (b il ada) ATEY ¥ 5 AGLal) (o g0 ¥ 3w 1GAN Ul sl -y
1S &8s Conl yige a8 g8 [ 1) o Jramiacs plp s 9 (S 9 ()
1S @83 355 5l 6598 hoy w [ 1) s Jaias plp oo by s S5 5 (Y
168 @85 Casl g a5 6158 @ [ 1 oo Jroiies (g5l sy 5 (S5 5 (T
15102 o3 lee a2 [s L 1568 gy 2 50050 08 eS|y s 5 295 5 (F
el 5 gt gt () 4RI claliay) saa) Lab (hadl) Ga gl s 38, vy
iyl Slez (G oS diien (A3 slaadgs 5l (S iny g5 55 02l ()
il ez (e sl 4 aies L3ls Slpolo 5l Sy ey 5l £55 99 ol (F
w)ls Sl @yped Al Slady 51 (S5 olaie 4 a5 wlawy g9 90 o cpl (¥
ol jspie Gl )3 I slaadss 5l (o jo a5 aies diy Sl g 5o oLl (F
rclannds Al i gl 5 YY) phia g a8 (e daglis daja ) Glady) Juay plall U pas iy vy
el 4l 08 o Conas 5l 4 a5 1y Loy 5 5 5 ol oms, sorie byt & sl Sl s 4 ()
lowl sy aizlu ol cwoas o hlwg g 5l 5 00w, cdyiy 5l (Fi5 a0 4 luil e pol> pac o (Y
sl a3l (5 o a5l s a5 1y Lilisg g 41500 5 sl oasy Sy 3 S A3y & Sl dle g5 s o (¥
sl a3l 5,5 aalss Conss 5l 4y a5 1, ilog 5 Ual5l o sl ooy Sy 50 ¥l Al yo dy Ll o G935 e ol o (F
rdaa il A Uadd) cpe gy
1y o3y LS5l L )T L i o 6 Saels 50 b lncile 5 TSl () sind a0 A Y1 (5808 o sml) Giamy ()
lad o g
sl iosges S ol s 0,5 st Oliatils b 1ecladil Jasll 1368 slalal) Gullay (v
105Lagd Pl gl & |y i 5l 5 35 oo S5 055 el 31 1l (a8 233 4 (palie K0ty (v
1555005 o onbe 1S 15KEnyS 3 03t e (o ig Tl (b S 5 JANI ALk LS (F

) g e Jasi g Y Wiga 05 - \va

Balaws g eligy () gulimy o [ 190 ole ) 3 yul (s (S
ol aaf i ik po Jaa oo / 1950a) 8 2Ll g8 (ja (v
lagdlalan) Ja 5 oY s3I 55 e sy Laa / 1900 550 Aakay 8 L (v

1 51 U5yl el o g / 19 asinll =Sl Ui 13} Jatd 1ale ¥



@physicsjeiroodi

¥V i Sl p23 3199 (olais

A 392 580 10 00T — Ol 839 5

«.hdd

dasaal - uay sl o okl (v

&\_\143\_0\.'\“31\ u_,w-ﬂ\_\i;a:ag_\}.\;(f

lobdll Gl 436 (¥

DL 4 ald Caalall o5

) Al maaiall Gis Syys

RCTRC I A K PP [ 30N

ol el 83 il J g (3
Al 26 - il - Gl

psdal) B Gilidy L e vy
Hid 555 im st opn 212G Y ()
5 0o 128 55 2 83 v

1815 5 Adial) qua Uadd) cpe A

& 5ad et ) o k) Sac L Tl 5 ¢

LT3 854l a2 8 455,30 2 ) s (v

lis 58 Caanas G pAY) e Jamd Ll 5 gl il (v

Mo S0 yas ae AlAAN CilaladY) 8 el ) 3650 IS5 (¢

fellilal s 30 Al (v

oD ial el Hhaal g La(p

(A5 Jadll) AT puda dals A5 5 5l (v

(ial Jadl) el as Lty ) v ela (F

rdgan) dlaal) GATH) _yyq

lade el 5 4y uela QB aay 5 ()

sl 4ty ol cllaal aay (v

10l G e madall cpe Ao

(A 5201 Jadll) A2lal) (38 yall ALl & <3 (3

(niall Jadll) sy slaldl &0 G5 (v



@physicsjeiroodi

TL Y ddoni Sl 23319 (olais! A 332565 10 09037 — Ol 8395

"’(" ‘54’0*‘)(? . Lol $)BY OljgoT 2315 Lot (510 w3 (2l SBUl5m 4 031> &l I ' (Y) wbvancl> '
S o3z SERED 9 btiz)

SO caazenlauny ) 9 ¢53UaiB)

(cssimn 9 (B0 QCA..."b),Af‘ﬁ&hwﬁ'ﬁﬂﬁ}&bg)"&}b—\/\\
)G A sloanio 8y oS ades o ciped [Ladl 4y goblaidl glag) s 5l b sla)lad Jlas! -

@ Oyt S yh -

Sz obatdl (5,5 s -

Cegsleze ol Jo gl ], B - et s slaaa] gl (57 - lacuesS> (23lg)8 ()

slaihaie sloglz Sz slasely (os JaT- Jamecen) ol 5 IS0 - L g 588 dle b olatdl (o (3955 iy (¥
Sgiae (5180 Sug) 4 SaSil - (aeome Ceny Ol Sl Gl = (anzme Sensj Ol @ golaill lou Grgs (F

slaglo S slaasly 5 )UT ol JISAT asmacany) ol 51508 ol - e 5 58 2l b oolal ol gy (F
lailaie

F0S 50 0 )Ll pagia plaS 4 i s 5 Sl 51 S m -VAY

2ySsn p )y dneler ales ()] 4 bgiye (slacsl -

29 Jol Glar Sz golasdl b 5l y2eS T gobasdl (b5 -

ol (Kpar Sy g Al -

Lé 5,88 il - oldliaz 5 (oolow slj e Sl 20l - (soladl (o ()
wolasdl gl - Le 5 588 e - Lé g a8 Al (Y

e 5,88 Gl - galadl ol o - golatdl ol (¥

olatdl o - Lé g 588 e - allaz 5 (cwlow las e Soonl als (F

S ades iy 1y 5 Olle fog dalé b oo —VAY

e 2015 S &) AT S pae g5 508 5 g e Jekasd ails IS asglie joboas Ui 5 a5 alle o -

b Jolaie Sl g plusl Jlite Al ¢jlaze (rrad 5l g 30 g 093 s |y Sl 1 (59 9 bl (Sae OMEI L ¢y sl -
A (S0 )lee 2l gl &Bly )0 wadioe gl s Sl plls -

¢-e-o(f e-r-E -p-2 (¥ -0

Sl S yo walises Glno”o)a Ls‘“'é)"“ U‘)’Qj ey le.bc’.:..:a L\ 4.!9.’1‘))03&“:)0[3 ‘U‘)""Jj Lb&.jl% Lj d.lagb 3 4...‘\')? PL\S—\Af

Ol = o &5 olatdl oy ou e 5 (Hyme ol Tl o)l Il 3,5 3529 lag o 5 s il (ol &) 58 3 5 pai (O
5 AT (07 5 (o o yne @ Ol (Sl Grizes 5 275 IS el slacusgasme o 0 ST (R o (8 e
Lol 55 ptyide omin lagilly 5 anb oo (bl el wisd o ST (6,500 5l (o 5 % @ Sl slagillz (F
oy 5l ealis 5 og ez ol ol (i yine Ll sbl 050 5 (e LS oy 39,8 Sijd po - aiibe oo (Bl (lizes o
b oo 428, 000l 4y 20 g Jie

Sy o= e ¢y oolaidl ol imu (e 5 (850 oy ol 318 (Sl w0l 3929 byl ymu g o il oyols &, 50 3 g pais (
e 4385 000l cy g Jie ol Sl Clid g 09 Glazr Sl ol (5 ime Ll LT o9 5 (aie QLS (s (8
Lz o )l et ol 5 wnbisod (bl el g o JSST (6,500 5l S s @ & Sl st (F
 OF (Foly Geizmen 5 (228 (IS (sole slacasgaze 4 0 LT elSin a2 e Gl wiile oo (B plizpe wyor
o Sl S 9 (o Sl o

fo ks bl 090 laS b ity 525 Ol 51 S0 -1AD

P59 08 (sulidansl> -

252 ogls 3l ple e Cons -

O ple 58 Jlgws 55—

e 08 ol Ao = e 03 P9 Ao - (22 5 (o> S pne Jleslitul b 558 el Bli> 59l sl IO
e 058 gl Ao - i (0,8 90 Ao = (o S pne LS o e Yanul b oslad 5 gl (Y

e 58 p9° Aol = e ()8 Jsl Ao = (2,55 5 (o> S yne Sl oaliial b (g5 malyz Bl s sl sl S (Y
i 058 9% Aol — e ()8 J3l Ao - (g a0 LS o e Yol b oslad 5 (g5l (F



@physicsjeiroodi

Y'Y domio Sl p2d 3198 (ol A 392 580 10 00T — Ol 839 5

Sl a3 s gk L bl 55 ai3 35 plaS -1AP
ol (s syl 5 (o Gilim 4 (ool (558 Sl Ll (S5 50 e 5 > Slaysh pgl e (it ()
5 il 3 ] (o] 4y o sasd Byli IS oy Kim b (Y
851 (575 e B prn (ails yitas laglo)] S ye 5 s00all 5 ol e 2l Tasy el (F
s S (il 3l (lRigad (g 5 (B SRS (s olland b Bigyn LI glacasine ik ol cnl ST L (F
S8 oo ol |y sifiiils 5 cuS CowsST Ol s o oy a5 plaS - VAV
Sy Sl alde B3k 5l Dg ) o 5 (225 e wd) b (g ing il oo 093 D9 (Koo mlis b )b &3S s (sl ()
iogy a8 S I8 f ez Al com laxil g 55 4 09 Jiie aleSimd 4 8 sl)stS Sl wl iz - e
2l et sla el ool Slibee - ls walys ) (Kiz Sos g danoe p EF) Gt sl I Kz g Sl Sz jlam (Y
S 0 42 (o) d (Slo)eiS Slacaeglie b ablie
- S LaSoz ol 4 ) (Sadlign 5 (Sl o Gdliganl slaatsail g cul (pade Jelse oSz St (ol Jale (F
gy S0l £535 4 S )5 Slappaed 5 BSin b (BT A ye 0 las S50 5 B,
ol (Sa2p Jele ooz 2 o0 o Lt el oo 5 oo (60l oSl s T (0l e 90 dnelr g S 0 S (F
oS (5l )9 iS5 S i w095 ol L 5l g wipge S5 Ay (S8 g s (SlajedS ) Cunns | 005 leninl g )5 lasnil ZMlas] (SLuS a4z -VAA
O
S ,d  Susbogs - S e sgamme (golaill slal 4y 1) 15l atws 90 (pl e (il a5 SLS ()
sxio g golaidl Gaxs - 0iiS o dgazme (golaidl bl 4y 1) jeiS ats 5 ol s gl 5 (Ul o5 SLS (Y
- S e o e e yeiS eobatdl il 3okl 09 (s slaiIle (it aslyr asaiies &5 SLLS (Y
P obesial slo)piS Mellinn Slaales § 5 ie slags IS ale pu
e (sl2)5iS 5l Blalie (2309501 05,500 (sla)5iS (555Ul tblanngs (slo,glS Wakine 4 SluS (F
Sl 3y IS sy o s w8 a5 (ol ot JISET 5 pollss lomeles @y azly ol (28 33y, ~1AY
Sl sl g8y (09 SIS - 59,98 (B2 (O
Sl sl g8y - 3w S pols (¥
Sl S g8y -l (o aal (7
Sz LSz g8y g (oo)le - 0 S polus (F
Sl Cenmjals casy 35 plas' =140
e sagaiely b o) (owlew 5 g3laidl s Sloe ()5 5lub aaasplis w53 Sz Hpa> 4z g Gln @ Ol SlBL O
Lol o ole
990 69050 9 Y58 ojo> (nl I Spa ols SKim B g o I all el g low lamil e sloojex 53 S A e VS (Y
D (§90 i (popat (SN B3gae )3 (058 dnal> (cagee Sun )
Sold a5 00,5 joe (s Sl Jsol 5l 1y ailed oo (yeby ilos S 03 5 (00 le (6,009, Jol jo a5 Slaseils (¥
lodnsy o
it zolaw 4 (3 5 Sgrne oS s 8 S ladle 4k i ) p3 e (agee Km0 oA pies 08 (b (F

LS b bl Saig



@physicsjeiroodi

T Y i Sl p23 3158 Solais! A 532,565 10 03T — 3l 83
( ootz ez ) sl $)18 OljgoT 21 dod (sl I sdliw 4 0315 feuwly Giazol>

(olaZz) sodlez 2SN el 51001 Oljgel 21> 4od sl 03 (2l Sadliw 4 031> oy (1) ulidancts
2W555Q eoladz) 9 538 Sy 9) Sy oo

«cselaliz) o SluudS e olaz) Sy 5o
w9 Jon a3 Slgz (R99 Sloa

(a9t Jon 2lad2) oz 90 D5 Jlw 50 Judos e a5 0l 0929 o) yuilsd 4 pols (_gT) Ol (s9u38 g Y Ss aulsz 4o ()
PG FY lotiio

\ J i il po e bl mls sl 5l aile ool biagS 124
el Sl iz glacysn oS s bzl S o gl 03 ) i slaces il oloixl sl oz 4o (F

S s grazno o hygp Ol i slacydguss g cuo 3 b bl o 438 plas 14

Syslin a8 |y s3gmo (eloszrl Sy (Sl i ol 0l S sl o el (bl sla )l bl (T Lol 5 alsh oS glasele- (F
st aalsz (B 50 S0 med 4 bl iy eloial 5ol 5 59 Wl oed S (Soime 5 (03 Zage GYsS ler SG o (F
Reds § S slr amme (I3 Jeas
Sl azno by, oKtmgsy H0 Gladod Aol 6l 0 4y 38 plas -14Y
Sgbise ke Simp Ol 4 Koo elaizl glagle b agzlse £55 52 b 5y5l5 5 gl g5 2 ()
Oz Cogn L Laog, 5 5 0l3l (Shga Ol i 1050 IS8 ansly (culal slag))f 5 wilie ozl 50 3181 celaiial Coga ST(Y
3 o 8 52 el w3590 9 cl IS5l eloza
o an il 0 S o 1y eleizl ez slasl gloclad 5 Lo slsi 5 wbl ansle e sl e 190 (S92 Slieis ST (F
almily (58
galic L asl) (Sos; jl aleoged (Juga St (al 9 99,00 518 (eletz] ez J93 990 sloj e 5l ol 831 (g Dl i (F
2slise Jlisa s Ll 50 Lo ;)|
feowl 438 alaS duly g Fhwas e ol pa ©)le 0 -VAY
=beiz) plez Ko slahs)l g walie b 5Ll (S0 By pglas -
Saxie Gle Cuge Joou -
S Sush by il (loz plaietils e -
SNy blas (538 (- ey Ghss - (S )l O
2R lackin B o Cage Gl - (S S (Y
Sy M g (lS - (S S5 - Case ol (F
Sgire M g (FlS = 030l 0ly93 - (S8 5 (F
88,10 bls,l ggoge plas b cud iy 55 Oyl 51 S5, -14F
SlaSin B 5 €lez b o) slaoldl o fipge> anslr Sl b ol 3l Gllal 5 anel> Ko b (24 51y @Clad degaced
«Ls;)l,a_c
L3l 008 5l 5 oo e — 03lgils — (g pdyanel> ()
L8l 008 5l S (oo e T Gltwgs — el S (Y
Obeil &yl b S )55k — 0lgils — (elaial J s (¥
Obeil &5l b i )53l — 00lgils — (s pdyanal> (F
fenl Canyols ¢ oo 3 Slblsyl b alayly ;0 g Cawyd wogn b alaly j0 435 plas -190
ol - Sl i Csn (il bzl plaz (T iiSS aal B 1) 055 slaplel 5 lacaadly ( elazxl ez So slasl 10
S Ly 1) T 0l o 4 g Al (B yinS L ddises pglas | 095 A0S Sim b wlgi o & caibogs eleix]
Slgioe 4 aSbagt elotxl Gloz — s o0 (Pl (SBss 5l e S gl 1) 093 (o)l Sie B el e ST(Y
S Ll | T Wl e 4 g 4B b e b diides pglad 1) 095 AL5dS Kia
Sl = el i cypn s bzl ez o WSS assld 1y 055 slagle] 5 acasdly « elozal ol 5y slasl 1Y
295 Goxle Sam T Ll pin 1) S8 Siad slaay Sy ((Sin b aS ol
Slaay (S (Kap)8 a5 3l el =gl oo (Pl (SBGede3 5l Jlard S gl ) 095 (Fu b Sim b eloizl Dl ST (F

Sgd e Sam 3 ol w ol wpda 1) Ko Kam s



@physicsjeiroodi

YO sdomio Sl p2d 3198 (ol A 392 580 10 00T — Ol 839 5

Scnnl Cann 0l ¢ solozzrl Caugn 0gisl 8k, ©)le plas’ 148
el 5503 e &y (s 5l S 3 JUES (5 pdyanal> (O
igd @l gl (50 (6lp ol3l a5 WS g5 ST 4 |y 093 slahsyl g wilie hjgel Goyb 51U adsS o eloiz oz o (Y
w23 go higel 9,8 a1y 093 (S b g Lo byl elolizel pglas 5 iy (ol oloiz! Gl (F
Sgdise 9,0 ol o Sam bl dlanly a4 a5 Ceol g s g Bagts (F
WL, s a3 phaS Slle b oot s olazal J S 5 olatal 59,35 s pisdnnls -1AY
4 gomsy Byt slims 0 5l —20 Slo 0 B985 5l oolitl (@Bl (s pdyanaly —elatz] (S5 LS LT dx o e ()
)15 bl g Grae 3 Lnoslils Lamgs J S -3l (g bl el gelaizrl Cgm adl i pdy - elatz oz o & e (¥
anele 3l elaizl J 8 - BJISS 5 Goir b cudlle el 5 Lol (288 0l 5 958 Cuabge 5 (slaizl le L oleal
S 0 R G5t Sl oy
2 S 3l ot 5 By e ol S (sl 008 ol el 6 pdyanala - rex laaile 5 (cole e wg p 3y S b (F
sl azsls 1y o oy b b cdasls 45 el Kan _oadlye
Sl 15 I slale BaS JolS o3 5 i35 a8 S L -12A
Do sn solite ...y eleizl slagle,l -
gl cod cyumad 0,8l g malgr ags bl py aulie ..o SO -
IREJOC ARV FY- 1 E=JUNRY RN IPSYURICHN IEX SUNPL U I PCTS N TS R E N O PO POV
oucke - 0955 b (o9 Slayl - ylis (Y suske - (3095 b og Gloyl - bzl (O
oo = 3 Jbb b o - bt (F sdde - g JbL b 3> - wylie (¥
Anled paseie (o5 bl b v ol cad e ] 5 olle 198
bl o sl ,15 5 45 Cand T oselatzl Bler ity ood alid g e IS -
s b3l g aalie Colid 6l mteo 5l 99 (9 9 9903 -
iy gy s bagle)l g iliie (o9 Jbli b 3o 3l asilyi ged 5550 S g0 dgame (228 (il 4 ) ple oS elazx (slagler -
3oy ol bl sgm 41 9 00t B 3> 5l eleizl slagler ol (e -
E-r-oe-e(f g-é-o-o (" -t-oe-EC w-r-g-e
Sl S yd oy sloasy 8 51 Syplas’ -Yoo
S Silail ) Gl @ blal polie 5L &jg0 3 wed (i slaodn ;3 (ol S 2 ()
ol B3| ol oSl o plonl S5s8 5 ¢ S bl o sl i (¥
Dpd Ojgo ilite GladSh b sl o el lagler o Ly, (F

gl oo Suogs 5l s wiaas caws ) (Ko 3 olie min T 0 0 D e claixl o slacl S1(F



@physicsjeiroodi

Sl p2d 3198 (ol A 392 580 10 00T — Ol 839 5
(&8 20 i%a'.y(? @ o SS0E o) sl (S)BB 09T 2515 2od sl gois 2l Sdliw 4 031> Fwly
70 G FB sloeio

350 (g Olul o oolyl g alablo 893 S92rg 4 (lgioe Bisb 4z 41 -Ye)
Al e pine ggemme ;o Lol Canl piylas ax IS v colils )b 5l ()
2> (S9yd Gaidl ;5 6,505, Gk I (Y
bl 092y (ol 9 aedd Colio jo lie cSLs 5 )b 1Y
el Gl o elal g aly oS code 58 55k 51 (F
To9:d 50 085 0340 (38 yme Sl 90 5l ) slacaslid 51 Splas™ ;o -Yo¥
Goses L (F i el (v s el (7 o el ()
9,10 o )Ll g clid Jloel (b3 a5 4y 35 plas’ VoY
ot | Ll sloples 5 lacglis wlys o (oo Sl a5 & ()
el e S5 e 4o JolS el 5 byl gl e Sl (Y
el ol g sl (g le o St (V
el el 2 3l b e i (F
iy S 4 Sl s Jid b 31 L o fpn plaS Yo
Wighs Sl g 5 - oy, (gla il gl dids Jle O
2l Slaciils o ganb pole - Cde (gl (Y
O 9 Sl g - Sede 63l wiglas Slas ¢ SIS (Y
ol dadls Jlowo = (5L sla Lonils - iz 9 g o9t (F
Fulib oo ol (g il b clids 35l )0 a5y 35 plas Yoo
s T o Bli 5l il oo 955 o 5 Ul e 4 Lo O
ogge LtT Slez Bli> 5 b sl OIS s 55 b e (¥
e ] dad 35 110 (5 o i o5 (UL ggi ol S by (F
Rsd Cule) Bime 5 pede Lawgi Wl a5 S )ls uelsd (g 5o (55 9adal 5 s (F
5,55, 0502 (52 yme {3 Sl 393 (gl o 3 ol s ol 5l (gDl iyl o 77

Ll (F I yaade (Y e Syl s ()

392 dz el iy uaaia)ly 9 uakelS1m 035 plle j0 ©S > 529 (pdy poe 5 (pdy Slise -V
y)obooyw_wbudoywa qu)h...:l_udyé)ndul.]a}(\
> Sl og pne - OS> o cdslie LB (T > Clll g pixe o e j0 LS o Jedore (F

Sl ooty (53 w0y 438 oS 10 (20 9 Jhe 8,90 ;0 ;0o olFau0 -YoA
SBISE 0 g 090 5 Jhe Bl g 59, 1) 995 (Auld 5 oale lacon L usde (O
I iy Byl b ooyl a8 plS g s el o L 355 plSo] dad o oo g i o9 wiiae ool (¥
el e ) Jol> cals saxSanl g 5 > somSanl Jie a5 5,5 @l Lasdle (¥
el 0500 4 55 Blate o JYaiwl 5l el 550 g 0gpd wlel paS 0e5 e Cagr e 0 LoDl aauds (F
Sl 0593 3590 plaS deais 1 wils oo i 5 Jie (5, Ken Juolo |y (\] 45" b a0 5l o Cals Jlas -
@ SO s oy aiile o pf o wa glaeliays ila ()
ool o el 5 ws8 o LS a2 5 1S i oz 9 Gl (F
Slsed las 4y Zdjne 55 Sldl a o )b 5l aS gyl e oS A cnl Gialag (F
WL s DL (m po5 alog (F
o ol o sl a5 0 2laglyz Sl el e Gl 5 28y Sl 25 O 1 50 S e a2 i (alalgdly Yo
@S Gl ol (e - Zalad 5 5o ()
w9 Bl (DT glaojem (aailejlo - Coalad 5 oot (¥
(5175 1S oSl e el 5 Dl (F
w3 owld Ll (DB slaojem mailejlo - Ll 5 Szl (F



@physicsjeiroodi

s ." . . - -—

Cld VY tioio Sl p2d 3190 (wolais A 592 5010 0903 T - Oliusli 839 9
Ot G (2T el SYBY OLigaT 13 Ao (5l w3 (2l Slias 4 93> gl I

&7 sl /8 9 JVaTund wlusS))
ST S 9 (Jar k4B
¢ - - a4 e - I _
(ém’w@‘gﬁeﬁr"WW) | w)o‘sLs...uJYM‘ Oyg0 4O ‘\.».3';‘&‘.&5 AR R

AF B F) slacaio

il 3olo 5 SVl ats widl golo SVl Sledie 5145 G iz ()

el T lge tes JYociul 8L ke Lies JYaral b alilie ool 5 SG (Y

g awls> 5658 hated JYaiul il oS el 95 Gl S 09z ai> a (F

258 o dlallie bl cel Lot wenl Jutad Vol sl Lted JYociul o a5 )] 5l (F
$o9d 05 wgmne anad 3late ;8 pj Ol jle 5l Splas -YAY

el 35 s Jlsss ()

ol 3595 Jd 5l 4z 590 (¥

1998 503 e g5 755 0326 (V

oS Ol b o cnl (55 & ol (F
Fogil g0 Aoyl apdd plaS Foo €Cwl dlgus o (s29dslo o» auad LIS 5 -YIY
s Slgs 2 (297l g (Y A Slgus o bgzeiily saw ()

A goelils olgw o gan (F A Slgas o lgzmasls san (¥
e Jol i sl QIS g IS (slanad S5l SV F

Al 3L ol ol (San g S S Talad ()

el ol L Jg s S Laad (Y

el O35 Lo Jg a5 Taad (¥

el O3 Lzt Jg sl Sy b IS el (Sea (F

Tl )85 a5 aludl 5| SuplS” Ko o all e dudd aBlie (Ggime (wSe g €l o Al @ 488 slaie (Ggtue (WSe Gy -Y1O

Ssime oS (F Jas a8 (Y sl ()

85 5y Sl plegl bl asy38 plas” s Y17
el gziils )l plus 4 o ol s el goiils 45 e ()
s 05 bagd 5 (phm €l 93,5 53,5 2 (F
s Ll odius g8 (pdn ¢ aitiugd odims g oLl gam (F
i ] Bolgly 5y € ks olgusly byl 55 (F

ol ©y90 4z 4y o iy (S8 QoS pgus g pgd JSB 5 Ly 9o oSyl TV
Eydye dadiia 90 52 ;0 Jgazmo pgd dadie )3 g Egdge Jol desda ;0 ()
Jgemme pg dedde ;0 g £y Jgl dodiie )0 (Egdge dosdia 90,8 o (¥
Jgemme deddie g0 18 )0 (Eadg0 dediie 53 ;o 0 (V
Eydye dadiia 0 52 ;0 Jyamo doddia g3 ;2 )0 (F

¢l ).lé.;é)}a &9..&5@ &QLM Lot ‘\-3-;; f‘és L -Y\A

Lol adliin CaoSs e djaode (A
il Gledns Ll glate oax (F

il go aandd Hlasaisls 5l golaws (¥
Sl yinn ol Sy i 4238 oS 114
W (788 gl pan s ()80 b let i pan il i3S sl pam ()
s 235150 B s el 5 sl 590 o ol HE Jag o a3 (531 ot i S (5 (¥

s b LB (s 8 ol pe (3

o) e i Sl (LB (S (F

i lseniiead lolie san e bedijeld bbass san (e olis guiz o (F

coade L pga JSG (Sl 8l lB S deade g0y 0 -YYe
08 Codie - gadg0 (Y Dyl hie - gebe ()
S, shie - Eaig0 (F Bl e - Jgezma (¥



@physicsjeiroodi

YA tiomio Sl p23 3198 Solais WA 592569 10 Ogo3T -0l 8395
B 9828 ansl (Y81 015 50T 213 God (513 UlGaw (ol 4 O3> Grasly swgl9)
JAD G IIF (slacieo S laidls 4z 95 Sz 42 41 &3ly )0 (euiS on g2 9cam |y (5,13, cile o LolSim ~¥YY
Glaal (Y ol xsles pllss ()
iy plas g byl (F 955 Jalge (7

o lo (Kiolan 093 Jilie o osd zyhae cle b &l jle 51 Syplas -vYY
Jos eolaibse ploxl 1o SIgl = a1 (o s 4 55k ()
18, 595 5l Cailes = hale (gla sl (55 JSS (Y
8, plil = Bae 4y ol e ;5 S > (Y
53 657l @le S5l (6 S sl = me Sua Sl (F
Scasl plaS 0l o0 poe 395 1y ()50 il g Jor s uod gleisl ogrg L oS (538 )8, yolic -YYY
ol = Jos sl (Solel - s-los (Y SIS R EV -SSR N ¢
bl = Jos sl (Folel - able (F )18 - Slmn - able (¥
Fol axlon iwlesl g (ciwlss ol 90 o (L5 b 8,3 (6 S poual plas™ jo -YYY
o pde 53 6 e Sl lon Calp 56 S i sl (Slmd (I35 GgmmlinSTy O
03lgls 5l (5599 5 Wslite (am 3 Laulyh oo g 1505 5l )l 50 92ty (63,3 S dalsl (F
Lol 2ioaBle i) 93 58 4 45 (90l s g (alsls &1L lpiedr (wlidoly) 5 Bsi> laaid) (e SBT3 a3 5 (T
S S (08 B yed )3l 50 Bl oed 4 (550l IS Lag dujse )3 ey S 8L IS el (F
$asS (o0 sboml STyl (322 4z 4 o )15 plomil )3 g g 2l 28I 9 Adlyoe 4z (LIS 9 S SThel g oaijle 5l polaze -¥YO
G - dame wales b Kiales (1
IS = Jos slp (Folel gty 5 (2obs polie b (Sualos (¥
S - 5 5 5k, b (Sealen (Y
@ - gl g 03lgils ozmen SIIL 5,50 (Saalea (F
S 3240 (S paenas Sl 5l any 38 plas™ -YYP
20k o) 5l eslizl (¥ A n slacasdse allis (O
5 y50 e gglulis (F w5 gl ol , il (¥
Sl Zrases any 35 plas” ;o caboloyl bLs )| -YYY
oleal S (oo celbl &l )58 )05 G100 50,8 S8 slara (et oS (S el S (298 ()
(S5 0 pitey (LaISie g 03ls Cews I (e ol 09 oo el (6 S el S (¥
el 1955 0 o2 oy b 005 (oo el (SLSU S g0y el S 0l 55 08 & L1 (Y
bzl i)l 0929 LLSI (6 S peal S (0l 5 155U slasaly 59 o (F
S (655 ool Sows plaS joToly o5 5oy 5 SLul -YYA
€ &g (Bl 95 &5 19,8 &5 axlss (sl a3 [ (S 19,8 4 Sy sl 955 59,0l 157 (I
“Was )b 1y Jie o i [ ans g ket g STyl ©)9i0m (o
il als (F ol - il (F iy - iz (Y ibte - bzl ()
sl Syl (S prmcl @lgan b bLSI 50 any38 plas YT
b3l slazel 15T o oty |y i g slanlline Sl b Lrdan 1o 05 o ;53 45 K55 59elutls ()
295 (30 yads SzsS 0 anlys 5 Tald Bl i WS e S5 5000 il (lis oo ) g o5 s (F
b (6 g 105 ga (2385 1y (e Sk e <O SLBLS hie Slulesl 511 Jdoes o5 IS5 e (1
Dbl 3,55 J 7S 108 (o0 glodjl e (20928 3,90 45 (69,3 b (Aillwgd Cewj3b 2585 Jodoay o5 (oils (F
00,50 Lol 45 glasd ) colae 40 yadd b aidsy Q! 5l g g S Gl |y (S aBdle 0590 didi) 90 (yuy 0gud j9u0m0 45 (50,8 -YY'e
Tl ouls Soaloals g4 plas jls oy o Ko 40,5 AlB ;o oau
PUUU I R SINURN TN exls bl (O
Lible Sialeals (F Gk, Soaloals (¥



@physicsjeiroodi

i 99 ST SUR B b8 luidy b o5 gois
95,5 ¢59cdS oy ¥ (6,05 B08 8,50 Lo b 0g5 (Sali (wled yo Loud by T —TAQ

2SS Caze 50y0 ¥ (5,105 Bus 8,b,0 Cugd ol )0 s (1
2 K bl pled (po by ey (¥
93 50 ol CapdS Bld 51 3 U5 o Blod 31 cyoy0 ¥ (6 IS Bt 80 Lo (595 g (¥

0)5 Lo ()3 ¥ (5,105 B0 Bylys (oo b Ly (F
Ol (il piled

Sl 48,5 a5 wlod Lo b (95 aibdS ¢yg03T 31 Lo oyl LT —V Qe
0,55 Al pelad Ll s ()
0,5 Sali eled oLl cals (¥
g (S g gs u jo Igime bl jlg (aido & v o) Sl Bl 5l Lin!l Jali wles cals (V
By e as 50 Igizo Blod jlg (aids & 31 i) siloj Bl 31 oyLial Sili (oled cals (P
Somiloy 423 il olod

$ed )5 lod Lo b (iloj 4z luiiy — VA
(2992 09,5 38lgi (wlod Cecliv g 395 9590 39 Md) L 3317 Gub ewlio o o (1
(2092 09,50 38197 (wlod el 9 395 990 5 Mod & 5 (oled cawlio o o (¥
855 plod (39031 51 B j9))aueds g5y 395 99 (¥
.l yS wlod cawbiol el U 39, 50 (F
$4a80 Wt i ol

feuble il wlod Loy b aids wim Lo oylucidy —VAY

ALdo b b addo ¥ (Y QB aw U aido S ()

aigdo Ve 3l i (F ALV b B o (F
JIt &y s
FUS oo &8 2 Ly JICHI 28y WS jo LT —TAY
0,5 polad &8 2 pOg5 Gluidy JIAI 28, (WS 50 39 ol caly (1
(2310 65 Gl 35 30 O 4 1323)0 5 oblgs & b 100 (liliy (OIS )0 caly (¥
S (503 &S 59 0l (yo Lol WS (o0 135 51 JISRN @85 (S (o (sl (F
S (003 5135 1 JUCAT @8y S (po sl (F
B0 & Eg it
(0guds0 £9 gbgn 4 Lo (0392 35 yga3T LT —TAF
D p0i ST el (ol (o195 1 4y (295l (¥ Sgbigo ST eBg o Tbs g 290 41990 50 52 caly (0
)10 092y aliiigr 9390 99 0 53 (P Lgdioad ST csls il pode (sl lgm 4 (255 mly (F
ot =l
Soigd oo iBgio dilSTus Jomo 10 o lie ol3eeliilo LT —YAD
i 53031 s 33 el g 2y Jo 50 3 lio Gllbgls (BT 51 oy gl (2 (3> 9) y905T E9.05 loj b ilimslio s (0
Jol5 job s & Lol g 0 culey (g39u2 U g gdgo ol (¥
g g0 Olom | Aogeod g log yuw 1395 AU 53 Lol wigdh o 0395 3,19 Toums g Wigd g0 ABgto il 5 lo 81,31 caly (¥

S sosdlons | Iouog paw g ol o 9 ouuls 4,5 L5 55 GlaETas Joxo (oUT (gly Lo digid o0 039> 5,1 Tomy y5Lio S50 caly (P

b=l 0
S oo 25y W95 1 590 903T LBlpe Couz g0 ,Shae —VAF
G (F Lwgio (¥ oo (Y ey ks ()
038> 55— ugeil bl
$ogub o0 0010 plR395 79,5 §03! 905T bl 31 B ylalbogls & b so392 5o LT —TAY
byl 26 (Y Db o0 0318 039> I 53 gojlal ga3l bl 5 S als O
oBgd s (F Wy (Y

39500 Ogmo3T
S o0 23] W95 1 39500 y30iT 6155 2 oS S jsbay —VAA
s (Y buwgio (Y o (¥ o L ()




@physicsjeiroodi

©

]

=

== ==

=

===

=

===

=

2=

G

[

O30T GUW 9T
Wil B > v § 4 ol )b

235k 5 pa3 lileny T O S¥l5 51035

ol et S e
l@ rsa 355 DS W 51 s damme plall et 20 ~US s 815 ik — 2 39l - oLl ol 5 pnl (pucns (1) o 6 3
e 305 DU Sl Sl csin - e Sgrae -3l N maall 008 10 - 639,00 b E e | NoToietr | )
lﬁ ree 35 DS Sl Sl Ciiin - S G (085 0 —0LKia 5 Lo )deme —lols) dumae —plunl diguome —@lolBT same | (Y) (T3 g 0
LT 2908 305 DS SWps 51 izt aln G ual 5 L b - kol LalT | (Y) il 03
lﬂ bbb S
l@ Olrost 4ablb . stie Lugs 593505 ysol sl peom dazno (V) b7 5 b
gkt mo) (Sl e el (5357 Lo aan st Luga Sl sl () ST 9 S0k,
l@' b5 3lie i) (Oliastd dabls ) pad Sl (5392m Lo ydpan 9505 el ol Jseloml s dans (1) 67 g b5
Olosgd dobld (i pub o w03l3 21 0 pgumin (5 pir (9 puuss Slaid!
l@' s dra 218 s 135 Lblb Shludsle i3 e sla b s tan] L ple syl cpuons (V) o1 o9 5 pake

(o155) i 9037 - (¥) 281 9 g poke

l@' Wssg phisl (Fame e (23 Lo jule 3l3lblb whbluds)le (s iz duaw (den| uotae (F) 291 038 g psle %
S0 S @l pune 1S iar At (5305 s derna (1) 231 g g pske
lﬁ ot e agans Lo) (5980 Jedeze dw s detms dgrme 50N bl il 1539 50 (B o5 0 (¥) o7 3 b bt 2
oo dgmmne ol oM pal ol (539 0 (B o5 0 () o7 5 ol 4t
l@ e Pl s el o Lk i BT (1) 5 (1) bibancts
S5l la 5 0195 b 15 ol L 55| o i il
] el e e Lo s L K b ooty
l@ Of bl g 9 Of iy ¥
Sbt 2y 939 Jgwo P d 0 Pl
l@ ol Ll ¢ Slyad 50 (5 ol (runs LS gaal; (il LS gasly b (Y) o 8
Syiye ederme 2o =5 185 =5 (N oTH ol e
l@ SLS 4 Lol damme (sain lulis iyl doe iy 2l doe (V) F8j 9 20
el st ~ i;“’;f““ e Sl S Shler () oSt o5
[q) ol bl e L o lip iy ol ' , ) Tt
il oo sl dee il dezs (¥) sboT 5 0L,
l@ Ol B e o o @l e sl demmae () T g o0b,
ol e o e ]
(] SR e . ol s (1) 4T 3 it
il st o e )
l@. s e Olostd aobls Olostd anbls Slaidl
e s e g i e | e g i T
(&I dae> (&I dae>
l@ e B n Slyile a3 Slyile o8 (F) o 598 g ole
G)lite 2550 Slle ola Slle olajd (1) o o5 g psle
l@ ool (Jatagy Sy edems o Sy ledeze 2 (¥) o7 obj st
Sy e sleamo s 5 1 =5 12 () T3 ok wst @
lﬁ e bl s I Slae i) (1) 5 (1) bibasolr
eolerh Lo S| ompe S5l owge Ghako g 4wl
l@ STyl o e e e e Ty
l@ i g 450905
(polaiz]) 595 oo (o dazme duws ((s0305) (S )gu0i0 dabld 0955 ko
E (olaiz)) sLals 1,85 d(sa90) Sog i S 58 425890 Jplauo
l@' (olais) (siiged 0,05 (sog0e) 53500 M 1dzr 5385 Ughuns cam Jgus ) dabld - 300 (Sjluicuo 29,55
(olaizl) o W ((h902) (57,0 0,05 T anic y iy >
l@' &bTanw L, o LG
[&]
[&]
]

5|5 &S]




@physicsjeiroodi

o “’;r:."’.),"g\ Y Axio \ Sl 23 3198 (0908 w}ﬁ)@:f 10 Ogo3T - bl ESA

SIS b Glowz 5 g el 5 P &3S 5 g 50 Sy I 2o ply
s S 2o 53k 55 9 el e

3550 glady ¥ qu i

&S olesThgs 995 51 icssd b wls dhard €V &S

el (Glowzr (595 5l 3l S5 D95 g Jou VP Ay 55

Shss Gl 5 (0sn e Sl gl o) TP dnS

(¥ dadw Pogho ¥ g, 6)

(51 pual) -9
ol Loy ge—ae a Sl 093 i 00d e g oB0ly 4 Sacds cus ol o
S8 5l els 5 cewl oo Laglaw] o (ludl s g a8 sl ol Sils
PUL I JU P PRGN S | RUNEIST IRV P IC Wiy o PYRLIEA ] FRp- JURCPEUR VA
VD Cy 0 0ad o gz 5 gt plo 1y o] g all oo ol G2alSol 5 oybog
oLl 5 by ialiw 8y90,0 «F» ey 058 0 0ass g s a5 Ll

Wlsyso 1y 5ol Faogd sl psthe o5 43S cnl a5 Cel T (Ylg
(19 daso Pogin ¥ yu,5)

(5ol ¢putn) .
50bl 2l 5 bl gz 5 ¥ 8038 5 I & )50 S yidie pogie
Y T FRELI B ET
(PF &iw Pogis ¥ u,6)
(902 37 ) -1
S (009t 1320 ,03) @y 13 B [0Sl B ol S5 el
58155 sy 1emms | (S 05l 1,5 < (Siho) w05l 18 fanes byl
s Ol ipgmme
(o7 ) ¥ )
(ca9n 5,7 A -y
[ Gz 72 5 i S a8 T 855 1 olSim (o spamge 11D Asy 35
5 3B 1P a8 T Al g il ((Sisg,8n ol
(o7 ) ¥ ) 8)
() -y
oyl Ceys US55 el (slalale
Caye e Co B ) 458
R0 € o> 0 KD 458
ole — Wl f» 43
(ol Mol ¥ ) 5)
((p90e 5,5 Ay -\¥f

el 00 A gh o 0 €13E» 83lg €» Cay 50 5 €p 15 B3lg €D Coy o
s el oo sloosly o

2 . L. . .
(w:J,u Mal ¥ (J“’/@) & sl BrpnevLy .cJo Dgae

(U//Mmi} [q/w) -\
3 gl S s S8 a5 (g 555 1 ol 85,5 10l 00 5,5 JsS

gy axsl 3Ygb
(wGe}ly i) ¥ ()

(Wssl; et) -¥
= cogl 188 [ 50,5 (6 m «58,5 (6 b ¢ siwsd iV lge 1 E5ly Cnyo sline

So@eb adglas [ Sy g FLE
(wGe}ly i) ¥ ()

(sram0 olgl]) -y
Load (o Boly e Jeor 15l Wil le DlolS s (D!
(ol Wl ¥ ) 5)

((sp20] puus) -f
(o5 5 ) Jlosl e Jlaml T o jo US55 el Ll
(IFF 5 IPe (sboaaso Yol ¥ w,6)

(s puol) -0
ol 51 S pgs Elman CSlo a8 Sl (Selge €pg; Wy I jolaie o> oy
Lo aon )0 5ol Ggmme (g2 0,00 LuSgol )l e o] el 00,5 (e
0l dd o Can ]S s BB g bl ped S @ Jlass Jg el le
e 5 P ko Con [l lo Bl e Las G s | et A8
45 el (i slaie) S35 slas o3ly ol 500 line ol a8, Sy 0l

35 celis il g ylae b (g 3,05 jea Sy ) Ll il (g 3]
(o7 g7 ¥ g 6)

(A0 591) -%
3,505 el plgal ol (s yms (313) AS}:*,-“]J-’
15590 slodiy ¥ g pid
£l ool gyl i) (oM @n foylainl 5 paseis 135S V> &3S
950 ade fojlainl § anseis oo ools gludl Covaseds (W55 5 4 Yy a8
ey e il po oLl Bodne luj @ 225 W55 S og BgSs
ol Julad i ol 0351
S s> ad ol Lo Loz wls €opiS» glize ;o e TP &y 58
S RS Sl s sl

(ol T ¥ )

(sram0 olgl]) v
S A KoY s | pyy cden KA Cop i3l Wl le ol 09,5 sloaiis
dald «z»

(IF &840 oy, @U; o (0, )




@physicsjeiroodi

S

il 23199 (o ges

w 390565 10 9037 ~Sbis sssx

(2 17)) ¥\

5 €Al 9 | aSiglas any allly | ass el Lyl lgial [ a5 SLus il

gl 5l Saged om Kptie 451 1od | WIazl3&s 3,8 «lgdyis o | il yaly
) oliala iloly €ab)sm [ ols aolys Ul a4y (Wglas) K pguity Logms Stlgh

(a2)

OliiaUe @l yl) -y

L a5 2 | s S alh ] 5,5 oo b (e oS

gk @Sy €S | aiaghs b Igafiid | mlass Slies b imla M on
oliel (sl o eV ol (B Jamlsze y0 sl Klgusiach

(ws4)

((s 1080 H92u0) -Yy
ALl €ojg0 51 45 0,Lal masl [ (F 5) (sladiy 3 3,) 8,5 Jlowiis |, Lo Lz yi»
(VaniS s)) alome «— (glalons (€F 4535 5 ) ol gummo €5l 590> § Consl

(4a3)

Oliple @l pl) -Yf

b og dlox a0 Wil s (T;'u‘;g) 0,50 ol 3l om g ilae Jad « Saclus»

8lyoil (Sle S yao a0l il sial Lole Jad o1 51 LS (e g el
20,5 doz

ol |5 e s 45 0385 witbge Cewgs 51, albdoli s i Le emo dom

S o SaS
(w27)
(o9puinebf 5t a) -Yo
Sl T oS Gloe 5 s @dly ol 590 45 5l oliel e
19590 Sl ¥ u i

lasl ad jar w8l 9w ol a8 w5 las Cangs liehe V> Ay S

BB S Lo g 2igd 2 Bly oAl 550 45 winls oo pliage 1TH 4y 3T
KYIRY]

IRCEL P P, CES DUV S FORPIRTEL PN IEPL SR EFY [ESR N EOS P4 o SVt 4

(1P9p20)

.

(SropiRbl i) _Y$

30L8 gl zygal (2ls 1928l o 3 ool g S (sloolgls 1o yglp oS (AENP

Dgd Cusro § OS> 4

15540 S0 ¥ g i

PR STPU FRRVESIYL (LN I S PORPII P C g P Y ECWPRE P SV

el 5Baga ol Gy 935 MW Sl S5

POSRIPN INES N [N A\ PEE P E S VSV 2 P (PSR RERPYC RIS £ 20 Syt 5

P olyen Hali oS

ez 8 jebas e 19 0S5 oo andllas 5o, S o Cele wiz 0y« Ay S

o35 oo anlllae celo iy b

(1Pop0)

(0908 55 ) -0
8,005 8929 (S 90l,b) Las Bl &), «V» &35 0
19590 Glod 5% Uyl
WS 0,8 calalor g Coany o9 ol 1> &y 38
« ki QLfﬁ)) «¥» a8
€GB (09 35790 9 €05 (Gumed Jodo (St sleBD Y &y T

pe - .
(o p )T ¥ (w,6)

(0508 5 ) -\#
0052 O Sl ed,S gl = ols ol 4y au LS (Wl e
(Uil e leSs) OB 5 (50 g ) b 1pb bz (o
Byl g paiS 0,95 g pol Opas liwls 4 6Ll el (7 Con

e - . . -
(7 Tt w,8) s D590 16 el i (8 S

(0508 5 ) -\v
€« .z o . . - W 5. E . s .
YR ot wiBed (p S e oy, 465 1 shog soeS 5
eg5 80 )l ool L caised Clas g )b lazg (lazg A xSl slacuS
Ve )b 45,08 (Gt (55

(IFF 5 VA sloatinr g6 @) ¥ g, B)

(0908 575 ) -\A
(adlciline o foles 1pl) oty (L2563,5 5 (6, 4 el
15849 a3 o
lolie 159 5 [ s s oilo VD &35
adlilas ig5 / olio : Jo YD &5y 58

(V) &8ss o6 0 (0, 6) bl ) LE o outiol €Y 4y55

(p02 5, ) 19
Loy s peld» € A8 Cn g I Do Sle S ilie pagde
el €l Clin g sy
15590 Sy ¥ o pd
009 Glast Olel B Al 5 S8 o €V Ay 5F
atiasgS | ol edgu] g la Siwsly 0,5 S 5« A S
Oles ol 5l o 598 g Wglas 4 39l (59, € A S

(Fr dabo Popio ¥ u)5)

(902 5,5 uwj =Y.
Sl Wole 5,5 Ay by of porw g 4y Iy 280 (B9, &V 4555 3o
il 0 0Ll dlas Lo die) 40 «F 5 ¥ Y glaanF 0 Bl

(15 daso Pgpin ¥ g B)




@physicsjeiroodi

8 o;,;r"),,-p\ b o \

il 23199 (o ges

w 390565 10 9037 ~Sbis sssx

(¥ b, s pwlpaw) -ry
oSl 1 o GIAnL Lo el ezl Loy wnla y €lisde»
oo Lo (sl 1ioas L Jaxd? [ uS 0 e S [0 35 pl !
o fanl | jeiasl b (oal3l & lize Ja8) raiton (GP [am0 oo ploxi]
90 03 Wl ter 1S5 ) ol sl ol

3 glebaisj5 oy pini

€2, 0 pliml (on S pl s xedy €p o0 QT» « 5 W slaay S
€ bliS pl o g €aied Zdlg pl il o 50 s andy (sl s
PR e «Q;oi» doz 5 €y 3 S P 40y 58 sl oL
ol azno (DY O jg0d) KD do 3

(24)

(b smlm) -vf
| Y AN [Wgis g0 K ygmam? [(L ] 10) a5 SluS € yo»
T, &) € g 3lally o Saslh gLy /1) by 3> oo
OB colaa (Cunl Jorio gl o 8,10 aseid Jrill cpe) 1 ygs >
3 glebaisj5 oy pici
9 €ailoasi o &yl palg 3D ol «a S Loy V> &5
il ol «as” Wil gl K »
il ol € blesal p g €aigiagy « 3,859« 4558
il 1ol €L Znlany g «aigriy Lol jb «F» a4 38

(a39)

(W pip (s pwl pa) -Y¥o
el €5 ) g aB imedy o giio g )lae 4 €Cgabyzy WO Jub
el oals daz 5 ailazilag é§93» JUETIP SO F - PGSR

(a29)

tedlao 5 33 (ko do yi

o=l g s co s 5l e b ol elgil 51 an b S5 059, 2 Lo
Ol 3 (S s 45 asl il g leands g sl o bLS )| palS o
50 sl (Fos; (Sis Kz 2 sy 5 dhom ol 45 ol S
WS 50 9y, Buan | (gl L) gl g 9,108 0

45 pelilan ol sl s sy Carabs 55yl el e 5l
595 2 O sl eslind gz Sl lil 5l (pam S5 sl Gl
Lol b s oo (phn ool 4y pladl o8 oo oo | 5l oo S o0 2 g8
209,18 Jile o il ol 5l L WS as e laiog EL o

J12 05,8 sl L agSo 5| ams a5 el 3l am 5 o] glo Lo 4o
S aSs ole sladiulgs g (o050 SlaCorez 9 Dluhe &)k
5 ains (sl Ay phB S e sy | sl dnsly 45 015 552

Sy > Lol a5 ws,S [Slys loladl l i ied aie (sl ulsd

(o 11) Yy
it aiallgi 5 I 55T sl lnarls 3l b Loyl 8 €F 5 ¥ > (gloasy ;S
0L el o B B3 g o S 3l o5 sloaitls g Jlgel 5l 5 5 3l sl

S8l (63 (oS 485 g7 (5 I (ool a5 el
(Ps80)

e e .
(9Bl (0 ) -YA
Syle ool €l S e anlesy WS e sl ]y 658, Wl a8 aalas L
a3 il 8350 &5 el Wiglas Bk 5l g5e, S 8L,
P glebaisj5 oy pici
e pliala s 53 a5 ) 65z Glaalagly b ansS oo V> Ay S
S JSg wglas a4 wb liege > d3E
ploslan oS jbilon 5,5 pol o0 b (30,5l 4y 1 0,50 )5 P &y 8
o5 el e clinls

(Ps80)

((Sr0a0 y9run0) -Y9
(5.3 — 5 plis) «lelinr & ol «@elior 59 » Wb Aelis O yaae
(el bs)

(s 000 y9u0) Y.
el dbiog Aoz (O 2xii] AP g 0,5 «Bolo»
3 gltraisjS ag pisi
il sl s Josb €8 o5 5 b )y o €Y 5 1> slaainiS
Aol aboy
el (i) 355 51 48 5,5 chogs 10 € a8 b 55 €6 A58 o
o
oS i e s ) See sl o dla 5| 5 S
D5 5 g €l
(44209 dag)

G L,ij ¥\

Sl S Lot iy oy )z p (b dler) €1l Lov

335 el e faob e | o] Bga 0D | 095 5 s o> [0y
dglas

()

(W b; splpw) vy
WJ-—T o= [0S o oolix | Ky gudiug? /Qlﬁ_‘,[_ﬁ: o9 :«slﬁ..d‘\/lf»
QT» JasS Grgs U (Laaljill 6 )Lae) Wlgadesnd [ o )b o 5l o b
a33,9 plesal (ol il g 5las) loaig,
P glebaisj5 aypici
Jsd & ygo 40) €Wgdh Big i Kyem? slod € awl YD &3S
Wl 0l €6 5 i g (Jgame
K5 5 i § €latn,d dadd Kye2d sl 4 €9 aal «T» 4555
il ol
Lol oo 5 €Ggas 6l » «aS wws leigy «Fr &3S
il ol

(24)




@physicsjeiroodi

5 i \ il 23313 sog08 \“’*’*" 10 39037 —biush SSA
Y Fj g e (A0 pio (5 paol ) -vs
~ BUCE UCCAIE 1% TSP S (-0 W odel e ;o 4zl 4 axgi b
(Pl @gi0) -f1 oS 5,5 ol> canb o B9 5 Ol S, ol s nus

Sl o)l Cuvgs a5 S o iaisle B e () pas plel 8,10 (0) 105 Jom,
a3 ¥y (Jglas) 55 BB 5 ald, 50 slobs 5 Jo ol
«(ede) .31,4..\...» |) (@c) yac r:Lal

£ . /'-
(172 @& AV (o> q2254 (JW; 5 @25)

(G 2lo, roas) -ty
ly p3Y (Sl jels plfin j3 wilgi oo SaS 4z o5 sy ol @ Gely o
ot dimo o ol o] sl 5 5 45 Sl S wyl Kol oS
Lo wadl ansls Jld 5)0a> 3o A )0 (Jbl 5 3> (ol 0,05 5 (eloza]
o B3 elond ezt (b Shg (09 9 090 el lie p3 (Soliw
asl odilygp 99> o1y SlaSTy o

- .
(17 dadwp ()5 422554 (JH; 9 x)

(a3 10) -fY
A Bl 08 2 55 ) 2 Al e ) b iy Bl ey
U558 e BB 2l 8 il 5 i S 5 gie Lz U (o o2l
5 5505 1 aond oy U1 bl e 4 GBS Ll Al ) Al
il BT sl 5 3558 QT 5l g i oo 0uiSTyy 55055 3l egog: Jossr
Cosgs 1) JEAS S5 a3 o Les JT95 I 5 (35 el (97 9 05 b
Ol ey 5 Sl 550 BT 50 () 5 sl Slacadys 5 iyllsg €l
el S5 5 p3e 0 jgte

. 7.
(AF 5 1AV (stoasdeo JO () @253 (955 5 (25)

(o (5 o) -Ff

5 ol gl 5 2,91 (b Tpinid (801 e 35 03 9 5l 5,90 0 &

58 Nload 00,0l gl a5 Sl s Sie eedler oo Lo :;;,,..j)\y\ MA_-;D
Lo )18 () Ols 1y BT 5 s )8 (o) Olilgin 1y QT 5 (e

. v
(1OV daiw A oy 22556 S 4] 9 @25)

(G o, pons) -fo

Aol S o o)l 1) Hle oS> Wiglas (e a5 wadiae (e b plos

Qals 5oy olls g Ul Jae 5 3> 5 28 salys JloS Ceans 4 0 SV (5
Sl valys b 3> cavsdy ez 5)lol g 0l

£ . /'-
(16V @as0 K o> q@2554 JH] 5 @25)

(s (3 p0) -¥s

S e SanoltS il 5 5 i 33 5 Slas S 05

OBer JloS 5wl Ay (ad w2l (g CuegSm Bl (g el
Lol 0500 Gl (BlyF 3 5 lo 05,8 Con i das g (S

(90 5 7P (stoaains I w5 @235 S35 5 o25)

P glebaisj5 aypici

ol a5 ccul ol Gl 5 211 o gwlal JJo» > 458
el s yob el 00 )5 Carnds o 50 4 pladl

olsd (sl Gl o e 2o g poye laatulssy oy &8
el s yob Wil s 51 (6,100 Ay yo

S5z Glr ool (sl @ el lacagSs ooloiy P Ay S
ol eyl Wlaisges Slilgas IS5 5 lis o adad g Cads o 55 5]

(qutha Uj))

(A0 pin (s vl ) -y
O I PN SO FY= XWX SN SN [ IRONPC S o BN 2
plhSaea dloa 035 48 0 a5 cds coul«luil Suiy p canlb

WS ges Ol |y (pliee 5 (olol (29500
(qtha dj))

(A0 pi» (5wl p) -YA
Hlailole cod pay il odd Cosro iiselpn (yie ;0 a5 Slegdge
Clacdss 0,95 13 5 OISt dlow] e wanbs g Ll oy bLS

(calks S)5)

(0 gz (5 pwl ) -rq
ol 00yl c0dds 0l azsl o S Bk sl &2l e o
ol Sl ai ol 50 LaccagSo (5 p azs] doad dlaany 35 o jo
5 4ol Gla 5 ctgim lp slaas (S 40,9» «ailools plo]
loael (e 40 45 wited legoge «llgs IS0 JYo»

(ks 5)

(U 2 (5 ol ) -f.
Olsie dn g Gnog sl (G )T 5l am 4 0l (6o S5 il JLoo 4 b
Sl G bl lallaeh Ao aSipl 4 az g b sl ool alos g4 5l Caio
alox g9 5l Chmo el 03,5 Ciogi 1) T 5 ool €MD 5,55 oo

P glebaisj5 aypici

o 0,50 ol Dol asy 33l jo I &y 58

oz @l €8 asl Lol cunl 0,55 €iiale dudoy 4z 51 4Y» 4555
(J33 5 0,50 el i oS 30 Wb el 00l € ZEY 0l dbog
s oy Gl o D aile By >

PSR PO b W PIRL  BCE p A S 4

(409 dhos)




@physicsjeiroodi

,:—/}B

3 dﬁfs}g\ Y iomio \ Sl p20 3198 o908 w;g;@‘: 10 03T ~ Ol ESSA
(0902 5,5 u.)wf -0y (pWolT ana0) _fY

@ o |y Gagd P inle b 2SI Al 5 (8) (e miegall
i g 8,0 b o) Sl 1) lisalsl 350 o3l slovs « o 55 ()b jtem 050

CALS BB g e
(AN &2 A0 (w)y 2254 )

(p90e 5,7 ) -0Ff

olidigley g Jole doiily i Ty g9 Sl g2 po Coegpia Siie by 4w

Syg0 ,0 45 ... :\4515.1\ :’;a\,’:dl Gl Cons 5l o (wliinyle) a5 ol (o
Bl e culspy BB el wax slaslys,

(VF 5 VF (sloaio I s 22534 o5 5 )

(ca9ne 5,7 A -00
Lsas as" ab oo aalsl )Jédigffédlj..\.zjlﬂ G YV Jl 5l 6,08 cd
3925 5 JolS (saieoype 5 ek Sy (Swls gladl dsel> Sl bbb

S gy 1y ol C o3
(160 5 19 dazo AV (w5 2254 u’j“'/' 9 @)

(908 5,7 oS -0¢%
Sl 525 (@) ooy plel (658ll 2oy 5 CaagS Sl S plyge 50
S 4 pazie Ll 5l aieo g g S (3 pST 5 Bilae oelad g o
Suelal dalog cnl plodl )3 el Glaal (3092 005) & witne 515 98 00 ((sne
98 e sl L5
Gl ol 5 Sl el (sl amelar g 055 (3,5 ebol e ally ) (S
pae e 4 00 5, 50 wiles S og e Sl L 093 (S 40 a5 LT il
5 P S sl () e Sy 4 (O) e pd aile (Sl
Kptiin b ool Lo oo 5 g )05
(19 5191 101 (sloaaieo ¥ 5 IV (5l @257 JHj 9 )

(o9ae 55 ) -ov
Sy Wl lioke dad g Kpgogd lg 0l sl po e a4 yols laie @i does
e 88,8 IS (po 5 S @55 il (o, 14658 5o 5 4l g pliel ais
«daslo
i pliel [ (ool glp] (Kot liage &5 25 0 9 )] Aoz 5
5 Ssaler [Geae ssboar] 1) o (3l b g pliel bl 5l ez (o552 5l
S U1 &5 0l s e | lap)] WiLiS3h (hss psd som 4 45 o]
Lot g [ )l a8

- .
(V1dadeo P (s @255l 25 5 @2)

(p902 5,5 )t -0A

O rmte Cddal> & Slo ailo) plel Bymy o 5 Slo oy iy 8 Cgas ulul

2 9 Sl T AL glgla s 5 conSlo g il i pllss adlalr (S5 Sy

2 Sye i 0 g o T |y adlaly (Fuj wpdn | Wl cesSe S

olre 4 SLS (o) by 3l e Cel (5h5p8 2Bl vl culal>

Sy 5 ¥ g Kepd pod g el gyeld g0 Wiglas Cil> l «pleby

sl (55975 565 Ol 3l G s 33 590 Ol Sl oy 5o oS Cansl
Ao dalsl

£, 7.
(1719 AW dadw K uys 22,4 JH] 5 @25)

5 et SlaciSe don | ez poye & WS o0yl Sloj (@) yas plal

il ollite o5 anls by whad all ol s cdle )iy ohess

el 00 ol e )] (s9m 4 0050 Slo s ciles S

Sl fasle 4l o blabs g a5 WS e ek boj (@) oloj plo

0 S a1y ! oz (3T 99y 1 ST (koo e 5 p5es S o (Srsls

(F 5V gloay s

5 OlrStue Ll 02t o ol 550 4 (95 b p e e 42 5T (2) (o plol b b

(F9) GoanyF 0)) )55 g0 TSl Zolgs 4 oS sl g0 plol Bl yo (Lol

Dgise Jal Gleasl slaie (o Lial 855 az g 5 Al 5 (@) ol plel ysels L
(190 5 F sloaaieo I (s @235 S35 5 e5)

(e -fA
Y aad o ) e oo ol 1) 4 Lyt F cons ol 5 () olo pldl
wale B e Godm ol sleiil ) g oYge o Tutas —F olggd Tallses - anyol Ladl>

Sl gy il 45 €Al (69 m 9l 51 45 Canl p3 50 ¢ pm 09l ol plgallsn

sl POy 6';»
. ..
(VF dado AF () 2358 (JH; 9 @)
((ﬁ{(){(u’i/ Joho) -f4

oy Bl LS ) (Saegpta) (3 50 40 (s Bad 53 Lulyh o5 ey b 4
el S 5 peloms g yol ol et 5 e el
2odle 5 Sol Ojpte bl 6 madd (488 9 ey alls 5l (S
Qg Sygo & plls Codas jaseis posme dlex | it slaslys ¢ ol
RO (58 D)5ie (5 R 4

(AF 5 IV sloaain 40 5 IF (sl 22554 S o)

(o lo, roas) -0
g Ceol Syt ool 5 4l poje (aliem 5 05 Lo (Ml ZuagS g pllis )
els aaly55 (68,5d oDl CangSK (T S e 5y g
S il g Barme el dibg (S e Lawgi oS Baalie Dygo y3 S
s S el oo ol s gy b 1y (e a5, S L)
Coos 4y dnol> Colan g Wilay 055 losiiy 1) deal> ol Bl dan (o) a5 058 o
053 okl assle o) gl (oDl iyl

. 7,
(149 5140 (sloaaieo 10 w5 @354 ST 9 1))

(305 57 ) -0
ade 4y wighas bl il goi 1B s Com 5l e inge B () (e bl
[P UL..;LA 3 S S99 )'l |) LmGT ol ) QLf..ij)a.)Lg_)' 9 leL..}‘ 6)5-“1“’
3 e
loles 5 plan 51 o)l 9 poye oo 5o 105 Camd ailoiioo Cizen
Ll g g e B35 ol 5, G, T Gl - S e e
. 7.
(101 5 100 (soaaieo AV oy @554 SW 5 )

(oasae 5 o) -oY
o b el Slodball lshee § oSie lgial il dll aeg> &7 j0 wiglas-
Wi o plovl wlo Joe a5 S8W 5l oyl 4 e 0ald e 3l Calseinl LS

3oy (e 43 (Sl Baey
(16 oo I (o, (22554 i)




@physicsjeiroodi

ke s - ™ . SOAA T e ol B
y ’r:_',),'g\ A dsmio Sl 0233198 (0908 w;ﬁ)@u\é 09031 —Obuls °)A
(A5 o)) -50 (0508 5 ) -04
Camloyis Jol Lot Yool Lot (361 5 5395 51 s o, plKi» salax do 3 anslr o el ligies 5 s Gl (gl =Y 10 pe 4y e iy illsg
6ole gligas eenl G5 51 Jie Sl lonnns 1) €omle iy Lass o5 00 ool @S pads -V O 35h I 6 pSsl g ppaS Plital Lis Y
Coyoigy (5455 50 (o b pous g lol ] e R
) g Coliial Y cloinl Swupr 5 Suasg - ey 4 Cad poye il
Sy (Y oy (O _
o eSS lie -F cloizl g cubow sl 8T 2ol538-Y OMSiw il o sl
Ssd p e Swd polio (F Sle g (¥ . -
p sleizl Blaal 4y ols coglgl -0 Ko ol
(U]5) . . s,
(IA7 G IAF sloaatw O () 12228 SN 9 @)
(lpo (ppes prol) -5 (osae 5y uwj _s.
o> (¥ ooly> () e RIS (Gl e 059 iy Jole 93 ) i)l Jobo 53 dnrth dsal> ol
oS ol (F Odls (¥ 555y (6l il sy BanT (o ol g il gl (Folel 5 1yg0le as oliel
(lls) (ge) yae plel 2 2 25 Olee ol 5o Soilidl 5 Sllae (A5 L
£ . /¢
(7¥ dadw AV () 2254 JH; 9 @)
Olpo s p0l) -#Y )
: : ¥ ol )
Ladlg (Y logazs (A
Yz (F SLals” ¥ ,
¢ (I ) 51
(2 lia) W L s ; . . ; L
WS 3l bt oy Jeds 4 oyl cangs a5 Lid o ailer ales dex
Lol plosl 51 L ailss oo aseiali o] 5l Ly 5eS aS ol 5l (glaiged
(olpo (aumas pnl) -$A ol )lsil )5
s (7 ot () plesls (¥ il 950 (4
L (f e ials (Y
slazzl (F b (¥ B weis pendati(
(©U7ly)
() ’
(50l Gx2liT) -5Y
Ol e psol) -#4 : . . . .
MalS” slapsl 9o ;o Lo Lol gy smime oy (0L Dlgz 5 ralex dam 3
D092 Auly (V 085 S50 Cogr ol (Su) 48 wisls Bl 3515 4 o 5 paog: slsos
il a8 (F ool asseis (¥ Lo Skals (v ehla
(4)ll8) g 4y (F Sl sy (F
(©Ufls)
Olre (s pol) Y.
.
. Y -#Y
ailase o (¥ S92 () (W )
s (F S5 Bl Sl o b e S LU (G U1 s oz 5 pl)] slad alex dex
(Wu:) Cols o plid aled Al jo laay
o8 Jls (v 505 e (O
0,5 bk yels olas (F 05 o (Y
((p902 55 ) -V (Ufl5)
«Cayls Juo 0ged jion g laie :d alez Aoy |
Cplos,yg3 i aw SLd o Siie 45 i (5 o) o) _$¥
w99 oo &S 6ol Ml (50 6l linim 5L g 0,90 (nl 50 g 05,0l talaz doz 5
J= Jls e 5l sk &5 el ot S5 (nl sloaler pogho 4 azgi b €5 3939 395 b ol e 5 hluns slaSa > b ais gy
Dg g BA> el ool AT oy a5 €V 45 5F msgl (I b S oolaiul g by (¥ ey ) ()
Jedo Cpa 4y g azil 55l Jgl Gise pagie b ailed cas 55 «Fg YO glaasy 35 38 ,5b e (F 5,8 4 pasie (¥
7
(ol S gl e S, (U715)




@physicsjeiroodi

2 Jir‘_’,');'é\ 9 .iio \ Sl m23 3198 (0908 w 392588 10 Og0 3T - Ol ESA
(asas 5,7 ) -vs§ (oasae 57 ) -vY

A Cwd)F s 4 a8 5 e wiz b Al 0,3V ales dan

€l 0ads Glosse Glloga 5l ol pdy sobel i, o

(¥ GG
Semsd (¥ el (¥

(@UF1s)

(o908 5,7 S -vy

CIUS o oy 0305 Bgan 3l ((San)) Gz 4z 3 50,0 iy o dlax doz 5
€S oo Wl o3l bgue a5 Laii»

(Galks S75)

(98 5 ) -YA

Aol e cbo o3l sgne )....L. Jds a5 anegd (e oo e 3P il dan
Cogd @i

(utha 97)

(90 5, ) -v4
PS5 0o, W LGS ez e 53 00l (3)15F dallae ;0 sale dex 5
«Sogy 9,4, Cubs 4y D
€ausils o3l bge &iljg, Bras g ariilas Cobs a5 Slus»

(utha dj))

(()*"9“9 > uwj -A.
aslllae ol Jaemin a5 (g0l 81 8,560,015 8 lsn 3l SplaS» e dox 5
9395 o 00negd (yio 3l igd o

€250,955 allys, & ygot |y 036 Bgee ) Sluss oo LoD

S ) 00 Bl o0 17 1z 9090 1l tlor doz 5

L (5520 Eyd90 1z oS LS 1) Lo (oals ad) )5 b il 1
€S 5o whlo a5

S oo LSS

o=l 5 Smuch” & o, 0,54 “a foW” oS Cido cpox J2b g gaz ol b

(pal T el by 54y Koo sine 4 g ol 3ol 15 “more” s

)| -vy

«Sgloay > xS 511 Loy @y 5 o] 1l ez doz 5

sk ol 5o waz sB93ld o s o

ey ]

1l 5 el o plol ypiSTh 42835 51 L a5 81 0,Lal e 45 ol Jb e
50) il JolS Jls anl ades ey el ply ol Jlo a4 bgsye QT SN
SweS Jsd 5l anb lasl “where” Jie iy SledS 5l an Jls sloale
Jeels 5ol Loyl jo a5 «F» 5« glada 5 (o8 (ol b oS ool ol

(Ngd oo B> )ls (5,5 IS5 5 owl 0o oolaznl

(,,ﬂ),f)/

(0908 5,7 oS -vf
= (shwse ol pon 4y Dlas sla iy yod a5 Cunl cpl p sliieh ialox dox 5

€oyls Loty lowz oo 5 (83 Cudls p o2 (295 30

eleiz! (¥ 2050 ¢ ygeinn ()
aBdles g0 cosllas (F Slow (¥
(@Vf15)
(902 5, ) -Yo

Cadl ;4 35 0 50 a5 3gd 0 0318 e Cenits Jore il ialon dax 5
€ail coly Wb b Jaro o35 oo S8 (ro cdod I Sioge 1P

g8 sl (¥ sl LB

do2 3l g (¥

Sl cews (F

A
(©U7ls)




@physicsjeiroodi

N\ (il g0 (ol N 94 25028510 el ity

(lsosgs 4ab6) -AF

=

ml?MT)owijL:AY=faee+\“éeo+fooo+"boo=\fooo=\;°°
YHEHYH) Vo
_ (il s pon) -A\
,..b_ﬁ_\f”_,‘ NOT
Al === Ao Glag i Df,g =Df NDg ={r,¢.5}N{¥,¥,7} ={r,5}
. - 000 oo ) oo f+g={(v,0+Y),(F, A+ V) =1(v,V), (700
o)_e)za.m!)o:f =Yooo“ub =Ava‘? =\—omM =Y0oo 9 {( )( )} {( )( )}

= (F+g)xg={(r,yxY),(7 10xV)}
={(*\¥),(5.120)}

(OF G FO sloaaiw (U (F) ST 9 (00,)

s 8 a8 b oYL anel> ol 3l des

(OV 5 OF (sloasn T (V) T 5 ;00,)

(©lospd <abls) -AY
(s s sasi0) -AY
YooXYO+BeX Ao

W sle ale =, (f, +,)0) = £,00 +F, () = ¥X" =V ¥+ ¥ = X" +¥X+Y

Ydoo+¥Fooo $8oo = +f)(Y)=rxF+rxy+Y=1A
= XYoo= XVoo=Y/\$Fx Voo =Y\$/$ )
YoootYooo Yooo (f, xf)(X) =f,(X) x f, (X) = (¥X* =)(¥X+Y)
(710 03 sloaaber o UT (1) T 5 94)) = (F, xF,)(¥) = (P X E ) (Y XY +¥) =1 1%V = vy
YA
=>f. (V) =—
(s ugs) -AA (V) vy
Y SO (OF U PO sloaaio gl (V) T 5 500))
Sy ="
'Y )Lium YooooX\YV (Gorl,; pal) -AY
—=—:>)L§4_, VPP =—————=Y¥foo
Yoo Yoooo Yoo \ , X>oe
= J.CL» e =Yoooo—"fco=\vfoo)_£u' g(x)=5|gn(x)= ° , X=o
(91 5 9+ sloaaso T (F) LT 5 00,) -\, X<o
1
— ., X>o
(2t ros) -Ad -
ol sl 035 aio o Fo uly AF B AN Jlo 51 ySans Caogd o5 (E)(X)=_9(X)=<L | X=o
b ol s (@) 1) Jlo ay o OF Jloo sl f fo =
-\
fo - I} X <o
(\+‘—)x\oo=\\°o -
b el ol A Jlo & S A L T X
b Sl Rl 4 S PP g
=>(?)(X)= ° , X=o
SA Ll L LIV Ay © = av \ X<
= —-—— L — 00 &4 — = Qo O il °
77 e V¥ ’

OF U FO (sbbaasw .U (V) LT oL
(716 0A soaasw bT (V) T 5 0U,) ( slads g0 (1) 75 0)

(ke lups) 90 Gowly; paal) _Af
Sl b el = [( oo lalS a3+ dlea o ol Sasi Ko ) X 0 / €] (%)(X) —XLED %= X+ ¥
=[(V+A)xe/ ¥ ]=[vaxe/¢]=[1e]|=1e ()

v
= 2L =X+ 8 g(X) = (X—F)(X+§) =X -
(9F dnbo o7 (V) T 5 L)) ¥ +¥=>9(x)=(X-F)(X+¥) \#

= (fxg)(=) =f(=)xg(=) = (-1 = F)x((-)" —1%)
( (¥) 5bT g oob, ) =(-0)x(=18)=vb

(OF 6 FO soaaiw (b (V) T 5 b))

(s lugs) -0
oS 3 C et jllim Sosba D o A s ) aw ol (owl,; paol) -AD
YyS e aS 3ls 3929 A>C—>D L5 oSS B s ELS) -
o OIS 9979 Pl caaiPl o e X _
) ' BMI=M$YT=T,2X=YYXF=‘W eSS
oS i Gb YXY=F 000 Jol b (@rore) 8 gy \

(g F G ¥ sloaio Jaial g b7 (W) T 9 dl,) (91 a0 T (F) ST 5 i0,)




@physicsjeiroodi

\ il 33158 uobeaiis!

N\ W3985 10 e it

(G5 s pial) _ay
dcgazmay) opl 50 F aSiyl Jlus! sy oS o0 oolanl peite Jloiz
S n 05 Sl Sl 59 5 S oo dlne | S

n(5)=[°]— ol _ox¥_,., n(A')=[:]=\°

v) vyl oy

A\ Y Y v
P(A')=—=—=P(A)=\—P(A)=\——=—
(A)= === P(A)=1-P(A) =1 - =~

(FY 6 P (sloaaio (Jliel 5 UT (F) T 5 0L,)

(G921, pial) -2
N(S)=sxsxs=y\#

Lol dod S o0 (29 lol s 0 oo ooliinl poie velicy

g el LS
A={0AN),(V.Y,¥), . (5,5,9)} =>n(A) =+
= p(A)=@=L=L
nis) vis v
VoY
:>P AI =\—P A =\——=—
() ) ¥e o vr
(Y G PV (stoaaio (Jisl g T () ST 5 0L,)
(>9800 L p08) -4

Fomaz laoaslz b g (o) p g 9B (5 S domt @l s
Ailss GRS a5 S o5 glaasli
o35 plo (o) 2
(ool Judois pl8) aools 185" 5 50 «T» &3S
(ats Gl ) aline g €T &1y 5
(Ss2ebin g gob ) 6 pSojlail (S5 FP» &y 58
(KA G VA sboasio sl 5 6T () 6T 5 00,)

(>9800 Ld s sss) “Yee
loosls Bis (s ,Sases 5 Cou pl8) Buz ool )b s Sy
(Loosls Judows pl8) Lo lxe g (odls (55LuSTy 5 (5 510,5 o15) oolidlygo

oW

(PA G VA sboaain Jlial g U () T g 0b,)

(s, |

(&7 Jestowl) Vo)
w50 295 90 @ sl 4 &5 Sl b (WG 3o Slags; Sl slalal,
3 shls 5 il i glabal; ST a28l3 2lp sl sloadlte lote
il plp gl pge slaailse Wb Wil plp Jol sladilse b <550 255
(v.a+),(v,0):cl b F>a+1=0=>a=0-1=¥

(#,—¥),(F.b=)) el b FbV=—¥=>b=—v+1=
=>Ya+tb=A+(—¥)=0

7V 6 09 sloarsw (g (1) 6T 5 04,)

([ Glides o)) -9y
g |y slael pl (lgi oo 3 slacdl o
ABL Y S o5,
A Y o
X—X——=

\
Vo ey
Ay f Y \
Y) r

eyt M

Wb P o3,

fF Y\
Y)——X—X—X——=Y¥
{o.v} {#}

|
B N PR LIy
(Mg AU ¥ sloaasw (Jlisl g LT (F) T 5 404,

(G5 st paal) -ay
s oasle L By V3l By ¥l ey Gt Lt a5 € >
aolS G, > F ol L gl e cdb B a4 e g oS Sl <>

Y=\
X¥Fl="FAo ol
v

(16 A stoaaio Jlial 5 UT () T 5 db,)

(Gorl,; pal) -af
a3 (et ool sl L 0 sae) malazlse o)l ol G L

el cuS 5 e b SS
o et o =\ I o! OXFxY! \
’ ¢ f—\ Y yixv!l  yxixvy!

(16 A soarso (Jlisl g T (F) T 5 )

([ Gtdo 2s8,) Y
Geal o s cdl Ve v gasply e Lcdl £y Wb go slasl
o ] S8 S,T ool soe 50,8 b sae el
n(A VO o 0
P(A)=L=—=—=—
n(s) #xs v& Y
(P16 IF sboanso Izl 5 67 (F) 6T 5 00,)

Gokly; pal) -4f

VY degazme cnl g ol {F,0,8, Yo} fegazma 5l sl sae 4w

)

slacel o 5anb BT asdly Jol coads Ol sae ¥ pealss o (8,10 5

HRURSIRW:vS

7
n(A)=[\“] Cls medlys 5 Wsd Ll 8,Y,1,0F,1V,14

[’] FxOX¥
:>P(A)=n(A)= v = AR RS :L
n(s) \Y VWWXV\P XY v

[\“] ¥XYx)

(V10 IF sboaaio Jlial 5 UT () T 5 00,)




@physicsjeiroodi

\ il 33158 uobaiis!

N\ W3985 10 e it

(W 3bie (es,) Zvey
ool sl plsd oy 5l aS o ple Slass (s, 00ls (5,900, 5 Iy

(W 5 W (sloaaso 5,67 sloeyly b U71) T 5 5o0,)

Ol o ) -\YeA

e ylo ol o

XXy Xp F X Xy
o
= Xy + Xy + Xp + Xg + Xy =FXO=Yo

i:

eyl dpax slaosls o433l L

Xy + Xy +Xp +Xg + Xy +F+Y+Y =Yoo+ Yo=¥Fo
<!

o, Xyt X, Fo X 8
X="—A=—=p>—=—=\/v
X f

A A
(1oF 5 1ol (sloaai o5, UT sayly & U71) T 5 0L,)

(I 3bida o)) -1eq
YO+ 5o+ VO+YO+FE+YF+FO+Fo  Foo
A TA

oSilse ol ails ol g3 Wmools olawi g2 oS oo i pa |, Laosls
el L 83l g3

X =

Y0,Y0,Y7, fo,fo T, 20,Y0
N

o+¥o
4_;@:’ \‘f =Qe

=4 C)’ﬁi;lﬁ-‘+45L,:-b=b°+bo=\oo

(14F G 1l (slbaninr 5,7 sloayly b U7A(1) T 9 b))

(lhosgé wbb) Yo
s ool 0,8 ool slasi a2 1S s0 <y | Waosls

ASAYVIVAY, WY AFAFAV ALY

o e

Q=1 Qr=17 Qp=1Y
o )l |y Slolyd o iy oS coul glosls we
=Y
= pr-vy|=-

(1oF 5 1o sloatinr o5, T slosyly b U7(1) 0T 5 100,)

(s U AF (s pwl g 0] -
SLaVIS g, sla il Ly 51ty slaVIS el slaol p (5,028 31
L g 0,5 alols (JgameSs cundg 5l S (5555 1, 095 S0l
wol J3ls 5o 1) lals pan el oSl solazdl wax slacy e Gl
A Gl andly iy g Ol s slatdl 5 (5 y5lid g ple 4 5 wiS

Dgdige a0 solamdl plSoil 5 Pl Condy

(P> dador ol SLad) yLaidl)

(e tido es,) ey
F()+F0) = (F =vF)+ (' =)
=(1#=Y)+(1-))=1F+e=1F

(Ve U 99 (sloaaao gl 1) T 5 01))

(o9 Loy psan) YoV

(=Ve) ddais 5lasS o pbd =V ihaii o1, Lo Jsb jgome a5 o>
iopl b S oo Bao b o alads ol Slaise § 9,35 o
y=(—\+fa)x+\—>('"°) o=(=V+¥a)(=1)+
\
:>\—fa+\=o:>—fa=—v:>a=;

(VAG VY soaaiw (b () T 5 0l,)

(G941} pal) -Ve¥
R(X)=X.p=¥fo0X,C(X) =Yoo 0+ YoX"

= 550 P(X) = R(X) = C(X) = fooX—V 000 —Yox"

= 550 P(X) = =YX +Foex—1o00

b —feo _

b _ —\. Sgwali )0
ya Y(—\' °)

e o0 )|,

= Xmax =

Prax = =Yo(1 ) +Feo(1e)—1oos
=—Yooo+¥Fooo—Yooo=Yooo “\>|5

(A7 6 VA slotaio (&0 (1) JUT 5 dL))

Gowly; pal) “Yod

Ls 3slee 5o 1y o] G 0351 Gty 1) oo o]y Slaies layl
_x;-l Cawddy k Slade b oS oo &, >
-b ek

y=X" —ftkx+1=> X, =—=——=Yk
va y(Y)

Yo = (YK)' =k (YK) +1 = tk¥ —AK" +1

JAb e
230,18

=—tk"+1=S ¢
—fk’ +1

S oo I8 s dslee yo |, S 2 9 Job Yl
y=x+1=>-fk  +1=vk+1=> k" + vk =
N
vk ;1,55
K=o
. \ )
) DK plieggem= ot () =——
_ A Y
¥

S YK(Tk+)=e=9

(A8 6 VA slotaso U (1) JUT 5 00))

((Prvpreyy) -\of
45 Sgye A yde & ez oS Sl () (o2 9)90 (ol E9090
(W 5 A sboarbo (5, b7 sboyly b U 6T 5 0b,)




@physicsjeiroodi

\ il 33158 uobaiis!

N\ W3985 10 e it

ez 09,5 03 du |y 14 i8S o e LS jarli dlxe sl (@
o, Vo pg g p90 o Jol GlaSas plpliy oS oo o (g5ls
D55 g0y |y 5eiS Cumex

Yo

N XAA,°°°,°°°=YQ,A°°,°°°=Y6/0).?Lik')}.:.l.:.n

ol el o0 A oy K20 e § 20,0 0 pos S8 piew (Z

b
X Ao, foo=Fo¥e Yo

Yoo

o sl 5l oy S0 s =

R
X Ao, Foo=YYOF Vs

Yoo

\S—Q o
M=Y_=;/; ©

Jﬂtj&éW ¥
el walizn lo,eiS 1o Jgl Soo 4 e Sas Cond Al L

e sl 5l oty Ko i =

A S o laSes axls =

az 2 09,0 4 ol i elo @398 Condg sl & wiloe cesony
Cnlpl el powlial anals 1 j0 sl e @5e5 il yin Comd o
A j5aS 3 alye anjy B jgas s asls g adls 4 ag b
L osd aales ol ol Glulidlasly Voees Sos ppw a4l (o
05— YIFO Jolno p0d S 20 pp—w 51 JL> (Yo+ V¥ =7VY)
vy YYxy
—=>X=
X Yo
G35 59 it by IS (sl 55 05 sl (L s e
B9 ydon YIFO 5l b Jgl oo apge el o
(AY 5 AF (slocaieo cpal5 21357 9 435 oyluaidl)

- Yo
L =l oelys amjei s (T—

=v/%0)

(liasgs 4ab) Yy
Jo &5 canl glas g ol (gl 08 80, glail 5l locas 65 o (G
Oles B (s e 5 39800 50455 0l 3 (Vob Lo e sl (5 e
S 1 ol 5l esls o ey
Lol Gl slacalles (o
ply slhel g oliloel @395 9 25 ()
FIESIEEEdq)
2928 JBls 55 092y Jlimil 5 Jis5 (¥
o] Cla 4 35l5 5 b i ploaw Sga 5 (goliw] Sllllae il o (F
Ol Soed sledl g ol 3lys! 5 plows eSS 9 DUlel Js8 (0
ool canlgs )0 g0 10 b yiie ooy CSlop (8
Lgiye e b (b ite (gl S 5 Colog agond didsg pols ploxl (¥
sz b g ol coge a5 ol S5 3L (ool ¢ Gae oS\ Lie (2
Al 093 oz b (o8 dilo s (S aboz ) (Boir b (i el
€aipal o o) 39 ol jlite &y 5 glie IS5
ol 3isl s3ame b 5 Jlo el oyl slanely alo 1 (o
13 ey el il 13 s sl (658 4l s (s 00 p0 85551 il
g gn Sy pb S 1h dgu g Aylopus
OS5 el plaml ol Goygm 50 )l wle s (sl &5 ()5 gl (2
ol g, 15551 51 (S5 as dnx o b« dolre dliin
> Sy glaalew i3l 5 4 g Cda &b 5l a5k G
An3 oo Gl bl dsal> o 1) (I8 Ao

(VO 9 VE VP 95450 sboaio (ul)i baidl)

(Olosgd wbl) VY
= oKws =) 3_?05.3 ‘Lzbo)_.a.,.'i ) o.\_>|5 oolo ).gog)i.c LESTY u?’b o
0,10 3929 olge 3 4 g ailSlas

(los 599 (sloadr «zdg) Jlo 98l 9 8390 5LaiF])

(0546 o/ 9:80) -y
5095 Lacdss sl s mlie oy ipte 5l olsen Sl i )b Jobo 5o
aelyd S 5o slalil 5 (S Oler slojstS i ) 5 0js,l
a Sl Jsl 0,8 oo DLl poys 5l cdgs s g0 4 cslacdss (6l
g, 3 losiie | (ogoe Sloss 5 LaVIS 51 50 slar <dgo
dabsy |y del,0nS 5 ael )0, o3l rn 6l b &8 pgd S o il o
31 Bas 93 ol el Sl 8 b Sdgs a5 mgmg aled il e D95

5l ol e WS o il Byi g had ol
(Il i g 50l 5 48591 505l

(a7 4 AP (sl 5] - ¥
(!
&y bwste
Cy byl & ol ; "
- R B .
oyl 2 S s UL 09,5
- . o] Ol b
S, | Wl l,525
s ) U ) (Yo 4
Pl d
(J_js_, Yooo
| s b a8 ¥Y
. pS s
N Fold A/¥ \$oo Sl dxnsg
Heas ¥4
O Sed Js
PR Aeld 5 S s
ARD Foo00
ol (Sl

S G eSgm y3=iS )0 &l s @Bl ades Yoo Jlo jo (o
el 009 YO YV dg0 logus ;0 5 Yo Ao, #YD

(A &8io o iy 9 <y oy oybaidl)

(lhosgé wbB) -1\
ot SBS piw — pylez S g = F 0o 0 (I
Y - ol Sad ppw =P 00 = p)lr S g = F as)e

\
f’}*‘“’&“’“w:; (Pl SB3 e + oty S8 vtens)
\
=F(?+‘\)=A WS

B SO g + pidd SBS s = V00 -
(o2 g piid SlaSad g 12 laSas olod g Egoo)
=Veo—(YHY+O+F+HA+HAHIVHIA) = Voo —FA=YD 0o o

f
R SBS g =? (i S23 )

f
:>; (i So0 pgw) + el S8 e = YO 2o )0

Yoxy

Y
= ? (o S0 1) = YO dio . = 4280 S o= =10 wop

f
= 1620 S2S e =?X\A=Y° KW




@physicsjeiroodi

\ il 33158 uobaiis!

N\ W3985 10 e it

e 58 ) Bl e ol el b Sy 555, g 15
Jlesl b (655 50 Sk 5 (S oz o 2al8 5 2o Slies b s)l>
Aty By 0l e (85 )L 3ol w5 wiile) (blucil Jgy sl
o S lk
Ssym am QNS sl oz azgi Lo 525 )0 3l ol o
SIS ogad Sl b oSyl 5 (o Sl 5 (a0 e oladl
00 piyle Elgs ol o i s T Bl 5 ol ialiél g cager 5
A olaild o e 3053 lacudled 5l soge (idw 5,138 L oS cul
0515 FE ol (ol ook gl 9 45 (silyo b sl i
i s 558 Ll I ITD 40y y5b omat 5 sl 0 ko ool
ey Grals slaidl coSIb g Co e jo 1) 055 pudtes jga> ¢ gl
Blo 353 o)y g oSl 0 Edgs Gnd g Sl anidS jo (2
OlaS e aizp 0Sl0 n O)los 4 pedas (g bl Lol 3l asT 0l e
P FTSU NS S OO S S P C N T  EW R RUV| DESE KV PR B
bly) S 8ilal g ate S (e (BB wagi | ()5 B3l 65 50
Oty O e Pl (pl degezee il cad | (el (golazdl
RGPt | ERUI E SR S
Gad an | o)les sleay e ol ool 5 JaigJoa Jilug 0925
sl oo Gl
ol Joos an Ol Bl (5 alsmgol cundy o L2565
Sglaie g_,’_‘,,..léi Sy
e 5o LSy ¢ sl oo et (ldl (5925 51 (015 4585
g5 Jelge 9
Szl Cess g Slell 4y gokato sla Lo b ciilaxws sl ygiS
(ool & s 5 1 555 (355 Sy

(I 5 1 1AV A0 A (sboari () <slal)

((Y) ! 09 g ke )

OlF e S 9) -\
).-_.Ll__.HjoHoL&)aglé]c&;jﬂsLm@}yTlgpnsjuwﬁp
(e g alasle ‘LS)L.)°

s 7 .
(AF 5 AV Ao sloaaso wilyy] §4,0 9 ulidnliaw (V) 5] @338 5 °sle)

OIF bl il o) o
Syl s G S Sl Slathae plez S o

53 gl iy 5 g prini

el iliale SLUS 51 09 @ 0350 iz €V Ay S

i asluale 3515 0 )15 €Y 458

el ailele SLLS 51 €S (1l ity Y A3

(M 5 Al (slotain uwli Lo () (5] @95 5 Pole)

(520 (pustn) -\YY

Slo iy Slal g col Glulp Sy gy o €Y% 8555 o

RO PRISE PR T

P glebaisjs oy pici

JBes Joo slob (gadae 4 (B lo VD &y 58

Sed) dsaler g Sl BB L 2w slagez L (s5luigende 1YY Ay S

(LS » ool

Feelple] (Slo b (o Sew @ 42838 Gl ye las plo P &8
(A 5 A (stoaninr «uuliis ki (F) (23] 055 5 Pole)

(s e pud) -y
s ey S5 sl el 5l il 1 5 ()
ol G135 (5590 YIS (slap <oy (sl 3Y 551 0]

G sl an T ol 5 55 51 ey iy Y game w s (o
Lol oz goladdl slacy je

bl g Sgi jobaieay A (FaS olo G525 gl oides (o
WJI s Sl 4 (2 (RS b Bs-t b Sl
LS o 4] Bk 5 (oolatdl Sdlges gyl g chie sladi
oo sy sl o oS 5 ol satoles Lnia b Jyame 51 (2
Sy Zy o il oo (e VI 023 ol 5l FaLS B pms | 2o
o) 83gamma ;5 5 aFaplS by e Wb lacules (ol sl gaas 9,1

(119 6 19 o Jhodlepg 5Ll 1yLaidl) 3l pene

(s ) “1VA
4SS o ) (@Y Wk 55aS b adlate jo 3llae Sy e ol ulul
5k e 0 die il 568 bl plo b aslie )5 o sy dnpe
T S 2 g Auje g Sl €D [oiS Gl ST €O jaaS 0 pasS
Cage Jol bl (rlnbis cmnl €op 5528 5l 5S €l 5528 5o

S g5 @ Wb €l 58S g palS Wb €O (528 ((3lhas
(16 5 IF (stoario ol Sutid) ylaid])

(s pio | ) -4

¥ \
Tk T Tl sl 0 AL sl £ 08 5]

ol 03 wsle aales (Bl g9 sbanse plu ly Al onile (nl 505

eld &0
Yoo .
m (08 &Yl a5 503le) = V¥ log oyonkes
= 5,8 &Yl Lalls saile = OF legs ko
3,8 &Yl Lalls saile = 8,5 &Yl sl o - AL oLk
- o \e qo -
OF = aVlo walyo - (WYL .\Al)ox\—) = 0f= Yl sl s

= Yl salyo =0 oy (ygukes
Vo
= 25 Wl Sl =Fox = ol ke
a3 o golais! g Tl s 4y a5 5 8 BV Al sbe 5 =

)
Fxéf=\/\ olegs Haeleo

(1o @160 «clg) (Jb j90] 9 8597 SLaibl)

(o 1) -\Yo
alox 5l 155 pgyme 3l 1o (G Gl g el ) 4y gy (W
D550 leddy glarwg slacasl

S sl e wllwg pals gl cdgo a5 Slacwlow 4 (¢
Cds ol S o Jlasl ) g py98 (Jlasl aule goladl
§ o pdee DdwolisS (o 1) olaidl S slolis a5 04 oo araS € golaidl
s g0 dn golaidl o glocwlow IS jsbay aiS o polas
D50 e o slocenlon 5 (J5 glacanlw




@physicsjeiroodi

\ il 3 3198 ok \M 28056610 (39037 ietszulg\
(o ot -\ Ol <t ) -y
solaul Laslis dxlos g Olics dapyle,d 0 sho yac ;o ggias 5 Dy g0 oS (e 5 (55 83ly «F» &3S o
P53 glebaisj5 aypiri

S o1l & boles a8 s 6,67 51 ol gima g anliwlis 5 i o0

Sloas Al

(AP &8k ly) 0,0 (F) o5l @58 5 5ke)

(o ] Sy
S8 sloanlyl 5l a8 0gh oo il (2BLG 5 4LS P> A58 oy o
«T» 035 5 Jded s €T 4535 e Jolae gl €V» &35

A2 (G S ;3 8 )5 5 0l saal,T 5148 o ls (g pual

(A dado clii Lo (V) 5] @95 5 Pole)

(ot eots] Sy
Sl ST 5l g Jlhw (o oy il asle aele )b SlelS 5 )l
D9l 0 03 &Y o ¥ WP glaasy 55 0 a8 coul i S b

(M 5 Ml (sloaain quliis i (V) 25 @35 5 Pske)

(ot ] i
s aseid Job lad g all g alg 50,5 ol Cay ol o
3 glebaisjS oy pini
ol €50l puu? 9 € S 5» 5o lainl €8P VD A5 58
el €48 le g HISILY 5o Ll € gunds jo5 le po» T 458
ol Kz 5l o lainl € 5 «F» Ay S
(V9 daiw 0l (V) ()] 0¥ 5 Pole)

(ot ] -\Yo

iz 5l o )latul K S 9 — Al K Gis olo» - i « Jis piad

#Sy3 pslaisjS o pici

5 S8y ez od - Sl 5l o bl o Jlg e g gBLLY VD AT

(0,0 andeid Zam) Al 1la0s Oy lg ye

(D)l [arseld «am) 4l gy gl — o ol Kaiug» «¥» &y 5§

(0,0 andeis g il «Zam) i 3l o bl 1 WS 9> Ty A 58
(o @l AF) ool 05 5 5le)

) -\Y#
o bl 1 (G158 ool 195 0nS

oA 13, o5 bl

Olows] glovo i 51 oLl 2 SUs &, AT

o)l 1 93 15 pol> (g0

Sy psltaisjS o pici

e A €T S g «Sis [985» (g9, pmii] (goa > VD Ay 5S
Ak €D 5 €9 ) Kol 55 5l oLl

EICFARIVE NI g BPIESA R CRUR RVESRIQ o 2 FHt

I8 ol e b e il s S spaiits P A8
(6 el slaaslal)

(VE 0 VI sboariw 0l (V) 25l 0535 5 Poke)

(b ine y2) (b5 > &3S
(2900 (Sxe ;9) G gl VP 458
(Ol 5 05> (xe )3) oy PP Ay 38
(AD @b o polibs i () 5] @5 5 Pole)

(15 ) R
P53 glebaisj5 ay piri

EUSRR N P b X P APOVE S FESUER S FUOW EVK SN EIQ D o SRt 5

Gale las pae blul icdaie [ ais s )le 8 Y &S

Jlas yae b)lail 7> | g 3l 4> pan b jlail pgd gl pas 1 ol (TH dsy3F
(ol 0 s JlaS g 0l 4t gl LS S L Lo

(o7 Ol (V) o5l @95 5 Pole)

(214 (uutn) -\Y#
0Ll & g asid aid «aal) i g €08 g

3 sltraisjS ag pisi

75l as pae 5)leiul fudatus Y &3S

Sl ) A pan 8l O (g yo P &3S

SR PEEOS P I IENPIVIRVISE o 0 F0t 4

(V daio @l oF) 5] 55 5 Pole)

(180 aso8) -\YY
Aetrenis 5 poluas 43  perpciniai éialyT
el Gt (Bgiame i) (oS 5 S (e VY A5
RN IS A VI DS EVOW U PR UWRRIS § 2 SVt
ol JanBeld g ojlainl pads 0,5 oais P A58
(VF dsw @by (¥) 5] @99 9 Poke)

(s8] Lo pihe pamwr) -\YA
3 gltraisjS 2y pini

W (a3 95 ] A4S bl 93 50 i3l i 9 (905 el W &y S
ol Bgdas 5l d> pan blainl lg )y g €T A 5S
RGO Iy PV-EON PESSEV S PSS RUNIES ¢ 5 PRt

(VE 5 VI sloaasw (ly (F) (25 s 5 Pske)

(2l cpuaso) -1Yq
G vl 5 9meS | stents BN iy, (glite | et BLS1 5l 5

LI PN S FESEOS S FL o)
(77 sl AF) o] @5 5 Pole)

(5 ol cputa) v
Ol sloala; 5 Lo (s)labl tlas o Slol S iie pogae
095° 9 ot Sh g @SIs3 Gl 1V &35 Con pogie

(o’-*’j/ Popir (F) 15] @6 9 Pole)




@physicsjeiroodi

\ il 33190 obais! \M 956618 9037 &u@g\
(5 W pele) -\FF (otF oS -y
5 (Sl dy B an) col 5515 5 iy soe 4y 43S cpl 0 € LS9» (oo (3w o bl s s €y lg o> g S & ) Lor 45
Cdlo sy olay & 5 Cond (K3 L allsle laogly Jolis 438 ol b ohus g
3 glebaisj5 aypini

ol FSGa 3 aLndS

3 glebaisj5 oy pini

Slwsl s )ly abg, i a5l as cowl (55,8 slosly € uud» Yy &y 58
A o8

el ailale PMas! € gz gz ¥y &

Sl ;o el udome buled Gle o a8 ol 0 « S Py & 8
Slabbg pie

(FF 5 PV sloatin b L () 5] 0535 5 Psle)

GIE bbb lylwds,le) -\fo
Ll 51 g ool ool 3l I o pad 45 Canl oS e 55 pgd Cam
3,5 pas cnl sl ooty & () ( Sgede

P53 glebaisj5 oy pici

by oy o Slidole » ash ) 5

onbme Sloveal 4y (5 lgael «TY &iy58

Dgdign o3 Soy cnl 45 (U olSlr 4 az s Py &3S

(FO 5 FF sbario culiblow () 1)) @35 5 Psle)

(Ip bbb lylwds le) -\¥f7
95 )bl 9 4zsS (eereme (L) 40 &5 Casl (Slield 839 0oz
5o Lacaw an asl sl 5l gilald Slledlcuol a5 Jl> o £33 5g]
D08 568 Sis S8 )l S om0

P53 gl iy 5 g prini

G s S LS @838 Cds yy LS 5lg 0,0, LS V> &y 58
el (abgpine gl o (el 5Dl ol el Sle

Sle S Las cul s 10 (55,8 85l 51 Sognds iV &y 58
sl lgead (o2 0 1y J) (g3

ol Solw 5 «dllS )L 6P o= slaiboale F5lg 0,18 «¥» &4 55
el (om0 0 (8T yad 3 SIS Cppalld 3l s S Sl

(FF 5 PY (sboatin culib Lo () (5] @35 5 Pske)

(s pes waw) -\fY
(olad (dad ety —UU /== UU /== UU «r» &35 oy 55

(FV 9 PP (sloaasw o (uwgn (F) (5] @sid 5 Pole)

((sp08] (puut pon) -\fA
i3 gl i S g prini

o lelie i plelae 11> &3y55
okl Jeelas Ol Jorao 1Yy &y 58
Slad lelas (58 lelas «F» 4y 35

(F7 G PY sloarsw s (uwss (F) (5] @9 5 [°54#)

Sl 5l o ezl €3 «¥» &35/ 5oLl € Jad» VD A 58
dgr § P ad 3l ol i Sy € g €ad &L S b (P 458

(VE G V) sbaasw @l (V) 5] @ 5 Pole)

(ot D] -\YA
Sy el Baias g g Lo 5l olnl €l ys P 9 €yLgs e

el it d3LSN e
(o5 Ol {F) oyl @55 5 Poke)

(o o] -1
5= Jloz 5 o 58 S b o JB5 5 balad : Jlses 090 oy pogle
05 6 ks Loz b g Lo Joads ol Sl 85, s y0 &5 st
cils e 10 Wighs Jloz 5 (i 45 Sl () S pstite @ly 45 €and

)90 T 5 AL (nl S 50 pstde (n] 45 Cesl oad sy
(I Pspio (V) o) 08 5 5ke)

(L,{T uﬁﬁ -\¥fo
Ol bl 5 Lis 5l s pdyay thas yo Slal S e pogie

O iils i)l g molgr 4y dvogi VY AL 5S Con pogae
(7 Pogin () o) 05 5 Pole)

((Y‘) S g g poke )

(s 0 AP s pol s ,505) -VFy
o 5 009 @l CaTHL 8590 )3 45 39 (Slield alex 51 (8958
sl blhe S olels K0 g g dadl> Sw

(IF dasw «lyyl & (F) 0ol @sis 5 Pole)

(o ] -VEY
Sl sl el Sle G las g g €ouSiiloy sladlme -

OB Sl 1 e € Jedlil 5509 Aalisg, -

Shal wlazel Gl Cangs 15 < le» Aome -

(195 1A sloasio olyyl §,0 AF) 15l @3 5 Pole)

(Wes,9 @hie)) -\ fY
245 99 Sl Lol g Lokl (o938 B)le jia doye
g oolw (Byle .l (6550 Hlws S s:dy'galﬂ 5 e Sl

SR RISt
Sl 5 gal3T ol € 5 «V» &V slaan 5 bl genae
3598 g ool Gladl (poms jo cnl B)le Jlil palas jlas el

(IV &b clibs Lo () 5] @95 5 Poke)




@physicsjeiroodi

\ il 33158 uobaiis!

N\ W3985 10 e it

(214 (puta) -\of
3 glebaisj5 oy pici
Oilste gz igle g JbL €V dyy S
Ojle g iS5yl €YY &y 58
Silye g i Jbe 5 Jlo Py a8
(10 5 1oF sloaaio «(fid) @u A1) ) 09 5 Poke)

(2145 putia) -\ov
a,ls (s3leme g o3leie aomw pgd glras SLIS L ol gl pas SlelS don

el 03, sl 1) «a5lg0n &)1 el o a5
(1eA ko« J& iy 1) 25 @935 5 Pole)

(i 4t sga) -\OA
el Bl Glle Lo 1o 5 shlate Oyle cpl 13 9250 xorw
(1:0 a0 «(fi8) s ) (5] 58 5 [°ke)

(10 0s) -\04
el 5o 08 50 5l 5loe € ppl» 1iloe KEP o

45590 805 55Ty Cw ol 50 3lete Glagme Jl5 1a55lge oy Cog
ol

RNy W «d;;_;}isi» 9 €aBy P saomw Kl oy

D aily Sgan g € g« slaculs 1SS :s?.l)IG‘S HOP Cas

(7 s 5 Oly 1) (5] @35 5 Poke)

(214 utn) -\%o
Ol gz w0 b o e pod glrae LIS L 3l glpae LS (o2
Al 10,95 dislae 1)1 51 e A0 Can w0ads Cel wiyls

b aily Sgean g € Cwlo jo @UEB [ €gui» 9«5 )b slaosly )I,SG
el ool i ol 4y Sdg g 0gS Ay e/

(I c@um 9 Ol 1) o) G55 5 £ole)

((1")07;5 ol 4t )

(st L)) -\#\
Ll W 1) i o> /055 o Lo o liliodd W /1,8 )5 0 L5

Pl Gl S5 e (i (85 ) ey U
(V6w aas g (F) 152)

(o9 (B0 (57 p2) alal
failay po e (S (oal5idl £l =g Lae + Tod) K gelay Lol Tod»
laslasn 9nls (Lated pow (st J9) Klgoe i3 WP [liyg ls K paslgon
SzsS alopr Ko pho ol2b

Aetrnisj5 @y pii

Aol o) sidlany e (Al o) diwils oo D Ay 3E
(5, lac

(Blaslgs imoea) Lo )0 lgs (B moe) Lo «T» 4558
(olissyls mms) isles,s P 2ijs

(F dadw aas g (F) p2)

((F 14 p08) -\f4
Aavenis 5 poloss 43 asali ialyT

Glyel 8)5m loasT 51 (SO 5l cisu 4 0,1 o Lil ol €V » dy3E
«omally of g pladl lodlbh Eoum a0 Ll «Y» &35

ol ,8 g oy yuds liwls &y o Ll P & 58

(PF 6 V) sloasse «ssiza gu (F) ) 0 5 °54e)

(s 10 s08) -\
3 glebaisj5 aypini

el 0ol i Sloww 4 (3l A ls VY A5
231 eolial (55900 5 (&) el yml & pas liwls a0 )Lal ¥ &S
Al
Ayl das Slelye 89, 5,150 cglie 1 yudas Slel o Fr 4y 58
(ol @n 5 Ol ) ) @36 5 Pole)

( (1) S ogd g poke )

(508 (yaut patin) =100
Sl 0sd (Jgtan gl 22 )b plme 145 ad salyS (o0 S nl o yelo
el Seay, & Canl 05,5 o3litul 59 5,1 ol sl s v 2,3 1,

20 6 55k lgmma cnl L g
(VU IA sloaaio s Shuuga (1) (5] @5 5 °54e)

((sra8] (s patn) =-\oy

5 95— QLSoL €YY A58 0 i P9 5 SLSE LA A0 F o
wllle LS 5 )55, Liles €F 8135 15 5 (5 pusSane

(V8 G VP sloatio yab imwsn (1) 25 s 5 Pole)

(s x08] (puat pato) -1ov
Lain o o cwl culo + Culo + Ggan oy opl jo 486 B>
el €35 D0 g8 ol B8 By yo gl 00 436 aex )|

Ceolo 1

Culo 1 Sigean

(W 6 A (sloaaien s (gismoso 1) (5] 035 5 Pole)

(S8 waw) -\of
G e T Sl 2l L 9555 46 €5 2 L €500 55

3 eFe? | g b e 4B S0uSs L Kot § €SP oy i
ol 00 g0 AIET UED b 4y ALDIS

(AP 6 A (sloasir s (osmsa 1) (5] O35 5 ole)

(s bz ) -\ob
P glebaisj5 aypini

Joadld 03 L j3 50) Qe 039y 5 IS delys ez Le yo 5l )y &S
(N 0385

i 3L 358 Sl o0lid bl ol 35 5 Sl Py dnF
(c;w,al.‘;_;

cdae 3 u>_.;9)4) PSP URCUNINC I TYSWWIS B JRTS o 3 TP
(oS & can i

(MG A sloarsss yais Lawss (1) (5] @96 5 Psle)




@physicsjeiroodi

\ it 33193 ol \M 29056018 93T wm\
(5110 3200 Y4 (ot ] Y

920 1) 095 ;i 5 wsais | 955 sl e Jrilly Lol By €D
Syle st b alge O pre el oL S (oK Lo adl S s
DS el (6t et Ik e yme 5z UL 8 G s STOS
Calizgy ples 5 ol S asad 5,31 50 Lo g «Galizey il pliy

(V v «olas glgil () p¢)
(ptlos asa) -\ye
3 slebaisj5 ay pini
Curo € a? s 0250 (gl Wilgh god iz i Y ol VY A58
o

BERS LR JEAPRYRANN g FF-IE CRSURISTIRY I\ U RWE g ¥ UELS § g5 FORL
ool (4020) (5 55 3l 9 00d 3)ly b e aniS

oo BP0 250 « W Silgs gl iz (&5 Y el «FH A58
oW

(lo 5 3 sloaainwr « oy gloil (F) (p2)

(OoTsets s |

(o9 B0 (57 0) -\
5 S EZ ) LLadD [ i goles ke il gkl W
P oS ’«Lr;“’i» [ a5 laisS 4 :«G:_I;l{» [oS &8s :«éfaol» | %
i3 gl i S g prini

sl S yobs €y g S YD A 5E

el Syl &y g T A58

il ol €Gloy 0 )l 4 LSS 5, PP A F

(M7 o asp A1) 102)

(o9 B0 (57 0) -\YY
Syl o] Loa [ auy € Gl | £ 95 o) :«QLc;;JI Olde»
s> | ol g | a5 :«T:JZI» I A=l slaadss 51 (S wdd=Rll
Sz s il

Sy pslaisjS oy pici

el e jols €l jolo» «Y» 458

il ol «larean [ «layph ¥ & 58

il ol €asas jegiee ez o0 [ € lub «Fr a8

(91 daso o35 ) p)

(s ma0 yg2a) -\YY
3 glebaisj5 oy pici

5) Bl g hog Sy le yolo by (S95 pas p0 KL pas B
(F o) loay s

g 40 €Y A5 Ol o Lol ol pylas g (ole Jad «aiion
el 00l daz 5 Jggore
e
(o a0 ) ()

S50 € Y 3D | i o g > | aS K D ] L lis ) LS
el @zl 1) o] aze )y | oS i |l

i slvnis j5 s puini

il job «€o,l8 Lo 5 €S o g VD AT

Gl oedsl gl g € ol )dr KL K SoeS la,lid p T 4y 38
il o

Ooid daz 5 g € ola A «Ualad» g oo o2l iow «F» &y 58
il ol « YD

(ol aassi 1) (p2)

(o ] Y4
P glebaisj5 aypici

B3 50 5 (oo B9i) VD &35 50 (695 oo J) YD &S o
il ol (@5 ol b) «F»

(ol ansd (F) 22)

(ropsds @BU 7 p0) 150
OB el 4y 25 Sl e e e i lge Dyge ke Aoz
A58 o Ll eoylo ) conlin o ity an 33 nlo b pogie cpl €
potde 9 « Sz Sz lis 0 5 aalss oo mho imlo blie o«

g ges 28l s ol 5l ety

(4 dabeo agin (P) ()

(20 L0) -\s%
53 libaisjS agpii

ool ol €plen «Y> &

(O PRESN L9y W FOWIR R GV | PORPYL cIN 4 3 P

Jusdl s «U)';» EUSRVELIRLI- RSOV LI FR G RIVES 31 0 4 4,,/5
sl yaie 5 (2iS) il

(7 daéw «glpel Jan g (Fpo Jol7 (F) (1p2)

(9l jo (Ao pntrs ) il
I el G ol oS o adgi 1) 50 b LS a5 sl (g paie Ll
S o Jaiaor oSl €usS g0 0dg» Loy g

P glebaisj5 oy pici

Colem o alises glas! jlas sl coSome gae lgsinl €V 43S
Solite Jolug o] 5l a8 canl oloowds sl yaie 51 (S e TP &S
159 g0 a2l

Gilz o)y bl a8 el oy )0 sanie Glown ) coas P 4 S

log s
(Il daw Pgpén (V) (5102)
OIF U 2l ) -\FA

S JalS (sl o ol il Bgiie g 5l S (Ll o Jg) €S
D)0 54 pleal &8, 9 S8 Lo dlez slixs
(7 @asw «oVag glgil () (1pe)




@physicsjeiroodi

\ il 33190 obais! \M 8056010 39037 &u@g\
(o ] A Ol el espl ) At

Sy pslaisjS oy pici
5 Gl oaal a3 G caloz dalsl 1o g el lo 0 €y V> &5
ol oacal Jd T 5l aim (g2 g ol €Lady Ciisie D> (YD &y 38
Bl e arled alox
5 Sl 00al Jab G calon Aalol [0 g el loj 0B €O D i3S
Sl e duled alox

(0 dasw pelg 1) (p¢)

(ot ) -VAe
W8 5L Jgnbe dn g 0ad od JolS Jelb b T (sline a5 lad &y :asSS
S e (Ste Jub

i3 gl i S g prini
Jm2d 50 € it VY A58 50 (gl Jad €O SO VD A58 o
ROV PSS I FER IES 3RS 3 SR S PR O

(P G2 -\M
e 5 588 alle b eolail liom (59,65 Wi Jol ©)le
hezetnn; Gl 65 JSE g Ol

glaihie gloglm Gz glaly o Kl ps o ls

(oI o Ji5 42155 A1) tp2)

(W 5 9 sboanso .l LU (F) ulibanls)

(P &)7) ZVAY
@olazdl ylymn = Jol o )le
@olatdl lz ¢ pgo & )le
Lé g 88 il pgw )l
(V5 % o Jlps sl (V) ulidazaly)

(P G2 -\AY
g b oo solS Gud 4 GBAuS 3 as 0 5 G a8 (eolaidl ol o
Laasls )5 aoes )0 im0 Cawd 3115 095 (39,8 JIiL Baus oy
Wgdoe B O g Jelass

Sngi 395 a4 ) Sl (e 5 lalad (aio OMETL ¢yue L
|y 55 S 5 laon (s 3 Coreb e em 51 Ly Sl
0 P s ane 5 o] i Ay o5 e o ol

(W 5 % A (sboarsn . Jlgs (sl (F) ulibasals)

(st b b) -\AY
:ﬁw_l:lliﬁlll;:‘:zyuii'

ol 155 5 S5 gl 3 il o3l £, 55 5 5 g -
g So—rn  Byme Sl Ul i GBS o Gy g (swbiw (goLa

g o alls
iils ele slacusgase o5 ab el elKin wya b ime o)l pou -
BT 7508 5 oo Sloid e @ 0T (Sl ripen 5 0029
(A 5 9 (sloaaien «(Jlss sl (V) liazsls) e

Lo elo b g il o dlelin G Sl ol Jod €l
ol pasedgw JI pl e oS Seidbpe olaietils b imors dox 5
(7 s ) (1)

(a0 ygus) -\vb
P glebaisj5 aypici

5 =y 4 ol SaS o Sw; 4skx gole BT solgils V> 458
S (o0 (S5 (g
Olgie do ol foul S am Sl 0 Coubes ludl «Y» 458
LS o 15 il 15 51 S 4 siin S
Syl g G5 Caia gl fiuns jaal g o5 Anby (T Ay S
laisS (o0 pladl plawlasls (0,8
locl el p3Y S 0iS az @S ol 1) assle ez [31:¢F» & 58
oS ol 1, o Leoslgils
S5 I b B et Gl €V 255

(Posia 1) 2p2)

OIF AU 2l pl) -\v#
e Comle gl sley g 4y 9 (28 Oloe LS alBg )
P glebaisj5 aypici
gbes - SLbl - bl JpuoS Y A58
g o Slaae -y V> &y S
)3y = OIS e = Sne sl 08 PR Ly 58

(7Y i oo 1) (pe)

OIF AU 2l pl) -\vy
5 s G i ) o 0o ataadl 5 K a5
1o 53,8 DgSas 1 25T baasy 5 Ko

#5p3 ilernis j5 s priai
els o ) Ll aSST L casibe sos ylal jo ol 5l oS VD &5 58
el 5l 51 lasl (6,8 ,5 Yy & 58
ool (ol 5 7208 15 (S g (D55 (Shgels PP Ay 55

ol
e .
(o7 Copin (1) %)
(539 paibg@b U 3 10) -YVA

PRRTAREIR CRUAL S FUDY PR PR JUNTRTEE SR VI gRINE (L o 2 CPEL SRS
o Oyle ol oo A S )0) wes oo &S > alie oy

@lses slacgs o (midy ools IS > e 1) e di el O g0

(M3 0 &S >
P glebaisj5 oy pici

A5 oy WS (o0 S gl 4 Dlyie (3,595 (Sl S e3P Ay S

RSP e

ey Pl @ (7 5585 50 b Gl sl T sladsy VY Ay S

510 65 RS 1 688 o 4 Bald g lacle (S YD 4GS
(OF 5 FA F¥ 7 (slodabo Pogin 1) (15)




@physicsjeiroodi

\ il 33158 uobaiis!

N\ W3985 10 e it

(P ae 6jT) -\
o o sl oLl gla sl ol 5 T Ll 5 aslsd 4 (slasal>

o1y @0 e a8 S5le oo Sen SLuS sl LS ) gogro cloix]

s s
(VY ko cuygn 1) uliibazsty)
(Fm L) -\ay

5ol claiml cuga ST a5 das oo lis g, dKighy jo Olaass

g Sl 0,5 JSB dmala ool sla )] 5 wlie oozl
ol dsalzr 2l 350 5 55l eleiz] Bl Cugn b basg S 5 ol

(VA5 VA sloarssr ccugn () wlibarals)

(Fr 6)7) -\qy
2,8 Ui e Jol ol

Opebey g = ey o )le

Syre M g (Sl e po O jls

(A0 9 AV (sloaatw ccyge (1) wlidazals)

(8 ) -\q¥
SIS b ol Gl 5 anoly Fxo b bl (sl Called aegarne
ezl Jyu8 anels

ol ol b o8 sl nlisl (s i

jl,;kﬁémaﬁjQLQ‘Q)bébM&)KjLu e LIS STy

bl o jad

(V19 Ve SA sloaaiw .cuyge (1) wlidazals)
(8 L) -4
:ﬁwlaliﬁbbgﬂﬁ'

gl 1) 355 slagle)l § acaadly (elaizt oz S slael S1-
el B 5 Casp s sloiml Sl o] tiSs

5 etz gl L agloe )3 (sleial pler S Sl (S -
Sl e g 9590 s 4 siz Cugn T 5l Gl Iy el
205 (Sugh Y925 Jlad wed gle Jlis btz o 4

(U9 A sloaaiw cugp 1) wlidsazsls)

(o) he)) \ag
Az yn Sed o 9,0 38l 40 Sam s ol Alauly 4 a5 cul g, gLl
ol L caslie Jlacl g b S ol 3l ably st Sid b 5y gLl 5,08

i e ol yige 1, Kim b

(Vo5 9A (sloaasw «cuygp () ulidansls)

(a0 ) -AD
L s alyz Gili> (59l (sl O semos )8 (smlidansl
7S 9 (g b yaa 5l oslain]
e (08 Jol e 1005 (651 Sl e (it e
i 08 P39S Ao iy e 38 I 2

(V s Jlo sl (V) ulibeanls)

() RV
bl & sy 2ol dale)1 S jo 5 susall 5 L (2l S Jole

09 (§gud
(W dakw ((Jlgs sl (V) puliirenals)
() @) —\AY

ol Slee a8 09 sla ) eSiile slagaes Sox &)l
s o pd lo)siS sleceglia b ablie o, (056 slac,0d
Olse Ly poles ooz po s, )0 Al po n 3 5l (5Siile 05 o
Lo ,=5 50 5 Laculd, wal> o ol 5o 5l oS 51auS oo ol oyl S
Oler oml 59 9 g S8ls> £939 4 )5 lapaes 5 b Sus S
S eS|l 0y gl S 2SS i oVl S b
2 b b )l B85 ) (lodlh og dites ggedl 3 lidanslr
ale Gl 5l D95 cara g (225 e 0dy b (Jg ogiBle 093 g5
S Sz o MLl an S e 4 lge Cons 4 Sl
el g Sm 8 0 Sz gl olBans jloan oo C ) (gd el

ool (e 5 (2l (0l 8Ly s (SIS 50l 058 W0
(AP 5 A (sloaaio s oG F) uliaaat)

(i P01 RYVN
e 5 (8 5l )giS A S | 005 leatil 5 5 lexiul Aol 5o
slalan ) ;a8 atws 93 cul o €15 g Gy &5 Wppoe S5 @ SLS
o=l b shasls a5 T Kie ) slal 4 g 0iS el Sgase (golasil
Al Lol inia  olal i 505 36 sl 558 [Se

g (Sinh Sl

(AV i o ilpp s (V) ulial)

(Fm GT) -YA4
Sy Sz polai <= Jol o le
Sl Gz g8y pod &)l

(W 5 A (sloaass o jlga sl (F) wlidazels)

() [ el) -14.
25,5 0l ol g el wolatdl o sloojs> 1o cad Ay e, YeSs
S Bl ol 59555 5 Y58 dojo> cal 51 Sy o (panss ool
20 GLizes i pogad (S 83game ;3 18 Ol g Al (seges

wile

(9 5 U sboarin (s sl (F) ulibasls)







@physicsjeiroodi

\ it 33193 ol \M 19056610 9037 wm\
(15 a6 5,5 -Yey () o)) -4y

Koy o 1) onl o sty o g Jie 5,80 L aS 3l

s o0
(FV dabo cciblids g b pan eyl dbudd)
(6594 ) YoV

I8 i SE deg oS e clin el 5 i) slaailis I Sy
el L3 glaglos s laslis el o Lo Sllgs o8, o

(F7 a0k «cbliiy 5 cibpan o2y}l Lounls)

OIF el l2/9) -Yo¥f
«asglas Dlaw 5 DI g« 5k sla giwsloy « Jol dandd Jloo»
A o) g BB A Jaai SeS 4 s

(FA dadw «cdlids 5 b 20}l Luld)

(sp2lss o) -Yoi
=9l 5las azil Ul o e ! Olely (s> bauS Tl o
il oo 0 laglusl 4y wiles 57 28l 50

(0 dadw (cblids 9 5 a0 20U L)

(e)9p48 liw) ~Yof
BRI VA CPRPNE WO IEVICINE] 1% S { JOve] I SO g PR VN G ) JRW2, S
colios jo jlael glls 35 g 9 990D Jie g o Liel 5 ogdle ol

(07 5 00 (sloansw «(blids 5 i a0 o2y}l Luls)

(1wl 5 s5) -YoV
A b g el e e CSLD AT 5 )S 0SS i eslST 2
plle jo 1) &S 2 3529 09d oo (plulid (o Bl &5 > (92 459
Lo lr o Gk 51 S5 g 1005 9929 &5 > 09 ailine (iiely

2,18 80929 o 0 U Jlaiz| g oo pole

(OF &b «cbliiy 9 i pan (o2}l Lounls)

GIE ol 5s8) —YoA
5 JYaiul g 8l siandd g SlS a5 o e o Laodle ainls
el 000 g 55 Bl g D9l 3l el lgiwl Glaie

(07 5 00 (sloansw «(blids 5 i a0 o2y}l Lulé)

(87945 liw) -Yeq
5 e Ol e Ligyl o )99 30 6588 by 99 Gl
Lzl L b ws s cils ab el gl o gl g 2l S,z
Kol Jie g oz (5500 Jolo (280 ) S 395 ()%

REX) WT b)) ol

(O 860 «cidlily 9 A8 20 .rw),’Q QLbuids)

ol il ;K0 s 4 (Jes 51 Kam 3 JUil les (5 pdsanl>
0,8 1) 05 (S band g o b))l cloliiel (polas o lay (gl seloz]
2 S beed elaizl Gz ;0 S8 lhe (sl 5 08w e el
5 G 5 slaizl Gl po Gl L pad a5 0590l 1, O
Cdz 45 s 5318 olsan 0gh o Lil w)ls sage a5 AT
g Lasls a1 (i g Wgd b 395 sloizl Ol slaghy)l 9 wylie
4 ol y3l oyl oy eilo Ll oy T 51 el i (sl lojles
e o plosl Callee (glo,lid ) g asies oinl 055 ST g Goi>
il elatal S el omlin slaibs, o5 eloizl Gl o
JSete L odgisls 0,8 o0 8 it lonaml (Bme o il
d5ise s O slis 5 plso 5 9550 azrlse

(Vg Vo IA sottin g ) uliienals)

(st b b) -\43A
Dgdien yabie bl o elaizl slagle,l -
s 358l g paloz ans el 1 alie g JbL L 3> SO -
1y o] oy Sl Ko 45 el sslaza] o 51 oty o b 5p0l5 -
5585 0u0l Jas Al o g0

(OF 5 FA slodaior «elaia] @lg () ulisazals)

() hiel) -144
:ﬁlulaliﬁllézﬁpii'

)_Ja'j)'ld._fC,.JQT‘GcLo.:.?\QQ?gng sy b aslil 3 SH -
e b )l g wlie cELl (gl e Sl5l 99 (> 9 9 Jae -
(OF 5 01 00 sbanis elaial @lgs (1) uliibanels)

(s b)) =Yoo
gl gletboylfS aypini

Iy obg S 3 A5 i g (g mblul olie (Dol Ko 3 V> & 58

5 aSl bl ol jo a5 o Sim 8 Glbls )l o cwlul G «Y» 4555
el 1 (Soo%

rolis i3S 58 055 BB Sl sloiz] ez slael ST dns
OSSR SPYCIE cE Y PR | SR <PYE

(A0 AV sloaasw ccuyge (1) ulibazals)
Pyt

(6948 i) —Yo

SrR09,0 L L 5w (9,5 syl 93 50 Ll 50 03l 5 alidl>
3 A5 e Py 3l pogdle sl Jie 5y o Lol 2525 4 g0
€609, ol g 48 8 Jolb 55 055 55,0 slaaiily 5 g0 ol
SN 09y8 Geed Aol Ll j0 00l)l g alaSl> 898 4 (0 (o oS (o

Ll

(FA ddo «cblids 9 8 20 o0 L)




@physicsjeiroodi

\ il 33193 ol \M 25056018 09057 &u@g\
Ol awld 5los9) -Y\# (sp2ls bg) -Yhe
AbraisfS gy Aoy |y eooaie Yl ( lie Sa5 4y Sy 9 4,25 4 oy Ay
plesl alallin) covlond uSe N5 dzgo 4y (IS amge )D& 58 (Joo—d jo SC2) olasi 1) Glalins o s ollgs a4y yo0 95| (% \3)5T
(s Slatglis g )20 pade Ol o5 slallas wsle JBiles Ll

plesl alallio) coulond WSe (Si ddle a4 iz adls «Y» 458
(Sl

plesl alallie) coulond WSe Sy adle a4 iz adls «P» 458
(oS!

ool Sy a5 sl 00l uSe F3 dge 4y Sz dge KTY AL 5F
2, gladallis 4

(VW dsw o155 ol 5 hos &b o(5hin)

(895 liw) -Y\Y
«Jgoma? ol )5 denin 5,2 40 Jawg o> ¢ I8l WlB pgs IS (o
5® dadia 98 58 3 Loy w> (Sl b5 poms JSB 50 5 0,5 (00 )3

055 o0 )18 4l Kggogr oSl

(VV o o J1,55] Quld 5 fas duidd (3hin)

(6598 L) -YA
(Cwl atinn 0,8 S aS) g4-b50 B0las dod aased sblad o
Goolas dan ol dpaseds 4088 a5 €V A5 o cpl ol ol Llais a0
250 3 It (S5 g hIs (Kes oy 3Tl el JaiS 00 £9550

0d 395 Hlais je0 fodge Bi0las 3l (B aS was o lis Sim shlad

(A g Ao st o J135] (uld 5 o 4P (3hin)
(sp2lg by) -1
AetraisfS prlws pyiviryali  fod2

S5l e Cudle dediie 99 ;8 50 g ax VY 4G5S
iz ddls doddo g 2 «T» AL

Ceadle wld (1S j0 o)l e cdle oS s Jgemme PP A S

Byl ke
(AR 5 W sboarin o J1,55] (uld 5 Jas &uid (3hin)
(csll uusa) -YYo

155wl oo 35 o 10 Ly 4 45 &S se ey ol el g0 Loy
E—oge dodiia 93 58 ;0 Lag ax I8l (Wl g JSB )3 2L it
ASl ale Wlgh sl denie 5 1B 13 Egdge (puy tCwl

(W &8s o J1,38] (il 9 Aas &udd o(5hia)

311, oy LS Caalsh el o wilizes (gloylasl 25 5 39250
o (I iz Sl 52 0 (Cormo g Caxhad (3 S8) 90,0 ol
Slaglyr 9990 5549, JKOI L K00 5k (225 (b aleiadly a5 0o

D9 oy €028 GBI ol (e (sl indd S50

(OA d8sw cblidy 9 A8 a0 25 ouwds)

()/;/'umu[; )[b/é) -\
Ao el S wiil 3ol wleaie ST s lies JYaxul o
ol ozl diion azel &Bly 1o il Golo

(P9 6 PF (sloaass (JY gl U Uil (5hin)

(Gl awl 5 y3) -Y\Y

Bomo CoblB g ums o j> Sz )50 40 AT el Lixe U slabos canad

.o)b \_JJS 9
(09 dadus (J1 5] (wlid 5 Aus &uid ((3hin)
(659048 liw) =YYy

So dS o)l o 0l 6,50 CdS w@lad S o (adls dhl, o
Oygmo &aB L« 438 4 a8 aes o ami |) (6,500 oo il

a8 )T oo Sl & 50 8028 LIS by 0l (28L5 Al Jlges

€ Oy o lgedils ey A A8 A jo _xi-l‘sn Cowddy

KYPIREAPE
(9V &b o 1,5 Quld 5 Aas b (3hia)
(IE b 5l 45) -Y\¥

93_74_34?53lgsoy_xmlpépjub\‘mlgslfub‘!mé@é;l
s;’)’4':*‘5‘-"‘55&5ML4J‘J‘))‘>G'J‘3“)5*’4‘0“‘5‘6“&5¢“‘5

(Ve 9 93 (sloatier (31351 Quld 5 o duitP o(3hin)

(sp2lgs bog) -Y\o

PG N i i e 22 GGl e

€l Al e

(M ®‘9J|$@(w’+ G & Gl

Cowl @l o pan»
ool 185 € @Bley Al ol Cassdy 4038 90

(VP 59 IA IV (sboarsn o« j1335] (uld o hos &udd (Ghis)




@physicsjeiroodi

\ (il 323139 (olaist \M ,se,e-nm»ﬁwm\
(/e upl plrasn) SALd ..
o

ool e il (6 S ol S 31 o8l 200 50 ppenal (glolid
@bl 5 e 5 odzmy SLos S a0 molee sloagts,
285 058 &8 el S 6 xS el slo S0l 5l S 5y slacaBee
by ye 2al )5 slaJooly Sl 5 o)l )95 o gl b (6 S e

Lol s Jo 4

s o s . i
(10F 5 IMA sboaasw «spluants (F) & culisels,)

((Fide luga) -YyYy
sl ansls 18U slaasly wlg co (9,5 Jos gwlus! (658 ool jo
WSl (S preal SLu ) Wilg¥ ced 09 ;35595 Joas colulusl
#Sy3 pslaisjS o pici

OL%as 5l S S8 loay 0,8 diisly (658 prenal S jo VD A4S
A5 oo el il oS58

zdean a5 W0l cpl ol ol oS rreal S [0 «YH An 58
JSie g ams g0 cawd 1) loj cdon (0 106h o S )0 395 4y 395
aloe b g SLSL O jpoas 03 L8ilSS (6,8 preal S jo (T A58
55 (o0 e Ao (9 9

. z . e ”
(IFY G 1PV (sloassw S runld (F) J& o ulidsly,)

(o ] -YYA
S (655 preal S — aiSBl o8 4y 1 59l IS
sihais (6 S renal S € (6,5 ol [0 D jgidn

(FV 5 IFY (stoaatw (s plfesnats () f&5 puliticls,)

(b o ylutigsa) -vra
OSbe oo (OIS Laled hie Slulus! 5l oy a5 JLss oy
Slled (50,55 J S S oo 95 1) (e

(10 5 1P (stocaio (s plfesnats () f&5 pulitil))

(o (el ] anta) -YYe
Az winF ol (SO cogdlae Clsil 9o am 95-5 jgumme 93 5 2
il ol o 0,8 (o cpl )0 058 oo puanal | am  Sialeal
00,5 0,45 T390 ;0 g Llie 00,5 Ol a5 )] 5,50 50 230 590

Y| PO P PO

P P 1 . i
(V1 &8s «isf0 9 & juli) o lidsly,)

(s 112) -¥Y)

28, o (2550l Jelge 4 dz g Gline 4y @dly p3 13, Cle g9z g

Ll

19+ dadwo s pll 5 01400 ulitils,)
(e lugs) -YYY

D100 gan 39> (555 b BT 5 18 anl o 5115008 (e Bon
3 gltraisjS ag pisi

ot seslign ol o I Lle sloysly (5,05 IS5 V> 355
3 oeitS s Eel Ao 5 LS og Jius 4 5ol aS asS dx g8
35 S ol

53, 59, 5l Cailews = L3S LIS g J S STyol sl Yy & 58
HL8) ploewil «— GBaa bl «Y» Ay 5§

(VY 5 IVF JFA 187 sloarso 46 5 6jal1 ulibbels,)

(sl (eupl pl ante) -Yyy
Lo calis 5 )b, 00,5050 <8, 4 el oS sl Jelge degarme @
poie 095 o ) s LS ol Bl a Syl o 68 e 5,55 e o0
Jeslge 51 oaal ‘4_1)5154 Clasa cdoad |y alius (pl g wijlad o
aie SO o gld jate SO glils 5,55 el Gl o (05

el o gl (Solel paie 5 owles

(VF 5 19109+ sloario (it 5 6julll o qulibsesls,)

(16e Luga) -Yv¥
Hlgl g (nlsd ol 90 G (25 b 33 &S (6 S el Cuage
€ 8y 5l wnsS lasl- ()5 (o)l bilas! | cl axlse
ol ol g5 cpl 5l (Blaas

i slvnis j5 s puini

olaal - olasl«V» 435

GRS = GRalyT T &y

ol - olosl «f» a8

. . e o s
(I0F 5 101 sboair «s et (V) J < pulisly,)

(ot ] -YYd

Fialan s salys b ing 2l sl b S 5 5 ST
@bl 5 JrS Shol seg ((SKaleals &jgo )5 1y il asls | p3¥
Y Gl 5 Ojlee s g el L3, 590 Ble a4 358 o Sl I

Seboe stiie LS Sl

(VW 5 V¥ sloarso il g ojulll o pulibels,)






